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| o | o | ey | B | | mra| v | mra | wne | ena | wne| one | ene| ere | ara | ere | ana | ene| ena
KR (BT =% (Bb%) | AMR(EIZ)3 | NUOOI — [ 41500 36200 1,500 | 36.700 | 36200 500 | 36,700 | 36.200 500 | 36.700 | 36.200
|_NU005 1.500 36.200 1,500 | 36,700 | 36.200 500 | 36.700 | 36.200 .500 | 36.700 | 36.200
009 1.500 36.200 1.500 | 36.700 | 36.200 .500 | 36.700 | 36.200 .500 .700 | 36.200
R (IRE) U002 1.500 28.400 1.500 | 36.700 | 28.400 .500 | 36.700 | 28.400 .500 | 36.700 | 28.400
|_NU004 .500 19.900 .500 | 36.700 | 19.900 .500 | 36.700 | 19.900 .500 .700 | 19.900
U008 500 36.200 500 | 36,700 | 36,200 500 | 36,700 | 36,200 500 | 36,700 | 36.200
HR(CPHE)=RE EEEREES 7 .100 61.000 100 | 61.100 | 61.000 .100 .100 | 61.000 .100 .100 | 61.000
uo7 70.100 60.600 70.100 | 61,100 | 60.600 70.100 | 61,100 | 60.600 70.100 | 61,100 | 60.600
RiES 7! 70.100 61.000 70.100 | 61.100 | 61.000 70.100 .100 | 61.000 70.100 .100 | 61.000
uo7 100 60.600 100 | 61.100 | 60.600 70.100 | 61,100 | 60.600 70.100 | 61,100 | 60.600
1ERE=548 (IBE) EERE |_NU0S .700 29.300 .700 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
U053 ,700 29.300 ,700 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
|_NU057 .700 29.300 .700 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
|_NUO061 ,700 29.300 ,700 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
|_NU063 700 29.300 .700 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
U065 ,700 29.300 ,700 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
B IE kS NU050 700 22.900 .700 22.900 33.700 | 29.400 | 22.900 33.700 | 29.400 | 22.900
| _NU052 ,700 22,900 ,700 22.900 33.700 | 29.400 | 22,900 33.700 | 29.400 | 22,900
|_NU054 .700 23.400 700 23.400 33.700 | 29.400 | 23.400 33.700 | 29.400 | 23.400
| _NU058 i ,700 29.300 ,700 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
|_NU060 .700 29.300 700 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
U062 ,700 29.300 ,700 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
HER(CAE)=2H B CHE) % 021 65.700 58.600 65.700 61.500 65.700 | 63.400 | 61.500 65.700 | 63.400 | 61.500
EGHE U022 65.700 56.700 65.700 56.700 56.700
KB (BT =RiE PG ES 083 57.800 | 49.700 57.800 9.700 9.700
HiEFH U086 800 | 5 | 48200 7.800 . | 48.200 | 48.200
M= (R IS 037 | 3EAT | 3BT 400 | 48.300 | 48.200 400 | 48, 8.200 8.200
3848 (GRE) % | NU036 | 3EAI | 3HAL 400 | 48,000 | 47,600 400 | 48,000 | 47.600 | —— [ 47.600
BEE (R A )| % B (A % |_NU043 500 41 44,200 | 43.100 100
U045 500 | 41 100
7 .500 | 41 .500
U049 500 | 43 500
ETIERES 500 41 500
U 500 | 41, 500
.500 | 41 .500
u 500 | 41
FELL=;h 48 (R ER) [ NUOt1 | 3HAT | 3HAT .900 | 40
g (R E | NU0To | 3BEr | o 900 40,
AR EE | BB % | NUD! 800 | 11 B
NU605 B B 200 | 13 | 13
NU607 B B 200 | 12 [ 13
NU609 B B .200 | 12 | 12
NUG17 B B 800 | 11 [
NU621 B B .800 | 11 | 11
NU625 B B 800 | 11 [
RiES NU600 B B .800 | 11 | 11
NU60S B B 800 | 11 [
NU610 B B .300 | 11 | 11
NU612 B B 300 | 11, | 11,
NU614 B B .800 | 11 | 12
NU622 B B 800 | 11 [12
NU626 B B .300 | 11 | 11
FRE-EE | #RGEE [Nussi | me | e 400 12. iz
NU557 B B 400 | 11 | 11
NU559 B B 400 | 11 [
NU563 B B 400 | 11 | 11
NU565 B B 400 | 10.: | _10.
NU567 B B 400 | 10 | 10
NUS571 B B 1400 | 1€ [ic
NU573 B B 400 | 10 | 10
B NU552 B B 400 | 11 [
NU556 B B 400 | 11 | 11
NU558 B B 400 | 1€ [ 10
NU560 B B 400 | 10 | 10
NU562 B B 400 | 1C [ 10
NU564 B B 400 | 11 | 11
NU566 B B 400 | 11 [
NU572 B B 400 | 11 KR 9
SRR =AXE bR GRED) % [ NU211 | 3HAT | 3EET .800 | 10 [ 10 10.500
AKESE NU212 | 3B&T | 3BT .800 | 10 | 10 10.300

JTA



MEEZIE(1/3/7 1 EEXR(12A3NBBES)

EFEAR 2019/10/01 ~

12731 |
B2 B T I ESM 7 (BT T

WS 547" A5 B 547 BB 47 5 (947

XA E8
h] h] F | mmen | mEes| men | @me
| s | s | s | BFE | ERE | EAH ) ERA
KB (BA7E)=3#8 (IBF) | KM (B8FE) & | _NUOOT — 1.500 36.200
|_NU005 1.500 32,300
009 1,500 36.600
R (IRER) & | _NU002 1.500 26.400
[_NU004 500 19.900
U008 .500 36.200
R (PE)=R1E RECRE) % 7 100 60.600
uo7 70.100 60.600
RER 7 70.100 60.600
uo7 70.100 60.600
1RE=54E () EEES |_NU05 33.700 28.900
U053 33.700 28,900
[ NU057 33.700 28,900
[ NU061 33.700 22,900
[ NU063 33.700 22,900
U065 33.700 22.900
#E (JRER) & [_NU050 33,700 22,900
[ NU052 33.700 22,900
[ NUO54 33.700 23.400
[ NU058 33.700 28,900
[ NU060 33.700 28,900
U062 33.700 28.900
RERORAE)=-E% o (FM) 021 65.700 56.700
EGHE U022 65,700 56,700
KIR (BE) =R1E Kl (RA7E) 3¢ 083 57.800 [ 49.700
AiES U086 7.800 [ 49.700
IMA=iEE (AR ER) IS 037 | 3EET | 3EHEL 400
ShiE (IRER) ¢ U036 | 3HAI | 3HAT ,400
AHE(PE) =448 ()| BEE (PE) R 3 .500
U045 ,500
7 500
U049 ,500
SRR (AR 3¢ .500
U ,500
500
U ,500
R LLi=3 48 (3R 8R) Rl 5 NUot1 | 3EAT [ 3EAm .900
ShiB (AR F | NU0I6 | 3HAI | 3EAT .900
SR (RER) =R1E PR (ERER) % | _NUGOI .300
NU605 B B 800
NU607 E E 800
NU609 B B 800
NU617 E E 300
NUG21 B B 300
NU625 E E 300
Tia% NU60O B B 300
NU608 E E 300
NU610 B B 300
NUG12 E E 300
NUG14 B B 300
NU622 E E 800
NU626 B B 300
SR (B =B PR (ERER) $& | NUSS51 = = .200
NUS57 B B 200
NUS59 E E 200
NU563 B B 200
NUS65 E E 100
NU567 B B 100
NUS71 B B 100
NU573 B B 100
R NUS52 E E 400
NUS56 B B 400
NU558 E E 100
NU560 B B 100
NUS62 E E 400
NU564 B B 400
NUS66 E E 400
NU572 B B 400
SRR =AXE bR GRED) % [ NU211 | 3HAT | 3EET .800
AKBFE NU212 | 3B&1 | 3881 .800 | 10,300




MFEEI511/3/7 EER(1A1~4BEES)

EFEAR :2019/10/01 ~
o o o o 11 1/2 1/3 1/4 |
- g [ AR R R S e et 7 (BB [T ot (AT T (R 7 (7 (o7 A7 (Rt [ (a7 AT C
| o | o | ey | B | | mra| v | mra | wne | ena | wne| one | ene| ere | ara | ere | ana | ene| ena
RIR (BAZE) =48 (IFR) | AW (B3ZE) % | NU0OT — | 41500 | 36,700 | 36.200 1,500 | 36.700 | 36200 500 | 36,700 | 36.200 500 | 36.700 | 36.200
|_NU005 1.500 19.900 1,500 | 36,700 | 31.000 500 | 36.700 | 31.000 .500 | 36.700 | 19.900
009 1.500 36.600 1.500 | 36.700 | 36.600 .500 | 36.700 | 36.600 .500 .700 | 28.900
R () 5 U002 1,500 26.400 1,500 | 36,700 | 36.600 /500 | 36.700 | 26.400 /500 | 36,700 | 36.600
|_NU004 .500 19.900 .500 | 36.700 | 36.200 et .500 | 36.700 | 22.400 .500 .700 | 36.200
U008 500 36.200 500 | 36,700 | 36,200 500 | 36,700 | 36,200 500 | 36,700 | 36.200
HR(CPHE)=RE EEEREES 7 .100 61.000 61.000 .100 .100 | 61.000 .100 .100 | 61.000
uo7 70.100 60.600 60.600 70.100 | 61,100 | 60.600 70.100 | 61,100 | 60.600
RiES 7! 70.100 61.000 61.000 70.100 .100 | 61.000 70.100 .100 | 61.000
uo7 100 60.600 60.600 70.100 | 61,100 | 60.600 70.100 | 61,100 | 60.600
1ERE=548 (IBE) EERE |_NU0S .700 29.300 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
U053 ,700 29.300 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
|_NU057 .700 29.300 29.300 33.700 | 29.400 | 29.300 33.700 | 29.400 | 29.300
|_NUO061 ,700 22,900 22,900 33.700 | 29.400 | 22.900 33.700 | 29.400 | 22.900
|_NU063 700 22.900 22.900 33.700 | 29.400 .900 33.700 | 29.400 | 22.900
U065 ,700 22,900 22,900 33.700 | 29.400 33.700 | 29.400 | 22,900
B IE kS NU050 700 22.900 29.300 33.700 | 29.400 33.700 | 29.400 | 29.300
| _NU052 ,700 22,900 29.300 33.700 | 29.400 | 24 33.700 | 29.400 | 29.300
|_NU054 .700 23.400 29.300 33.700 | 29.400 33.700 | 29.400 | 29.300
| _NU058 i ,700 29.300 29.300 i 33.700 | 29.400 33.700 | 29.400 | 29.300
|_NU060 .700 29.300 29.300 33.700 | 29.400 33.700 | 29.400 | 29.300
U062 ,700 29.300 29.300 33.700 | 29.400 33.700 | 29.400 | 29.300
HER(CAE)=2H B CHE) % 021 65.700 56.700 56.700 65.700 | 57.200 65.700 | 57.200 | 56.700
EGHE U022 65.700 | 61.500 56.700
KB (BT =RiE PG ES 083 57.800 9.700 9.700
HER U086 7.800 | 51 [ 49.700 [ 49.700
A= 8 (BRER) IS 037 | 3EAT | 3BT 400 | 48 7.100 7.600
iR (IRER) U036 | 3HAI | 3HAEM ,400 | 48 | 48.200 | 47.600
BEE (R A )| % B (A % |_NU043 500 41 500 0,500
U045 .500 | 41 .500 | 40.500
7 .500 | 41 .900 30.500
U049 .500 | 41 ,500 30.500
BT O] 500 | 41 [ 40.500 0,500
u 500 | 41 [ 40500 [ 40500
.500 | 41 .000 10.500
U .500 | 41 .000 | 40.500
FELL=;h 48 (R ER) [ NUOt1 | 3HAT | 3HAT .900 | 40 0.10
g (R E | NU0To | 3BEr | o 500 40. 070
AR EE | BB % | NUD! 300 11 B 600 | —
NU605 B B 800 | 12 | 12 .00
NU607 B B 800 | 12 [12 40
NU609 B B .800 | 11 | 11 400
NUG17 B B 1300 | 11 [ 80
NU621 B B .300 | 11 | 11 0.80(
NU625 B B 1300 | 11 [ 80
FoE) NU600 B B 1300 | 11 KK 00
NU60S B B 1300 | 11 [ 00
NU610 B B .300 | 11 | 11 .00
NU612 B B 300 | 11, | 11! .00
NU614 B B .300 | 11 | 11 .20
NU622 B B 800 | 11 [ 20
NU626 B B .300 | 11 | 11 .00(
PRGBS | MBI [N | WB E 400 1. I 30
NU557 B B 1200 | 11 0.10¢
NU559 B B 200 | 11 0.10¢
NU563 B B 400 | 11 0.
NU565 H H 100 | 10,
NU567 B B 400 | 10
NUS571 B B 1400 | 1€
NU573 B B 400 | 10
B NU552 B B 400 | 11
NU556 B B 400 | 11
NU558 B B 400 | 1€
NU560 B B 100 | 10
NU562 B B 400 | 10
NU564 B B 400 | 11
NU566 B B 400 | 11
NU572 B B 400 | 11
SEE(BRB)=AKE ShB(FRER) S | NU211 | 3EAT | 3EAT 800 | 10
AKESE NU212 | 3B&T | 3BT .800 | 10

JTA



MFEEI511/3/7 5EER(1A5~6BEES)

EFEAR 2019/10/01 ~

o o o o 1/5 1/6 |
- g [ AR R S O e et 7 7 A7 oAt (A7 A7 T
AR T E T
KR (BT =348 (B8) | AME(BIT) % [ _NUOOI — [ 41500 36.200 35,500 | 35.100 | 34,600
|_NU005 1.500 31,000 35,500 | 35.100 | 19.900
009 1,500 28,900 35.500 | 35.100 | 28.900
B (ARER) & | _NU002 1,500 26,400 35,500 26,400
[_NU004 500 23.900 35,500 [ 19.900
U008 .500 36.200 35.500 | 34.600
HR(CRE)=RA1E HRCRE) % 7 100 61,000 58.700 | 57.800
Uo7 70.100 60.600 58,700 | 57.800
E3EE 7 70.100 61,000 58.700 [ 57.800
Uo7 70.100 60.600 58,700 | 57.800
TEE=FE () fEm%E | _NU05 33.700 29.300 28,600 [ 27.700
U053 33.700 29.300 28.600 | 27.700
[ NU057 33.700 29.300 28,600 [ 27.700
|_NUO061 33.700 22.900 28.600 | 21.200
[ NU063 33.700 22,900 28,600 [ 21.200
U065 33.700 22.900 28.600 | 21.200
R REN % |_NUOS0 33.700 23.400 28,600 [ 21.200
| _NU052 33.700 23.400 28.600 | 21.200
[ NUO54 33.700 23.900 28,600 22.200
| _NU058 33.700 29.300 28.600 | 27.700
[ NU060 33.700 29.300 28,600 [ 27.700
U062 33.700 29.300 28.600 ¥ | 27.700
R (PAE)-ES R CHE) % 021 65.700 56.700 900 | 54.600 | 54.100
EHE U022 65.700 56.700 .900 [ 54.100
KR (BE) =R 18 Kl (RA7E) 3¢ 083 57.800 [ 49.700 400 [ 47.500
HiE% U086 7.800 | 48.200 400 | 45.900
N3 RE (AR ER) INEASE 037 | 3E&1 | 3A#1 400 [ 47.600 39,000 [ 31.700
ShiB (IRER) % U036 | 3AHT | 38AT [ 7 400 | 47.600 39,000 | 31.700
AHE (P =R (8| 2EE (PI R 3 500 [ 40500 39.600 [ 38.700
U045 500 [ 40500 39.600 38,700
7 500 29.600 39.600 25.100
U049 .500 | 29.600 39.600 25,000
ErIEIES 500 [36.600 39.600 27400
u 500 [ 40.500 39.600 38,700
500 [ 40500 39.600 38.700
u 500 [ 40500 39.600 38,700
FELL=;h 48 (R ER) [ NUOt1 | 3HAT | 3HAT .900 | 40.100 29,300
o (ARE % | NUOT6 | 3HAl | 3AEN 900 [ 40700 29300
HE (B =RE el (E R [ _NU6OT 300 [9.000 10.900
NU605 B B 800 [ 11.600 [ 11.400
NU607 E E 800 [ 10.900 100
NU609 E E 800 [ 10900 100
NU617 E E 300 [ 10.600 000 | ——
NU621 E E 300 [ 10.600 000
NU625 E E 300 [ 10.600 000
FoE) NU600 E E 300 [ 11.000 900
NU608 E E 300 [ 11.000 .000
NU610 E E 300 | 11.600 | 11.000 000
NUG12 E E 300 [ 11.000 .000
NU614 E E 300 [ 11200 100
NU622 E E 800 [ 11.200 100
NU626 E E 300 [ 11.000 000
SR (B =B PR (ERER) $& | NUSS51 B B .400 | 11.400 | 10.300 | 9.100
NU557 E E 400 [8.400 400
NUS59 E E 400 [_8.400 400
NU563 E E 400 [8.400 400
NUS65 E E .400 | 8.100 | 8.000 000
NU567 E E 400 [8.000 000
NUS71 E E 400 [_8.000 000
NU573 E E 400 [8.000 000
EER NUS52 E E 400 10.600 400
NU556 E E 4,200 10.100 400
NU558 E E 100 9.400 000
NU560 E E 100 9.400 000
NUS62 E E 200 [ 9.700 000
NU564 E E 200 [ 10.000 400
NUS66 E E .200 | 10.100 | 10,000 400
NU572 = = 200 | 10.100 | 10.000 [8.400
HHGRE-AKE | hMGREN%E | NU211 | 3EE1 | 38T 0.800 | 10.300 | 10.100 7.800
AKBFE NU212 | 3B81 | 3EE 0.800 | 10,300 | 10.100 7800 | -——




TH{EEI511/3/7)BER(1AT~9BBRS)

EEEAA :2019/10/01 ~

TS
= FEITA - HEIB FEIIC @70
R P FEE] F8 T WEEH F8
Pt il o | R | 51 il mam | ERH nEis el AR | TAE il

KT (BIEE) =80 (BD) | R () 36 100 [ 10% SEH | 33300 15%
100 [ 0w 367 | 19900 49%
100 [ 10% SEHT | 23600 | 40%
AR 700 10w SEET | 22,600 ] 424
100 108 SEET | 19900 49%
100108 SERT | 33,300 5%
W (B BB WRGAE R 3% 300 1a% SEE] | 42300 37%
3% 300 | 144 SEHT | 42300 [ 37%
134 300 1a% SEE] | 42300 37%
3% 300 | 14% SEHT | 42300 [ 37%
EET ) 200 10% SEE] | 25800 18%
200 | 10% SEHT | 25800 8%
200 10% 3EE] | 25800 18%
200 | 10% SEAT | 20400 | 35%
200 10% SEET | 20400 | 35%
200 | 10% SEAT | 20400 | 35%

EIE TS 200 | 10% 3HAL 400 | 35% | A:20,900

200 | 10% IEAT | 20400 | 354 |A:20900
200 10% SEET | 21400 | 32%
200 | 10% 3ERH 700 [ 12%
200 10% 3EE] | 25800 18%
200 | 10% SEHT | 25800 8%
[EEEETS 3% 600 [ 4% SEET | 41900 | 34%
134 4600 |_12% SEAT | 41,900 | 34%
2% 8000 | 13% SEE] | 39400 | 29%
24 [ 28000 134 SEHT | 39400 20%
i6% BAT | 34600 | 5% 7EH [ 31700 32%
ol BB 6% SEHT | 04800 25% TER | 31700 [ 324
BEE(PEH)R 10% BiH 200 3HAL 5,300 | 20%
10 200 SEAT | 35300 20%
10% 200 SEET | 25000 43%
10 200 SEAT | 25000 43%
ECIE TS 10% 200 3HAL 5,100 | _43%
10 200 SEAT | 35300 20%
10% 200 SEET | 35300 | 20%
10 [39.200 | SEAT | 35300 20%
el L= 88 R ) G [ i ) BAT | 31600 | 19% TEH | 29300 25%
EETERAE] 1% SEHT | 31600 19% TE | 20300 25%
ETHE EX I TorY 50% BB | 11100 | 58% SEET | 10600 ] 605
6% 100 | 54% SERT | 9.100 | 65%
464 100 [ 5% SEET | 9.100 | 65%
6% 100 |54 SERT | 9100 | 65%
504 100 | 58% SEET | 10600 | 60%

504 100 |58% SEHT | 9000 | 664 [K8800

504 100 | 58% 3EET | 9000 | 66 [K8.100
504 100 | 584 SEHT | 8600 | 67%
504 100 | 58% SEET | 8700 | 67%
504 100 |58% SEHT | 8800 | 67%
504 100 | 58% 3EET | 8800 | 67%
504 100 | 584 SEW | 9,100 | 65%
6% 200 5a% 3EE] | 11400 | 57%
504 100 | 58% SEWT | 9.100 | 65%
RO -BE TR R a2 300 | 494 3EE] | 8900 | 56%
2% 700 | 6525 SEWT | 8600 | 57%
a7 700 | 524 3EE] | 8600 | 57%
2% 700 | 625 SEW | 8600 | 57%
454 100 | 55% 3EET | 8000 | 60%
5% 100 | 654 SEHT | 8000 | 60%
454 100 | 55% 3EET | 8000 | 60%
5% 100 | 65% SEWT | 8000 | 60%
BER a2 100 | 50% 3EET | 9.100 | 55%
£ 200|494 SEW | 8600 | 57%
454 100 | 55% 3EET | 8000 | 60%
5% 100 | 564 SEHT | 8000 | 60%
a2 400 | 534 3EE] | 8300 | 59%
2% 700 | 6525 SEWT | 8600 | 57%
a7 700 | 524 3EE] | 8600 | 57%
a2 [9.700 [ 524 SEW | 8600 | 57%
“RORE, | _mmCBEIE | NU2i1 | 3EE | 8500 | 31% 3EET | 8000 | 35% TEE | 7800 | a7%
k&% | NU2i2 | oEW | 8500 | di% SEHT | 8000 | 35% 7AW | 7800 | 37%




THEEI511/3/7 BER(1A14~208 8RS

MEEEA . 2019/10/01 ~
71520
=R FEITA FEHIE HEHIC FES7D
R P FEE] P w5 F8
Pt il o | R | 51 il ERE ) wsiw el AR | TAE il
KR (BT =588 (BOiR) | AR () 5 100 [ 0% 5300 |_i5%
100 | 10% 900 |_49%
100 [ 10% 3600 |_40% [ %26.700
TIETIEY 100 | 104 600 | 424
100 [ 10% 900 |_a9%
100|108 3300 | 154
W (B BB WRGAE R 3% 300 [ 145 300 37%
3% 300 | 144 300 |_a7%
134 300 [ 145 300 37%
3% 300 | 14% 300 |_a7%
B4 (%) 200 | 10% 5600 | 18%
200 10% 5600 | 184
200 [ 10% 5600 | 18%
200 10% 400 |_35% |2 21,200
200 [ 10% 400 | 354 [+ 5:21.200
200 10% 400 | 24,000, £ 621,200
EIE TS 200 | 10% ).400 | 20,900, & T H:21,200
200 10% 400 | 20900, 21,900, & B:22.400
200 [ 10% 400 21,900 22,400, H:23.400
200 10%
200 [ 10%
200 10%
[EEEETS 3% 600 [ 145
3% 4,600 | 144
2% 8000 | 13%
12 [48.000 [ 134 400
i6% 3EE] | 34800 | 25% [T E35900 700 | _az% [FE32700
ErEE] 6% SERT | 04800 | 254 |H:35900 L700 |_az% | B:32.700
BEE(PEH)R 10% BiH 200 5,300 | 20%
0% 200 5300|204
10% 200 5100 |_a3n | %5600
o 200 5000 |43 | 36,300
ECIE TS 10% 200 5,100 | _43% | X:25,600
104 200 5300 |
10% 200 5300 |
0% [ 30.200 | .30 |
=354k (B ER) [ N B 14% 3HB] | 31,600 1,300 | 32,500
R GREL & 1% SEHT | 31,600 300 | [B:32.500
ECE EIE TS 50% BiH 100 ).600 | | A B:10,900, %:9.100, £:9,800
6% 100 100 9,800
464 100 100 00
464 100 100 | 655 | +:9,800
504 100 600 | 604 |2 H:10900
504 100 000 | 664 | k:E:8.800
504 100 000 | 664 [ k8700, FBB00
504 100 600 | 675 | B8,
504 100 000 | 66 [ KAB.700
504 100 000 | 664 | skoA:8.800
504 100 000 | 664 | kA:8.800
504 100 100 | 65%
6% 200 400 | 57 [AEEI1700
504 100 | 58% 100 | 65%
EEE IR EC TR 42% 500 | 48% | J7KA:10,300 5,100 | 55% | XIKA:8900
7S 700 | 625 600 [ 57%
a7 700 | 524 600 | 57%
£ 700 | 625 600 [ 57%
454 100 | 55% 000 | 60%
5% 100 | 654 ,000 | 60%
454 100 | 55% 000 | 60%
5% 100 | 554 000 | 60%
BER a2 300 | _49% [ JORA10.100 400 | 53y [JOKAD.100
£ 200|494 600 | 575
454 100 | 55% 000 | 60%
5% 100 | 564 000 | 60%
a2 400 | 534 300 | 59%
7 700 | 6525 600 | 57%
a7 700 | 524 600 | 57%
E7) [9.700 [ 524 600 | 575
“RkE NU211 | 3EHET | 8500 | 3i% 3EET | 8000 | 35% 800 | 37 [STE7900
k&% | NU2i2 | oEW | 8500 | di% SEHT | 8000 | 35% 800 | 37 | &+ E:7.900




THEEI511/3/7 5 BER(1A21~31 BRRS)

EEEAA :2019/10/01 ~

7213
=R FEITA - FEHIE - HEHIC FES7D
R P FEE] P WEEH F8
Pt il o | R | 51 il ERE ) wsiw el AR | TAE il
KR (BT =588 (BOiR) | AR () 5 100 [ io% 5300 |_i5%
100 108 900 |_49%
100 [ 10% 3600 |_40% [ %26.700
TIETIEY 100 | 10% 600 | 424
100 108 900 |_a9%
100|108 3300 | 154
W (B BB WRGAE R 3% 300 [ 145 300 37%
3% 300 | 144 300 |_a7%
134 300 [ 145 300 37%
3% 300 | 14% 300 |_a7%
B4 (%) 200 10% 5600 | 18%
200 10% 5600 | 184
200 10% 5600 | 18%
200 10% 400 |_35% |2 21,200
200 10% 400 | 354 [+ 5:21.200
200 10% 400 | 24,000, £ 621,200
EIE TS 200 | 10% ).400 | 20,900, & T H:21,200
200 10% 400 | 20900, 21,900, & B:22.400
200 10% 400 21,900 22,400, H:23.400
200 10%
200 10%
200 10%
[EEEETS 3% 600 [ 145
3% 4,600 | 144
2% 8000 | 13%
2% [48.000 [ 134
i6% 3EE] | 34800 | 25% [T E35900 700 | _az% [FE32700
o (B & 6% SERT | 04800 | 254 |H:35900 L700 |_az% | B:32.700
BEE(PEH)R 10% BiH 200 5,300 | 20%
0% 200 5300|204
10% 200 5100 |_a3n | %5600
o 200 5000 | 434 | #:36.300
RO 0% .200 5100 |
104 200 5300 |
10% 200 5300 |
0% [ 30.200 | .30 |
=354k (B ER) [ N B 14% 3HB] | 31,600 1,300 |
RN % | NU0te | 388 | 4% SER | 31.600 .300 |
FROH ETIETSEY 50% BB | 11100 100
6% 100 | 54% 100
464 100 | 54% 100
464 100 |54 100
504 100 | 58% 600
504 100 |58% 000
504 1100 | 58% 000
504 100 | 584 600 | 675 ;
504 1100 | 58% 000 | 66 [ KAB.700
504 100 |58% 000 | 664 | skoA:8.800
504 1100 | 58% 000 | 664 | kA:8.800
504 100 | 584 100 | 65%
6% 200 | 544 400 | 57 [AEEI1700
504 100 | 58% 100 | 65%
EEE IR EC TR 42% 500 | 48% | J7KA:10,300 5,100 | 55% | XIKA:8900
7S 700 | 625 600 [ 57%
a7 700 | 524 600 | 57%
£ 700 | 625 600 [ 57%
454 100 | 55% 000 | 60%
5% 100 | 654 ,000 | 60%
454 100 | 55% 000 | 60%
5% 100 | 554 000 | 60%
BER a2 300 | _49% [ JORA10.100 400 | 53y [JOKAD.100
£ 200|494 600 | 575
454 100 | 55% 000 | 60%
5% 100 | 564 000 | 60%
a2 400 | 534 300 | 59%
7 700 | 6525 600 | 57%
a7 700 | 524 600 | 57%
E7) [9.700 [ 524 600 | 575
“RORE, | _mmCBEIE | NU2i1 | 3EE | 8500 | 31% 3EET | 8000 | 35% 800 | 37 [STE7900
k&% | NU2i2 | oEW | 8500 | di% SEHT | 8000 | 35% 800 | 37 | &+ E:7.900




TH{EEI511/3/7 ) BER 2A1~3BERS)

EEEAA :2019/10/01 ~

773
=R TEHIA - FEHIE HEHIC FES7D
R P FEE] E: F8
bt % | ERE | noie % wE nE | ERE %
KR (BT =588 (BOiR) | AR () 5 100 | 10%
100 108
100 [ 10%
TIETIEY 100 10w
100 108
100|108
W () B8 [E3EES K .300 | 14%
3% 300 | 144
13 300 | 144
3% 300 | 14%
B ) 200 104
200 10%
200 10%
200 10%
200 10%
200 10%
RO 200 104
200 10%
200104 22,400, 5.23.400
200 10% 00| 12
200 10% 800 18%
200 10% 800 | 18%
TR R -EE i3 1600 [ 14% 900 | 344
3% 4,600 | 144 300 | 344
2% 8,000 | 134 400 | 294
2% [48.000 [ 134 400 | 294
6% JEAT | 35900 | 23% |B:34800 700 | 30% | 7131700
o (B & 6% SERT | 04800 | 254 |H:35900 700 |_az% [B:32.700
BEE ()% 104 BB | 39200 300 |
104 200 5300 |
0% 200 5100 |
104 200 5000 |
RO 0% .200 5100 |
104 200 5300 |
0% 200 5300 |
104 [39.200 5300 |
6 1= AR iR L5 [ i i JEAT | 31600 | 9% |F:32600 1300 |
R GREL & 1% SEHT | 31600 | 19 |H:32600 300 |
ERIE (IR R 50% ] 100 | 58% 5,100 |
6% 100 | 54% 100
464 100 | 544 100
464 100 |54 100
50% 100 | 58% 900
504 100 |58% 000
50% 100 | 58% 000
504 100 | 584 600
50% 100 | 58% 000
504 100 |58% 000
50% 100 | 58% 000
50% 100 | 584 100
464 200 | 544 700 | 6% | 11400
50% 100 | 58% 100 | 65%
EEE IR (IR R 42% 500 | 48% 100 S5%
7S 700 | 625 600 | 574
a7 700 | 524 600 | 57%
£ 700 | 625 600 | 574
454 100 | 55% 000 | 60%
5% 100 | 654 ,000 | 60%
454 100 | 55% 000 | 60%
5% 100 | 554 000 | 60%
BER 424 300|494 400 | 53%
£ 200|494 600 | 575
454 100 | 55% 000 | 60%
5% 100 | 564 000 | 60%
a2 400 | 534 300 | 59%
7 700 | 6525 600 | 574
a7 700 | 524 600 | 57%
E7) [9.700 [ 524 600 | 574
=XKB | mECDE)E | NU2ii | dHE | 8500 | 3tk SER | 8000 | 5% /900 |36 | H:7800
k&% | NUzi2 | 0B | 8500 | 31% SEM | 8000 | 354 900 | 36% [5:7.600




THEEI511/3/7 5 BER(2A12~18ARRS)

MEEEA . 2019/10/01 ~
277218
=R FEITA FEHIE HEHIC FES7D
R P £ P w5 F8
Pt il o | R | 51 il ERE ) wsiw el AR | TAE il
KT (BIEE) =80 (BD) | R () 36 100 [ 0% 5300 |_i5%
100 | 10% 900 |_49%
100 [ 10% 3600 |_40% [ %26.700
TIETIEY 100 | 104 600 | 424
100 [ 10% 900 |_a9%
100|108 3300 | 154
W (B BB WRGAE R 3% 300 [ 145 300 37%
3% 300 | 144 300 |_a7%
134 300 [ 145 300 37%
3% 300 | 14% 300 |_a7%
[EEETIe ) 200 [ 10% 5600 | 18%
200 10% 5600 | 184
200 [ 10% 5600 | 18%
200 10% 400 |_35% |2 21,200
200 [ 10% 400 | 354 [+ 5:21.200
200 10% 400 | 24,000, £ 621,200
EIE TS 200 | 10% ).400 | 20,900, & T H:21,200
200 10% 400 | 20900, 21,900, & B:22.400
200 [ 10% 400 21,900 22,400, H:23.400
200 10%
200 [ 10%
200 10%
[EEEETS 3% 600 [ 145
3% 4,600 | 144
2% 8000 | 13%
2% [48.000 [ 134
i6% 3EE] | 34800 | 25% [T E35900 700 | _az% [FE32700
EEIET e 6% SERT | 04800 | 254 |H:35900 L700 |_az% | B:32.700
BEE(PEH)R 10% BiH 200 5,300 | 20%
0% 200 5300|204
10% 200 5100 |_a3n | %5600
o 200 5000 | 434 | #:36.300
RO 0% .200 5100 |
104 200 5300 |
10% 200 5300 |
0% [ 30.200 | .30 |
=354k (B ER) [ N B 14% 3HB] | 31,600 1,300 |
RN % | NU0te | 388 | 4% SER | 31.600 .300 |
FROH ETIETSEY 50% BB | 11100 100
6% 100 | 54% 100
464 100 | 54% 100
464 100 |54 100
504 100 | 58% 100
504 100 |58% 000 | 664 | KE:8800
504 1100 | 58% 000 | 664 [7K8.100, £6600
504 100 | 584 600 | 675 |18,
504 1100 | 58% 000 | 66 [ KAB.700
504 100 |58% 000 | 664 | skoA:8.800
504 1100 | 58% 000 | 664 | kA:8.800
504 100 | 584 100 | 65%
6% 100 | 544 100 |65
504 100 | 58% 100 | 65%
EEE IR EC TR 42% 500 | 48% | J7KA:10,300 5,100 | 55% | XIKA:8900
7S 700 | 625 600 [ 57%
a7 700 | 524 600 | 57%
£ 700 | 625 600 [ 57%
454 100 | 55% 000 | 60%
5% 100 | 654 ,000 | 60%
454 100 | 55% 000 | 60%
5% 100 | 554 000 | 60%
BER a2 300 | _49% [ JORA10.100 400 | 53y [JOKAD.100
£ 200|494 600 | 575
454 100 | 55% 000 | 60%
5% 100 | 564 000 | 60%
a2 400 | 534 300 | 59%
7 700 | 6525 600 | 57%
a7 700 | 524 600 | 57%
E7) [9.700 [ 524 600 | 575
“RkE NU211 | 3EHET | 8500 | 3i% 3EET | 8000 | 35% 800 | 37 [STE7900
k&% | NU2i2 | oEW | 8500 | di% SEHT | 8000 | 35% 800 | 37 | &+ E:7.900




THEEI511/3/7 5BER(2A19~29A KRS

MEEEA . 2019/10/01 ~
2T 202/2529
= FEITA HEIB FEIIC @70
R P £ P w5 F8
Pt il o | R | 51 il ERE ) wsiw el AR | TAE il
KT (BIEE) =80 (BD) | R () 36 100 [ 10% 300 | i5% | A:34600
100 | 10% 900 |_49%
100 [ 10% 3600 |_40% [ %26.700
EIE e 100 | 10% 2600 [_42%
100 [ 10% 900 |_a9%
100108 3300 | i5% | A:34600
FoR CHE) BB W CRE) R 13% 300 [ 14% 300 [ 37%
134 300 |18y 300 | 37%
134 300 [ 145 300 37%
134 300 |18 300 | 37%
[EEETIe ) 200 [ 10% 800 | 184
200 | 10% 5800 | 16%
200 [ 10% 5600 | 18%
200 | 10% 400 | 354
200 [ 10% 400 |_a5%
200 | 10% 400 | 354
EIE TS 200 | 10% 400 | 35%
200 | 10% 400 | 354 | £:20.900, 21,900, £:22.400
200 [ 10% 400 | 324 [ 221,900, £22.400
200 | 10% 700 [ 125 |
200 [ 10% 800 | 184 [A27.700
200 | 10% 800 | 18%
[EEEETS 3% 600 [ 145 500 | 3a%
134 4600 |_12% 900 |4
2% 8000 | 13% 400 [ 29%
2% [ 48000 | 13% 400 | 29%
i6% 3EE] | 34800 | 25% [£35000 700 | _az%
ol BB 6% SEHT | 04800 25% 700 | 324
BEE(PEH)R 10% BiH 200 5,300 | 20% | & 139,100
104 200 5300 | 20% [$+.39,100
10% 200 5100 | _a3% [ £:25,600
104 200 000 | a3y [$39.100
ECIE TS 10% 200 5,100 | _43%
10 200 5300 | 20% | A:38,700_ & E:39.100
10% 200 5300 | 208 _[2+:39.100
10 [39.200 | 5300 | 20% [$+:39,100
el L= 88 R ) G [ i ) 3EET | 31600 | 19 |£E:32600 300 |_25% [+ 32,500
il (BB 1% SEHT | 31600 19% 300 | 258 |
R o (BB R 504 BB [ 11100 [ 58y 100 FE10,900
6% 100 | 5a% [SF:12500 100 b 11,400, 11,700
464 100 [ 54% [ 212,200 100 11,400
6% 100 | 5a% [$F:1200 100 11.400
504 100 100 F 10,900
504 100 000 | 664 [7K8.800. %9900 9600
504 100 000 | 66 [K8.700. &+10600
504 100 600 | 675
504 100 700 [ 67%
504 100 800 | 7%
504 100 800 | 67%
504 100 100 | 65%
6% 100 100 |65
504 100 100 | 65%
FROR-BE o G R) 424 300 900 | 564
2% 700 600 [ 57%
a7 700 600 | 57%
2% 700 600 [ 57%
454 100 000 | 60%
5% 100 ,000 | 60%
454 100 000 | 60%
5% 100 000 | 60%
BER a2 .100 100 [ 55%
2% 200 600 | 575
454 100 000 | 60%
5% 100 000 | 60%
a2 400 300 | 59%
2% 700 600 | 57%
a7 700 600 | 57%
a2 [9.700 600 | 575
KB NU211 | 3EHET | 8500 | 3i% 3EET | 8000 | 35% 800 | 37%
kE# | NU2i2 | SEHI | 8500 | a1 SEHT | 8000 | 35% 800 | 7%




THEZIE11/3/7:BEXR (1 A10~13BEEN)

EFEAR 2019/10/01 ~

o o o o 1/10 1/11 1/12 1/13 |
517 A7 B ES 7 GBS - = - - - - - _ h - - _ h z - _
RS B4 % % o ¥ 547 ST I BT (AT I B4 B4 7 5547 (ST IS4 7 [ BT (5 547 (B4 7 (B4 7 |5 S7 15E417 (I T
| o | o | ey | B | | mra| v | mra | wne | ena | wne| one | ene| ere | ara | ere | ana | ene| ena
KR (BT =348 (B8) | AME(BIT) % [ _NUOOI T — [35500 | 35.100 | 33300 35500 | 35.100 | 33300 35,500 | 35.100 | 33.300 35,500 | 35.100 | 33.300
|_NU005 35,500 | 33.300 35,500 | 35.100 | 33.300 35,500 | 35.100 | 33.300 35,500 33.300
009 35,500 [ 33.300 35.500 | 35.100 | 26.100 35.500 | 35.100 | 23.600 35,500 26.700
B (ARER) & | _NU002 35,500 | 24.600 35,500 | 35.100 | 24.600 35,500 | 35.100 | 22,600 35,500 | 24.600
[_NU004 35,500 [ 33.300 35.500 | 35.100 | 33.300 35,500 19.900 35,500 300
U008 35500 [ 33.300 35,500 | 35.100 | 33.300 35500 100 | 33,300 35500 [ 33.300
R (PE)-RE R (AE) % 7 58,700 [ 54.600 58,700 | 58.300 | 57.800 58.700 600 58.700 600
Uo7 58.700 | 54.600 58.700 | 54.600 58,700 58,700 | 54.600
BER 7 58,700 [ 54.600 58,700 4.600 58.700 58.700 600
Uo7 58,700 | 57.100 58,700 | 57.100 58,700 58,700 | 57.800
TR (W) EmM% | _NU0S 28,600 25.800 28,600 25.800 28,600 28,600 25.800
U053 28,600 25.800 28,600 25,800 28,600 28.600 25,800
[ NU057 28,600 25.800 28,600 25.800 28,600 28,600 25.800
|_NUO061 28.600 24,000 28.600 24,000 28.600 28.600 | 24.000
[ NU063 28,600 24,000 28,600 24,000 28,600 28,600 000
U065 28,600 25.800 28,600 24,000 28.600 28.600 | 24.000
R REN % |_NUOS0 28,600 20.900 28,600 25.800 28,600 28,600 .600
| _NU052 28.600 20.400 28.600 24.500 28.600 28.600 25,800
[ NUO54 28,600 21.400 28,600 24,500 28,600 28,600 25.800
| _NU058 28,600 27.700 28.600 27.700 28.600 28.600 27.700
[ NU060 28,600 25.800 28,600 25.800 28,600 28,600 25.800
U062 28,600 25.800 28,600 25,800 28,600 28,600 | 2 25,800
R (PAE)-ES Em (B % 021 900 [41.900 900 41.900 .900 900 41.900
EHE U022 — .900 | 41.900 .900 41,900 .900 | 5 .900 | 54 41,900
KR (BE) =R 18 Kk () % 083 400 [39.400 400 | 48 39.400 400 400 39.400
RiEHE U086 ,400 | 39.400 ,400 39.400 ,400 ,400 39.400
M= () INEASE 037 | 3E&1 | 3A#1 000 [31.700 900 40500 .900 .900 40500
Sl (IRER) U036 | 3EAI | 3EAT [ 7 .000 [ 31.700 .900 40.500 .900 .900 41,500
ZEE (PE) =M R 2 &2 (FhEh) % 3 600 35.300 600 35.300 39.600 39.600 35.300
U045 600 35.300 600 35.300 39,600 39,600 35.300
7 600 25,600 600 30.300 39.600 39.600 30.300
U049 600 35.300 600 30.100 39.600 39.600 30.100
Ere s 600 25,600 600 30.300 39.600 39.600 30.300
u 600 35.300 600 35.300 39,600 39,600 35.300
600 35.300 600 35.300 39.600 39.600 35.300
u 600 35.300 600 35.300 39,600 39,600 | 3 35.300
FL=5548 (B2 [EIE S NUOTI | 3871 | 3EAT 700 29.300 5200 | 34 33.900 200 5.200 29.30
o (ARE % | NUOT6 | 3HAl | 3AEN 700 29.300 5200 29.300 200 5.200 33.90
A GRE-R1E g (FRE % |_NU60T — 600 10.900 4200 11.400 | —— 200 600 10.600 | _——-
NU605 B B 800 11.700 5,000 12.200 000 800 11.40
NU607 E E 800 9.100 .000 9.800 000 800 9.100
NU609 E E 800 9,100 000 9,800 000 800 9.100
NU617 E E 600 [ 10.900 200 [ 11.400 200 3.600 10900 | ——-
NU621 E E 600 000 200 800 200 3,600 80
NU625 E E 600 .000 200 800 200 600 801
FoE) NU600 E E 600 600 600 800 600 200 .60
NU608 E E 600 .000 600 800 600 200 000 | ——
NU610 E E 600 600 | 11 800 600 200 .00
NUG12 E E 600 .600 | 11.100 | 9.800 600 200 .00
NU614 E E 600 600 100 600 200 0
NU622 E E 800 800 1.700 800 5.000
NU626 E E 600 600 | 11 9.100 600 4200
ErE e PRI (IRER % |_NUS51 E E 1.700 400 [ 10.500 400 1.700 .
NU557 E E — [ 11700 400 [ 8600 | — 400 1,700 600 | ——
NUS59 E E 1.700 400 [_8.600 400 1.700 601
NU563 E E 1,700 400 [ 8600 400 1,700 .60
NUS65 E E 1.100 1,600 [_8.000 1.600 1.100 .00
NU567 E E 1.100 1,600 [ 8.000 1,600 1.100 00
NUS71 E E 1.100 1,600 [_8.000 1,600 100 .00
NU573 E E 1.100 1,600 [_8.000 1,600 100 .00
EER NUS52 E E 1.700 1.700 [9.400 1.700 400 10.500
NU556 E E 1,700 1,700 [ 8600 1,700 400 601
NU558 E E 1.100 1.100 [_8.000 1.100 600 .00
NU560 E E 1.100 1.100 [ 8.000 1.100 600 .00
NUS62 E E 1.700 1.700 [_8.300 1.700 400 .30
NU564 E E 1,700 1,700 [ 8600 1,700 400 .60
NUS66 E E 1.700 1.700 [_8.600 1.700 400 601
NU572 = = 1,700 1,700 [ 8600 1,700 400 .60
SEE(BRB)=AKE ShB(FRER) S | NU211 | 3EAT | 3EAT 8.500 8.600 | 8.400 8.600 8.500 7.90(
AKBFE NU212 | 3B81 | 3EE — [ 8500 | 81 7,900 8,500 900 | —— | 8500 | 8! 900 8600 | 8 8400 | —




M$EZI511/3/7 1 EER (2R4~THEES)

EFEAR 2019/10/01 ~

o o o o 2/4 2/5 2/6 2/7 |
- g | AR R R O e et (R 7 (BT [T oAt (T T (R 7 (7 (o7 A7 (Rt [ (537 A7 T
| o | o | ey | B | | mra| v | mra | wne | ena | wne| one | ene| ere | ara | ere | ana | ene| ena
RIR (BAZE) =48 (IFR) | AW (B3ZE) % | NU0OT — | 35500 35.100 | 33. 35500 | 35.100 | 33.300 35500 | 35.100 | 33.300 35,500 | 35.100 | 33,300
[ NU005 35,500 35,500 | 35,100 | 19,900 35,500 | 35.1 900 35,500 [ 19.900
009 35.500 35.500 | 35.100 .600 35.500 | 35. 35.500 7.700
R (IRER) & | _NU002 35.500 35,500 | 35,100 | 22.600 35,500 | 35.1 35,500 | 24.600
|_NU004 35.500 35.500 | 35.100 .900 35.500 | 35. 35.500 .900
([0[0}:] 35.500 35,500 | 35,100 | 33.300 35,500 | 35.1 35.500 | 33.300
HER(RE)=-AE R (FIH) 7 58.700 58.700 | 58.300 .300 58.700 | 58.: 58.700 .300
Uo7 58.700 58,700 | 58,300 | 42.300 58.700 58.700 | 42.300
RiES 7! 58.700 58.700 | 58.300 .300 58.700 58.700 .300
Uo7 58.700 58,700 | 58.300 | 42 58.700 58.700 | 42.300
BE-T ) "M% | _NU0S 28,600 28,600 28,600 28,600 25.800
U053 28,600 28,600 28,600 28,600 25.800
|_NU057 28.600 28.600 28.600 28.600 25.800
|_NUO061 28,600 28,600 28,600 28,600 25.800
|_NU063 28.600 28.600 28.600 28.600 25.800
U065 28,600 28,600 28,600 28,600 25.800
4B (IR % [_NU050 28.600 28.600 28.600 28.600 25.800
| _NU052 28,600 28,600 28,600 28,600 25.800
|_NU054 28.600 28.600 28.600 28.600 26.300
| _NU058 28,600 28,600 28,600 28,600 26.300
|_NU060 28.600 28.600 28.600 28.600 26.500
U062 28,600 28,600 28,600 28,600 | 2 25.800
HER(CAE)=2H B (FIE) 021 .900 .900 .900 .900 41.900
B U022 900 900 900 | 5 900 | 5 41,900
KB (BT =RiE KB (RATE) 5 083 .400 .400 .400 .400 39.400
HiEFH U086 ,400 ,400 ,400 ,400 39.400
A= 8 (BRER) IS 037 | 3EAT | 3BT 000 000 | 34 39.000 39.000 31,700
SR GIRER) 5 U036 | 3EAI | 3HAL ,000 ,000 39,000 | 3 39,000 31,700
EEE (FE) R IE)| A%E (P35 | NU0I 600 600 3 59.600 59.600 58.700
U045 600 600 39.600 39.600 38.700
7 .600 .600 39.600 39.600 26.800
U049 600 600 39.600 39.600 38.700
AR (IRER) 5 .600 .600 39.600 39.600 26.800
U 600 600 39.600 39.600 38.700
.600 .600 39.600 39.600 38.700
U 600 600 39.600 39.600 | 3 38,700
FE =3R48 (FRER) P LI NUOi1 | 3EAT | 3HAT 700 700 | 31 3.700 3,700 30.60(
hiE (IRER) 5& NU016 | 3HAT | 3HET 700 ,700 | 31 3.700 3.700 29.30
FRIE-RE | (I8 % [ NUsor 100 100 100 500 .90
NU605 B B .300 .300 .300 .800 .40(
NU607 B B .300 .300 .800 .40(
NU609 H H .300 .300 .800 .40(
NU617 B B .100 .100 .600 .90
NU621 H H .100 .100 .600 9.900
NU625 B B .100 .100 .600 10.600
RIEH NU600 H H .100 .100 .100 10.600
NU608 B B .100 .100 .100 10.600
NU610 H H .100 .100 .100 9.900
NU612 B B .100 .100 .100 9.900
NU614 H H .100 .100 .100 0.60(
NU622 B B 00 00 .300 1.40(
NU626 H H .100 .100 .100 0.60(
BT e e R (I0HE) 3 | _NUS51 B B 1.700 1.700 400 0.501
NU557 H H 1.700 1.700 400 0.50(
NU559 B B 1.700 1.700 400 0.50(
NU563 H H 1.700 1.700 400 0.5¢
NU565 B B 1.100 1.100 1.600 .90
NU567 H H 1.100 1.100 1.600 .90
NU571 B B 1.100 1.100 .600 .90
NU573 H H 1.100 1.100 .600 .90
B NU552 B B 1.700 1.700 400 .40
NU556 H H 1.700 1.700 400 .40(
NU558 B B 1.100 1.100 .600 .80
NU560 H H 1.100 1.100 .600 .80
NU562 B B 1.700 1.700 400 .40(
NU564 H H 1.700 1.700 400 .40(
NU566 B B 1.700 1.700 400 .40(
NU572 H H 1.700 1.700 400 .40(
SEE BB =AKE R (B % [ NU2(1 [ 3BT | SHAT 8.500 8.500 8.500 7.90(
AKESE NU212 | 3B&T | 3HAL 8.500 — 8.500 8.500 7.90( -—




THEZIE11/3/71EEXR (2AS~11BERES)

EEEAE - 2019/10/01 ~
N N N N 2/8 2/9 2/10 2/11 |
- g [ AR R G S e et (R 7 BT |7 oAt (T T (R 7 (7 (o7 A7 (RER 1 [ (a7 A7 T
| o | o | ey | B | | mra| v | mra | wne | ena | wne| one | ene| ere | ara | ere | ana | ene| ena
KR (BT =% (Bb%) | AMR(EIZ)3 | NUOOI — | 35500 35,100 | 35500 | 35.100 | 33.300 35,500 | 35.100 | 33,300 35,500 | 35.100 | 33,300
|_NU005 35,500 35,500 | 35.100 | 19.900 35,500 | 35.1 ,900 35,500 ,900
009 35.500 35.500 | 35.100 600 35.500 | 35. 35.500 600
R (| U002 35,500 35,500 | 35.100 | 24.600 35,500 | 35.1 35,500 1,600
|_NU004 35.500 35.500 | 35.100 9.900 35.500 | 35. 35.500 .900
U008 35,500 35,500 | 35.100 | 33.300 35,500 | 35.1 35,500 ,300
HR(CRA)=RE ER(PE) % 7 58.700 58.700 | 58.300 .300 58.700 | 58.: 58.700 .300
uo7 58,700 58,700 | 58,300 | 42.300 58,700 58,700 ,300
RiEH 7 58.700 58.700 | 58.300 .300 58.700 58.700 .300
uo7 58,700 58,700 | 58,300 | 42.300 58,700 58,700 ,300
BE-T ) "M% | _NU0S 28,600 28,600 25.800 28,600 28,600 5.800
U053 28.600 28.600 25,800 28.600 28,600 25,800
|_NU057 28.600 28.600 25.800 28.600 28.600 25.800
|_NUO061 28.600 28.600 25,800 28.600 28,600 25,800
|_NU063 28.600 28.600 25.800 28.600 28.600 25.800
U065 28.600 28.600 25,800 28.600 28,600 25,800
hEE(IRE) R NU050 28.600 28.600 25.800 28.600 28.600 25.800
| _NU052 28.600 28.600 25,800 28.600 28,600 25,800
|_NU054 28.600 28.600 26.300 28.600 28.600 25.800
| _NU058 28.600 28.600 26.500 28.600 28,600 25,800
|_NU060 28.600 28.600 26.500 28.600 28.600 25.800
U062 28.600 28.600 25,800 28.600 28,600 | 2 25,800
HR(PE)=-Ed ESAERE ] 021 .900 .900 41.900 900 900 41.900
EhE U022 o ,900 ,900 41,900 900 | 5 900 | 5 41,900
KR (B8d8)=RiE KR (BAFE) % 083 .400 .400 39.400 .400 .400 39.400
niEH U086 ,400 ,400 39.400 ,400 ,400 39.400
INA=AE (AR ER) I EE 037 3E AT 3E AT .000 .000 32,700 39.000 39.000 31.700
gl (FLE) % | NU036 | 3HAT | 3EHAI | 7 000 000 32,700 39,000 | 3 39,000 31,700
BB (hE) =48 ()| 2 EHE (hEp) 13 .600 .600 38.700 39.600 39.600 35.300
U045 ,600 ,600 38.700 39.600 39.600 35,300
7 .600 .600 25.100 39.600 39.600 30.300
U049 ,600 ,600 25,000 39.600 39,600 30.100
PR (RE) R 600 .600 25.100 39.600 39.600 30.300
U ,600 ,600 38.700 39.600 39.600 35,300
600 .600 38.700 39.600 39.600 35.300
U ,600 ,600 38.700 39.600 | 3 39.600 | 3 35,300
TR LLi=35 8 (I EH) EL%E NUOI1 | 3HAT | 3HAT 700 700 | 31 20,300 3.700 | 31 3.700 29300
ShEE(GIRER) & NUO016 3HAT 3HAT 700 700 | 31 | 30.600 3.700 | 31.4 3.700 30.600
A GRE-R1E 4 (3588 % |_NUBO1 — 200 900 — 100 | 11 100 9.800 | —-
NU605 H H .000 700 .300 | 12 300 11.400
NU607 H H .000 700 300 | 12 300 | 12 11.400
NU609 5] 5] .000 700 .300 | 12 300 80!
NU617 H H .200 .900 100 | 11 3.100 10!
NU621 5] 5] 200 100 | 11 3.100 00!
NU625 H H .200 100 | 11 100 00!
RiEH NU600 5] 5] 100 600 | 11 1,000 .80
NU608 H H 100 600 | 11 000 00!
NU610 5] 5] 100 600 | 11 1,000 00!
NU612 H H 100 600 | 11, 000 00!
NU614 5] 5] 100 600 | 11 1,000 10!
NU622 H H .300 800 | 12 .800 10!
NU626 5] 5] 100 600 | 11 1,000 10!
AR ES | PRI |_NUssi | e E 400 400 11 400 500
NU557 5] 5] 400 400 | 11 400 60!
NU559 H H 400 1400 | 11 400 60!
NU563 5] 5] 400 400 | 11 400 60!
NU565 H H 1.600 1.600 | 10.! 1.600 00!
NU567 5] 5] 1.600 1.600 | 10 1.600 00!
NU571 H H .600 .600 | 10 .600 00!
NU573 5] 5] .600 .600 | 10 .600 00!
B NU552 B B 400 1400 | 11 400 500
NU556 5] 5] — 400 400 | 11 400 60!
NU558 H H .600 .600 | 10 .600 00!
NU560 5] 5] .600 .600 | 10 .600 00!
NU562 H H 400 1400 | 11 400 . 30!
NU564 5] 5] 400 400 | 11 400 60!
NU566 H H 400 400 | 11 400 60!
NU572 5] 5] 400 400 | 11 400 60!
SRR =AXE bR GRED) % [ NU211 | 3HAT | 3EET 8.500 8.500 [ 8. 8.500 80
AKEF NU212 3B AL 3HAT i 8.500 f— 8.500 8. 8.500 80! —

JTA



THEZIE11/3/71EEXR (2A21~24BEFEN)

EFEAR 2019/10/01 ~

o N N N 2/21 2/22 2/23 2/24 |
- g [ AR R G O e et (R 7 (BT [T oAty (AT T (R 7 7 (o7 A7 (R [ (537 A7 T
| o | o | ey | B | | mra| v | mra | wne | ena | wne| one | ene| ere | ara | ere | ana | ene| ena
KRR (BEE) =48 (RT) | AR (B % | _NUOOT | |_aul — | 35,500 | 35.100 | 35500 | 35.100 | 34,600 35500 | 35.100 | 33.300 35500 | 35.100 | 33.300
|_NU005 35,500 35,500 | 35.100 | 34.600 35,500 | 35,100 | 33.300 35,500 33.300
009 35.500 35.500 | 35.100 .300 35.500 | 35.100 | 26.700 35.500 26.700
R (IRER) & | _NU002 35,500 35,500 | 35.100 | 24.600 35,500 | 35.100 | 24.600 35,500 | 24.600
|_NU004 35.500 35.500 | 35.100 .300 - 35.500 | 35.100 | 33.300 35.500 .300
U008 35.500 35,500 | 35.100 | 33.300 35,500 | 35.100 | 33.300 35.500 | 33.300
HR(CPHE)=RE EEEREES 7 58.700 58.700 .300 58.700 | 58.300 .300 58.700 .300
U07: 58,700 58700 58700 [ 42.300 58700 [ 42.300
RiEHR 7 58.700 58.700 58.700 .300 58.700 .300
Uo7 58700 58,700 58700 [ 42.300 58700 [ 42.300
1ERE=548 (IBE) ESES |_NU0S 28.600 28.600 28.600 25.800 28.600 25.800
U053 28.600 28.600 28.600 25,800 28.600 25,800
|_NU057 28.600 28.600 28.600 25.800 28.600 25.800
|_NUO061 28.600 28.600 28.600 | 24.000 28.600 | 24.000
|_NU063 28.600 28.600 28.600 .000 28.600 .000
U065 28.600 28.600 28.600 28.600 | 24.000
4B (IR % [_NU050 28.600 28.600 28.600 28.600 .600
| _NU052 28.600 28.600 28.600 28.600 25,800
|_NU054 28.600 28.600 28.600 28.600 25.800
| _NU058 28.600 28.600 28.600 28.600 27.700
|_NU060 28.600 28.600 28.600 28.600 25.800
U062 28.600 28.600 28.600 28,600 | 2 25,800
HR(PE)=-Ed B CHE) % 021 .900 .900 .900 .900 54.100
HE R U022 — .900 .900 ,900 | 5 ,900 | 54 54,100
KR (B =R1E KR (RATE) 5 083 400 ,400 | 48 400 400 39,400
RiEHE U086 ,400 ,400 ,400 ,400 39.400
INA=AE (AR ER) INKNFE 037 | 3HET | 3HAID 900 900 900 900 40.500
4R GRER) U036 3 i 3 i 7 900 900 .900 .900 41,500
AEHE (PE) =R GRE)| BHE(PH) R 3 .600 .600 39.600 39,600 35,300
U045 600 600 39.600 39.600 35.300
7 .600 .600 39.600 39.600 30.700
U049 600 600 39.600 39.600 30.600
PR (T % .600 .600 39.600 39.600 30.300
U 600 600 39.600 39.600 35.300
.600 .600 39.600 39.600 35.300
U 600 600 39.600 39.600 | 3 35.300
R LLi=3 48 (3R 8R) FALLI S NUot1 | 3EAT [ 3EAm 5.200 5.200 .200 5.200 29.300
SR (FREE) S | NUO16 | 3H A1 | 3HAT 5.200 5.200 | 34 ,200 | 34 5.200 34,400
() =RiE R (IR % NU601 - .600 4.200 200 .600 9.800 —
NU605 H H .800 5.000 .000 .800 11.400
NU607 B B .800 .000 .000 .800 .80(
NU609 B B .800 .000 .000 .800 .80(
NU617 B B .600 .200 .200 3.600 .80(
NU621 B B .600 200 200 3.600 .80(
NU625 B B .600 .200 .200 .600 .80(
RIEH NU600 B B .600 .600 .600 200 .80(
NU608 B B .600 .600 .600 .200 .00(
NU610 B B .600 600 | 11 600 200 .00(
NUG12 B B 600 600 | 11,100 | ¢ 600 200 .00
NU614 B B .600 600 600 200 .80(
NU622 B B .800 .800 .800 5.000 .80(
NU626 B B .600 600 600 4.200 .80(
(B =-2 BT NU551 B B 1.700 400 400 1.700 .40(
NU557 B B - 1.700 400 400 1.700 ,60(
NU559 B B 1.700 400 400 1.700 .60
NU563 B B 1.700 400 400 1.700 ,60(
NU565 B B 1.100 1.600 1.600 1.100 .00(
NU567 B B 1.100 1.600 1.600 1.100 ,00(
NU571 B B 1.100 1.600 1.600 100 .00(
NU573 B B 1.100 1.600 1.600 .100 ,00(
EER NU552 B B 1,700 1,700 1,700 400 10.500
NU556 B B 1.700 1.700 1.700 400 ,60(
NU558 B B 1.100 1.100 1.100 .600 .00(
NU560 B B 1.100 1.100 1.100 .600 ,00(
NU562 B B 1.700 1.700 1.700 400 .30(
NU564 B B 1.700 1.700 1.700 400 ,60(
NU566 B B 1.700 1.700 1.700 400 .60(
NU572 B B 1.700 1.700 1.700 400 ,60(
SRR =AXE bR GRED) % [ NU211 | 3HAT | 3EET 8.500 8,600 8,600 8.500 7.90¢
AKBFH NU212 | 3H#T 3HAT i 8.500 8.500 8.500 . .900 8.600 | & 8.40 -
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EEERA 2019/10/01  ~
AR
=r FEMTA &8 FEIC FE70
E—5% E=5% — F8
[t i 0 niE sl EL il A | =R sl
R ()-8 () | AW () & 2% 3%
T2 5o
12% 37%
AEDR 12 57
12% 52%
T2 T
W (B BB WRGAE R 13
13%
13%
13%
FEEr o) K
13%
13%
13%
13%
13%
FROB 13
13%
13%
13%
13%
13%
R CHE)=EE 13%
13%
13%
13%
3HET 2% 4 H:47.600
i (GRE) % 3B 2% & B:47.600
BEE )% iz} 7
T2
12%
T2
FRB 124
T2
12%
T2
=354k (B ER) [ N B 3HAEL 3%
i (GRE) % 3EM 3% H:40,700
TR A B % Sov L] Sou
48% 58%
48% 58%
48% 58% 59% 9, N 1.600
50% 59% 60% | k7K:10,700, A:9.500
50% 59%
50% 59%
50% 59%
50% 59%
50% 59%
50% 59%
50% 59%
f 5o
50% 59%
AR EE | AROPME 2 45 [AETI700
4% 7K:11,400, :9.700
42% 45% [ XK:11,400, K:
42
7y :
43% 48% [ %:9,100, H:11.400
43% 48% | A:9,100, H:11.400 8,000, H:9.600
43% 48% [ A:9,100, H:11.400 8,000, B:9.600
BER a2 6% [ A B:11.700 B:10,300
42 45% | XK:11,400, K:10,200 7k:10,000, 78,600
43% 48% 9,100 it 7K:9.300, :8.000
43% 48% [%:9.100
42% 45% [ XoK:11,400, K:
4%
g
2400 | 424 [
EeTy NU211 | 3B F | 8100 | oo F:E]
K% NU212 | 3B 100 29% KIELE
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EEERA . 2019/10/01 ~
o
= HEHIA HEIB %{!Mﬂ: @70
E—5% E—5% F8
[t i 0 niE sl il A | =R sl
KT (BIEE) =80 (BD) | R () 36 2%
124
12% [4:37.700 :28,400
EEER ize | 28,400
12%
12%
WRAE-RE | KRB R 134
13%
13%
13%
TR () 13
13%
13%
134 23,400
13% H:23,400
134 524,000 £ 23,400
EIE TS 13% 1 5:23.400
134 523,400
13% H:23,900
13%
13%
13%
R CAE) "B & 3%
13%
13%
13%
3HAL 2% 1 H:47.600
ol BB 3ET 2 47,600
BEE ()% B 2%
NUO: 124
NUO: 12% K:29.100, £:30,500
NUO: 12% 2K:29,000, #:40.500
R B 56 |_NUO: 2% %:29,100, %:30.500, E:29.600
NUO: 124
NUO: 12%
NU048 124
=354k (B ER) [ NUOTT B 3HAEL 3%
48 (RE) & | NUOTE EEL] 3%
R i (BB3) & | NUGOT 50% L] 59%
U605 4By 58%
U607 48% 58%
NUG0Y 4B 58%
NUB17. 50% 59%
NU621 50% 59% 100, 7K:11.000
NU625 50% 59% 100, 7k:11,000
NU600 50%
NU608 50%
NU610 50%
NUB1T2 50%
NUG14 48%
NUG22 a8,
NU626 50%
FROGR)-EE | ARG % | NUsST 2%
NU557 4%
NU559 %
NU563 42
NUS65 a3,
NU567 43%
NU571 a3,
NU573 43%
BER NU552 424
NU556 42
NU558 a3,
NU560 43%
NU562 424 X 7K:10,200
NU564 42% k7K:10.200
NU566 424 X 7K:10,200
NU572 a2 [ 21810500
=AKE Nu21i | 3EAT | 16% 3EE | 1 20%
K% Nu2i2 [ 3EAT 16% EEL 20%
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ALSE]
=r FEMTA &8 %@5479 FE70
E—5% E—5% F8
[t i 0 niE sl il A | =R il
R ) R D) | K () 5 T
T2
12% [£:37.700 128,400
AEDR iz ] % 28400
12%
W CRE)=E1E FRCRE) F
FEEr o)
H:23.400
H:23.400
_ 8:24,000, £:23.400
(IR R 1 H:23.400
H:23.400
H:23900
R B

| i R % |
AR (PE) T

£ 847,600

B:47,600

(:29.100, R %:30500

X:29,000, 30,400, $:40.500

X:29,100, K #:30,500, :29,600

EC e
=38R (AR [ENES N i L 40,700 [ £40,600
ETHETE] SEA 40600

ECE EC e 48% =] 00
6% 1,900, % F H:12.300
464 1,900, % £ H12.300
464 + | A:11.900, £ F 612300 10,600, % £ B:11.400
8% K. 11.600_K:11.000 )k 10,800, :9.700
a8y 11,100, % F H:11.900 00, £ B:11.100
48, 11100, £ 511,900 800 £ T H:11.100
48% KIK:11,600, K:11,000 7K:10,800, K:9,700
8% K :11,600, 11,000 [JK 10,800, :9.700
48% 27K:11,600, &:11.000 <7K:10.800, £:9.700
48, 11,000, %+ H:11.900 H:11.100
46% JK:11,600, 7:11.000 0.
6% k7K 11,600, 11,000 Sl
48% « [ JOK: 11,600, A:11.100 o,

EEE IR (IR R 42% 4 IKA:11,600 Sl
7S 4% JORA11.600
a7 4| A JoK:11.600
2% 2 K 7K:11,600 10.500. &£ H
47 [F12.100 5% A:11,300 K. 10,000, 9500
a2 [A12.100 7 600 9500, & T H:10300
42 [A:12.100 7 600
a2 [A12,100 7 600 9

BER a7 4 600 (K 10,400, 710,200
£ 4 600 10.200
47 [F12.100 464 [ JokA11.300
42 [A12.100 46% | JOKA:11.300
a7 44 [JOKA 11,600
7 484 [JORAT1.600
a7 8% [JORA:T1.600
a2 I 464 &+ 11,900
=AKE Nu21i | 3EAT | 16% 3EE | 1 20%
kEE | NU2iz | oHm 6% KLl 204
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7T
- FEITA HEITE RAEIIC HETD
E—5% E—5% — F8
[t i 0 niE sl EL il A | =R sl
R () o (h0) | KRR % 7% T3
T2 5o
12% [£:37.700 37% | #:28.400
FREmE | o] 37 [ 28400
12% 52%
13%
RRGIE)RE | RREE
FEEr o)
FROB
RRIE-BE
E:E] ZTN EZTA
i (GRE) % 3EM 4
BEE )% ] oy
36% | A:31,300, %:29.100, K £:30.500
364 | F31200. X 20.000- 30800
ECIE TS 35% | /3:31,700, :29.100, 7K:30,000,
13%
13%
13%
=354k (B ER) [ N B 3HAEL a5
i (GRE) % 3EM 4%
TR Sl GO [ ] [0
46% 60%
46% 60%
46% 60%
48% 60%
rr5y )
48% 61%
48% 60%
48% 60%
48% 60%
48% 61%
46% 60%
{T5) 5o
48% 60%
AR EE | AROPME 2 50
4% 50%
g 5
yry ST
g B
4% 53%
g 0
4% 53%
BER a2 50%
4% 50%
42% 50%
4% 50%
42% 50%
4% 50%
42% 50%
yry I 5T
EeTy NUzT | 3E% o 3R | P
ES 1 Nu2i2 [ 3EAT 16% KIELE 22%




THEZIE11/3/7EEXR(BA19~22BEFEN)
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o o o o 3/19 3/20 3/21 3/22 |

- g | AR R R S e et (R 7 (R [T oty (AT T (R 7 o7 (o7 A7 (R [ (537 AT T

| o | o | ey | B | | mra| v | mra | wne | ena | wne| one | ene| ere | ara | ere | ana | ene| ena
KR (BT =% (Bb%) | AMR(EIZ)3 | NUOOI — [ 41500 36200 1500 | 38.700 | 37.700 500 | 36,700 | 36.200 500 | 36.700 | 36.200
|_NU005 1.500 36.200 1,500 | 37.700 | 37.200 500 | 36.700 | 36.200 .500 | 36.700 | 36.200
009 1.500 26.400 1.500 36.200 .500 | 36.700 | 36.200 .500 .700 | 36.200
R (IRER) & | _NU002 1.500 36.200 1.500 36.200 .500 | 36.700 | 36.200 .500 | 36.700 | 36.200
|_NU004 .500 36.200 .500 36.200 36.200 .500 .700 | 36.200
U008 .500 36.200 .500 36.200 36.200 .500 | 36.700 | 36.200
HR(CPHE)=RE EEEREES 7 .100 60.100 100 60.600 60.100 .100 .100 | 60.100
Uo7 70.100 60.600 70.100 60.600 60.600 70.100 | 61.100 | 60.600
RiES 7! 70.100 60.600 70.100 60.600 60.600 70.100 .100 | 60.600
uo7 100 60.600 100 60.600 60.600 70.100 | 61,100 | 60.600
1ERE=548 (IBE) EERE |_NU0S .700 28.900 .700 28.900 28.900 33.700 | 29.400 | 28.900
U053 ,700 28,900 ,700 28,900 28,900 33.700 | 29.400 | 28.900
|_NU057 .700 28.900 .700 28.900 28.900 33.700 | 29.400 | 28.900
|_NUO061 ,700 28,900 ,700 28,900 28,900 33.700 | 29.400 | 28.900
|_NU063 700 28.900 .700 28.900 28.900 33.700 | 29.400 | 28.900
U065 ,700 28,900 ,700 28,900 28,900 33.700 | 29.400 | 28.900
4B (IR % [_NU050 700 28.900 .700 28.900 28.900 33.700 | 29.400 | 28.900
| _NU052 ,700 28,900 ,700 28,900 28,900 33.700 | 29.400 | 28.900
|_NU054 .700 28.900 700 28.900 28.900 33.700 | 29.400 | 28.900
| _NU058 i ,700 28,900 ,700 28,900 28,900 33.700 | 29.400 | 28.900
|_NU060 .700 28.900 700 28.900 28.900 33.700 | 29.400 | 28.900
U062 ,700 28,900 ,700 28,900 28,900 33.700 | 29.400 | 28900
HER(CAE)=2H B CHE) % 021 65.200 65.000 65.200 65.000 58.900 65.200 | 59.100 | 58.900
EGHE U022 65.200 56.700 65.200 56.700 65.000
KB (BT =RiE PG ES 083 57.800 | 49.700 57.800 9.700 9.700
HiEFH U086 7.800 | 51 | _49.700 7.800 | 49.700 | 49.700
M= (R IS 037 | 3EAT | 3BT 400 | 48.300 | 48.200 400 8.200 7.100
hER (BB % | NU036 | 3HAT | 3AEI 400 | 48,000 | 47.600 200 8.200
BEE (R A )| % B (A % |_NU043 500 41,000 | 40,500 500
U045 500 | 41,000 | 40500 500
7 .500 | 41 31.300 .300
U049 .500 | 41 40.500 31.200
ETIERES 500 | 41,000 3 500
u 500 | 41, [ 40,500
.500 | 41 .500
u 500 | 41 [ 20,500
FELL=;h 48 (R ER) [ NUOt1 | 3HAT | 3HAT .900 | 40 0.10
g (R E | NU0To | 3BEr | o 500 40. 70

AR EE | BB % | NUD! 700 1 P 100 —
NU605 B B 200 | 12 | 12 .10
NU607 B B 200 | 12 [ 12 10
NU609 B B .200 | 12 | 12 .10(
NUG17 B B 700 12 [ 12 10
NU621 B B 700 | 12 | 12 .80
NU625 B B 700 12 [ 12 80
FoE) NU600 B B 1200 | 11 [12 80
NU60S B B 200 | 11 [ 12 80
NU610 B B 1200 | 11 | 12 .80
NU612 B B 200 | 11, | 12, .80
NU614 B B 1200 | 11 | 12 .80
NU622 B B 200 | 11 [ 12 80
NU626 B B 1200 | 11 | 12 .80(
FRE-EE | #RGEE [Nussi | me | e 100 11, P3 70
NU557 B B 100 | 11 | 12 0.70(
NU559 B B 100 | 11 [ 12 0,70
NU563 B B 100 | 11 | 12 0.70(
NU565 B B 900 | 11, [ 1. 030
NU567 B B 900 | 11 | 11 0.30(
NU571 B B 900 | 11 [ 030
NU573 B B 900 | 11 | 11 0.30(
B NU552 B B 100 | 11 [ 1,00
NU556 B B 100 | 11 | 11 1.00(
NU558 B B 900 | 11 [ 0,601
NU560 B B 900 | 11 | 11 .60
NU562 B B 100 | 11 |11 .00
NU564 B B 100 | 11 | 11 .00(
NU566 B B 100 | 11 [ 00
NU572 B B 100 | 11 | 11, .00
SRR =AXE bR GRED) % [ NU211 | 3HAT | 3EET .800 | 10 [ 10 .10
AKESE NU212 | 3B&T | 3BT .800 | 10 | 10 0.30( -




MEEZIE21 ) EER(10827~11AIERES)

SEREAE 2019/10/01 ~
10/27-31,11/5-9
RS B4 BEMIE
FH EELE EEH [
BAMR| T | #i5iE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 21.700 | 45% |%+:23.800. H:19.900
NU005 10.300 74%
NU009 10400 | 73% |H:10.100. £ £:11.400. B:11.100
SRR (ARER) % | _NU002 9.400 76% [A:9.100. +:10.300, H:10.100
NU004 10300 | 74%
NU008 23.200 41% 1:22.900. H:26.400
R (PE)=R1E HR(RE) S [ NUoTI 25.100 63% [F L E:27
NU073 23.500
RER NU070 22600 | 67%
NUO076 .100 63%
1BRA=P#E () EEEES NUO51 .600 63%
NU053 .100 62%
NU057 600 | 63%
NU061 .600 63%
NU063 600 | 63% 12,
NU065 .600 63% 2,100, £ H:12.600
S8 (BRHE) % [_NUoS0 600 | 63% .
NU052 .600 63% ,600
NUO054 600 | 63% 600
NU058 ,100 62% ,100
NU060 600 | 63% 600
NU062 .600 63% ,600
HRCHE)-EE WA CHE) % | NU021 26000 | 59% :27.900
EGHE NU022 24,300 62% 23,400, 1:26.300, H:25.400
KIR (BE) =R1E KB (B7E) % | NU083 18.700 | 66% | H:17.800. %:20.300, H:19.300
HiEE NU086 19500 | 65% | H:14.400. £:20,600, H:15.500
IMA=FEE (RE) NS NU037 26.400 | 43% |4
4R GRER) NU036 26.400 43%
AR (P E) =548 (R B EE (PED) F|_NU043 4.400 67% 2:15.400, 1:14.600, H:15.600
NU045 .500 65% 14,800, H:16.800
NU047 100 | 57% 20.500
NU049 ,100 57% 20,500
SR (BRRE) % [_NUod2 500 | 65% 700, A:13.800, 200, £:14.900. H:16.800
NU044 200 61% ,500, 1:18.600. H:16.800
NU046 5500 | 65% | 12,600 A:13.800, 300, £:14.900. H:16.800
NU048 4,500 67% [ k:11.600. K:12.700, £:14.300, +:13,900. H:15.800
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 35% [£1:28.600
558 (GRER) % | NUOT6 25400 | 35% |H:28.600
SR (RER) =R1E SR (ARER) 2 | _NU6O1 .900 66% | KK A:8.600. 1:9.100
NU605 .900 66% | A% H:9.000. £:9.700
NU607 .900 66% | A% H:9.000. £:9.400
NU609 .900 66% | A% H:9.000. £:9.400
NU617 .900 66% | K:8.600. £:8.700
NUB21 700 67% |7k +:8.400
NU625 .900 66% 00, £:8.700
aiER NU600 500 68% 700
NU608 .900 66% X:8.600
NU610 700 67% 7:8.600
NU612 .700 67% :8.600
NU614 .000 66% :8,800. 7:8.900
NU622 .000 66% :8.800. A:8.900
NU626 .900 66% :8.600
SR (B =B B () S [ NUSS51 .900 56% K:8.600
NU557 400 58% 7:8.100
NUS59 400 58% JIK:8.100
NU563 400 58%
NU565 7.800 1
NU567 7.800 %
NUS71 7.800 1
NU573 7.800 %
BEH NU552 8,900 56% | KIKKB!
NU556 8400 58% | JKA:8.100
NU558 7.900 61% | KIKA:7.800
NU560 7.900 61% | JKIKH:7.800
NU562 .000 60% | KIKA:7.800
NU564 400 58% | JKA:8.100
NU566 100 60%
NU572 100 60%

JTA



MEHEZI5I21 1 EEXR(11HA10~20BERS)

SEREAE 2019/10/01 ~
11/10-20
RS B4 BEMIE
FH EELE EEH [
BAMR| T | #i5iE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 21,800 | 44% |&+:24.000. H:20.100
NU005 10.300 74%
NU009 10400 | 73% |%:11.400. £ H:11.500
SRR (ARER) % | _NU002 9.400 76% [+ H:10.400
NU004 10300 | 74%
NU008 23.200 4% % 22,900, H:26.400
R CHE)=-R1E RARCFIE) % [_NU0TI 25100 | 63% 7.100
NU073 23,500 65% 4,500, + B:25.700
RER NU070 22600 | 67% :24.500
NUO076 .100 63% 7,600, H:27.800
== () [ NUO51 600 | 63% 2,600, B:11.900
NU053 600 | 63% 2,600, H:12.400
NUO57 600 | 63% 600
NU061 .600 63% ,600
NU063 600 | 63% 600
NU065 600 | 63% 600
S8 (BRHE) % [_NUoS0 600 | 63% 600
NU052 .600 63% ,600
NUO054 600 | 63% 600
NU058 ,100 62% ,100
NU060 600 | 63% 600
NU062 .600 63% ,600
HRCHE)-EE WA CHE) % | NU021 26000 | 59% :27.900
EGHE NU022 24,200 62% :26.300
KIR (BE) =R1E KB (B7E) % | NU083 18.800 | 66% |7k7A:18.000_ E:20.300. H:20.600
HiEFH NU086 19.500 65% 20,000, $:20,600, H:22,500
IMA=FEE (RE) NS NU037 26400 | 43% 29.300
58 (GRA) % | NUO36 26400 | 43% |4 29,300
AR (P E) =548 (R B EE (PED) F|_NU043 .700 67% | kIKA:13.500., £:15.400
NU045 800 69% | H:14,700, £:15.400, 1 H:14.900
NU047 100 | 68% |+ H:15400
NU049 100 68% [£:22.100. + H:15.400
SERE(IRER) % [ _NU042 3.900 | 68% |H%:15200. £:15.000. H:16.200
NU044 7.100 61% |+ ,500
NU046 3.900 | 68% |H%£:15300. %:15.000. H:16.300
NU048 2.800 7% |A 300, +:14,000, H:15.300
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 35% 28.600
558 (GRER) % | NUOT6 25400 | 35% |H:28.600
SR (RER) =R1E SR (ARER) 2 | _NU6O1 .900 66% | KK A:8.600. 1:9.100
NU605 .900 66% | A% H:9.000. £:9.700
NU607 .900 66% | A% H:9.000. £:9.400
NU609 .900 66% | A% H:9.000. £:9.400
NU617 .900 66% | K:8.600. £:8.700
NUB21 700 67% |7k +:8.400
NU625 .900 66% 00, £:8.700
aiER NU600 500 68% 700
NU608 .900 66% X:8.600
NU610 700 67% 7:8.600
NU612 .700 67% :8.600
NU614 .000 66% :8,800. 7:8.900
NU622 .000 66% :8.800. A:8.900
NU626 .900 66% :8.600
R GRE =B E PR (ARER) $& | _NUSS51 .900 56% :8.600
NU557 400 58%
NU559 400 58%
NU563 400 58%
NU565 7.800 1
NU567 7.800 %
NUS71 7.800 1
NU573 7.800 %
BEH NU552 8,900 56 A8,
NU556 8400 58% | JKA:8.100
NU558 7.900 61% | KIKA:7.800
NU560 7.900 61% | JKIKH:7.800
NU562 .000 60% | KIKA:7.800
NU564 400 58% | JKA:8.100
NU566 100 60%
NU572 100 60%

JTA



MEEZI5I21 1 EEXR (1121 ~30BERS)

EFEAR 2019/10/01

!

11/21-30
RS B4 BEMIE
FH EELE EEH [
BAMR| T | #i5iE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 21.700 | 45% |A:21.800, £:24.000. £:25.300. H:20.000
NU005 10300 | 74%
NU009 10600 | 73% |%:11.400. £ H:11.700
SRR (ARER) % | _NU002 9.600 75% [£:11.100. + H:10.600
NU004 10.300 | 74%
NU008 23200 | 41% |%+:22,900, H:26.400
R CHE)=-R1E HR(F@) % [ _NUoTI 25000 | 63% [A%£H:25.100, £:27.100
NU073 23200 | 66% 24,500, F H:25400
RER NU070 .900 | 65%
NU076 100 | 63%
1BRA=P#E () EEEES NUO51 .600 63%
NU053 100 | 62%
NU057 600 | 63%
NUO61 600 | 63%
NU063 600 | 63%
NU065 600 | 63%
S8 (BRHE) % [_NUoS0 600 | 63%
NU052 600 | 63%
NUO054 600 | 63% 600
NU058 100 | 62% 1:13.100
NU060 600 | 63% 600
NU062 600 | 63% 1:12,600
HRCHE)-EE WA CHE) % | NU021 26000 | 59%
EESE NU022 27,900 | 56% 7400, £ H:30.300
KIR (BE) =R1E KB (B7E) % | NU083 19500 | 65% | k7K:19.400. £:19.100, £:21.100. H:20.900
HiEE NU086 19500 | 65% | H:20,000. £:20,600, H:23.000
IMA=FEE (RE) NS NU037 26400 | 43% 29.300
s 4 (FB%R) 5 | NU036 26.400 | 43% 29,300
AR (P E) =548 (R B EE (PED) F|_NU043 .300 68%
NU045 500 | 65%
NU047 300 | 65%
NU049 300 | 65% |
SR (BRRE) % [_NUod2 500 | 65%
NU044 .500 65% | A#:17.100, & 0
NU046 500 | 65% | H:15.700, %:16.300. £:16.000. H:16.200
NU048 500 | 67% | H:14.700. %:15.300, +:15.000. A
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 35% [£1:28.600
s (IBFR) 5 | NUOI16 25400 | 35% |H:28.600
SR (RER) =R1E B GIRER) % [ NU6O1 .900 66% | F:9.000. K8
NU605 .900 66% | H:9.100.
NU607 .900 66% | AH:9.100.
NU609 .900 66% | H:9.100.
NU617 .900 66%
NUB21 700 67% | H:8.600. K.
NU625 .900 66% | H7K:8.600.
aiER NU600 500 68% | £:8.600. &
NU608 100 65% | HA:8.900.
NU610 700 67% :8.600
NU612 .700 67% :8.600
NU614 100 65% 000, X 7K:8.800. #:8.900
NU622 .700 63% £:9.400
NU626 100 65% .00, K 7K:8.600
SR (B =B B () S [ NUSS51 .900 56%
NU557 100 60%
NU559 100 60%
NU563 100 60%
NU565 7.800 1
NU567 7.800 %
NU571 7.800 1
NU573 7.800 %
BEH NU552 8,900 56
NU556 8.100 60%
NU558 7.800 61%
NU560 7.800 61%
NU562 7.800 61%
NU564 8.100 60%
NU566 8.100 60%
NU572 8.100 60% |%:8.800. F H:8.900




MEEZIS21 1 EER(12A1~58BFED)

SEREAE 2019/10/01 ~
12/15
[=45] 23 HBEMIE
T8 T g B 09 =
BAMR| T | #i5iE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 25600 | 38% | H:24.300, A:21.800. H:24.500
NU005 300 | 75%
NU009 800 | 74% | H:12.000
SRR (ARER) % | _NU002 .800 74% | H:12.000
NU004 300 | 75%
NU008 23200 | 44% |H:26.400
R CHE)=-R1E HR(F@) % [ _NUoTI 22600 | 68%
NU073 22000 | 69% 24,100
RER NU070 20600 | 71% 22.500
NU076 600 | 68% | H:26.700
== () (=S NUO51 800 | 65% 12.800
NU053 300 | 64% 13.300
NU057 800 | 65% 12.800
NUO61 300 7%
NU063 .300 7
NU065 300 7%
S8 (BRHE) % [_NUoS0 .300 7 12.300
NU052 300 7% 12.300
NU054 .300 7 12.300
NU058 300 4% 13.300
NU060 800 | 65 12.800
NU062 800 | 65% 12.800
HRCHE)-EE WA CHE) % | NU021 25600 | 61% 21.500
EESE NU022 23000 | 65% |H:25000
KIR (BE) =R1E KB (B7E) % | NU083 20300 | 65% 18.300, H:22.000
aiER NU086 19.300 | 67% |A:17.800. H:21,500
IMA=FEE (RE) NS NU037 26400 | 46% 29.300
s 4 (FB%R) 5 | NU036 26400 | 46% | H:29.300
ZEE (=04 (8| A5 E (PEp) F[_Nuods 300 | 65% | JA:15.800. H:17.700
NU045 300 | 65% 17.700
NU047 100 | 68% 14.700
NU049 100 | 68% 14,700
SR (BRRE) % [_NUod2 300 | 65% 17.700
NU044 300 | 65% 17.700
NU046 300 | 65% 17.700
NU048 300 | 67% 16.700
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 39%
s (IBFR) 5 | NUOI16 25400 | 39% |H:28.600
SR (RER) =R1E B () 5 [_NU601 .100 A
NU605 500
NU607 500
NU609 500
NU617 100
NU621 400
NU625 100
aiER NU600 100
NU608 100
NU610 400
NU612 .400
NU614 100
NU622 500
NU626 700
SR (B =B R (BB & |_NU551 .100
NU557 100
NU559 100
NU563 100
NU565 500
NU567 500
NU571 500
NU573 500
BEH NU552 .100
NU556 100
NU558 500
NU560 500
NU562 100
NU564 100
NU566 100
NU572 100




MEEEISI21 EEXR(12A6~12BEED)

SEREAE 2019/10/01 ~
12/6-12
RS B4 BEMIE
R | mgg [E 08 e
BAMR| T | #i5iE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 25600 | 38% | H:24.300, A:21.800. £:23.900. £:25.400. H:24.500
NU005 ,300 75%
NU009 800 | 74% |%:13.000. £ H:12.000
SRR (ARER) % | _NU002 .800 74% [+ H:12.000
NU004 300 | 75%
NU008 23.200 44% |£+:22.900. B:26.400
R CHE)=-R1E RARCFIE) % [_NU0TI 22600 | 68% 24,500
NU073 22,000 69% 23,000, & H:24.100
RER NU070 20600 | 71% H:22.500
NUO076 600 68% 26,700
== () (=S NUO51 800 | 65% :12.800
NU053 300 | 64% :13.300
NUO57 800 | 65% 12.800
NU061 .300 7% ,300
NU063 .300 7 12.300
NU065 300 7% 12.300
B (IR 5 [_NU050 .300 7 11.800. 1 B:12.300
NU052 .300 7% 11,800, £ H:12.300
NUO054 300 7 1800, £ B:12.300
NU058 300 4% 300
NU060 800 | 65 800
NU062 .800 65% 800
HRCHE)-EE WA CHE) % | NU021 25600 | 61% :27.500
EGHE NU022 23.000 65% :25.000
KIR (BE) =R1E KB (B7E) % | NU083 20300 | 65% 18.300, H:22.000
HiEE NU086 19.300 | 67% |AH:17.800. & H:21.500
IMA=FEE (RE) NS NU037 26.400 + H:20.300
58 (GRA) % | NUO36 26.400 29,300
ZEE (=04 (8| A5 E (PEp) F[_Nuods 800 16.300, £ H:17.200
NU045 .300 H:17.700
NU047 100 15600, £:19.400. H:14.700
NU049 100 22,100, £:19.400, H:14,700
B (IRER) 5 [_NU042 .300 6.900, H:17.700
NU044 .300 :17.700
NU046 .300 7.700
NU048 300
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400
558 (GRER) % | NUOT6 25,400
G ER) =R 1A SR (ARER) 2 | _NU6O1 .400
NU605 800
NU607 800
NU609 800
NU617 400
NUB21 400
NU625 100
aiER NU600 400
NU608 400
NU610 400
NU612 400 8.
NU614 400 A9,
NU622 800 k-
NU626 .000 E;
R GRE =B E PR (ARER) $& | _NUSS51 .400 A
NU557 400 A9,
NUS59 400 (7K.
NU563 400 (7K:9.100
NUS65 500 .700. % £ B:8.800
NUS67 500 £:8.800
NUS71 500 :8.800
NU573 500 £:8.800
BEH NU552 .400 56% | koKkA:9.100
NU556 400 56% | JKKA:9.100
NU558 800 59% | KIKA:8.500
NU560 800 59% | KKA:8.500
NU562 .200 57% | KKA:9.000
NU564 400 56% | JKKA:9.100
NU566 100 57% | H:9.300. %t H:9.400
NU572 100 57% | & H:9.400

JTA



MEEZI5I21 1 EEXR(12R13~26 BB RS)

SEREAE 2019/10/01 ~
12/13-26
RS B4 BEMIE
FH EELE E=7. =
BAMR| T | #i5iE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 400 | 41% | X:29.200. 7K:25.600. /:21.800. :24.000, £:25500
NU005 ,300 75% |7K:10.500, #:10.800
NU009 .800 13.000, + H:12.000
SRR (ARER) % | _NU002 .800 H:12.000
NU004 300 | 75% |/kA:10.500
NU008 23.200 44% X:26,300, % 1:22,900. H:26.400
R (PE)=R1E HR(RE) S [ NUoTI 4.500 65% 2 H:22.600
NU073 ,000 ,000, + H:24.100
RER NU070 600 23,500, :24.600
NUO076 600 4,500, A:31,900, H:26.700
1BRA=P#E () EEEES NUO51 .800 :12.800
NU053 300 :13.300
NUO57 800 | 65% 12100, £ H:12.800
NU061 .300 7% 12,300
NU063 .300 7 12.300
NU065 300 7% 12.300
B (IR 5 [_NU050 .300 7% _[£:11.800. +H:12.300
NU052 .300 7% 11,800, £ H:12.300
NUO054 .300 7 11.800, + H:12.300
NU058 300 4% H:13.300
NU060 800 | 65 2,000, £ H:12.800
NU062 .800 65% :12.800
HRCHE)-EE WA CHE) % | NU021 25600 | 61% :27.500
EGHE NU022 23.000 65% 25,000
KIR (BE) =R1E KB (B7E) % | NU083 20300 | 65% 18.300, H:22.000
HiEE NU086 19.300 | 67% |AH:17.800. & H:21.500
IMA=FEE (RE) NS NU037 26400 | 46% |+ H:29.300
58 (GRA) % | NUO36 26400 | 46% | H:29.300
ZEE (=04 (8| A5 E (PEp) F[_Nuods 17.000 | 64% | Jc:18.100. JK:19.900. A:23.500. %:17.400. %:18.400
NU045 23500 | 50% |H:17.000, K:21.
NU047 19.000 | 590% 00
NU049 20.500 56% 22,700, £:22.100
SR (BRRE) % [_NUod2 6300 | 65% 00
NU044 6.300 65% K:18.. 17,500, £ H:17.700
NU046 7700 | 62% 17.300, £:17.500
NU048 6.700 64% XK:16.300, #: 00
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 39% 28.600
558 (GRER) % | NUOT6 25400 | 39%
SR (RER) =R1E SR (ARER) # | _NU601 .400 66% :10.100
NU605 800 64% £:10,500
NU607 800 64% :10.500
NU609 800 64% £:10.500
NU617 600 65% . K:10.300
NUB21 .900 64% | H:10,100
NU625 400 66% (9,100, JKA:10.100
RER NU600 400 66% [ 9¢:9.100, /KA:10.100
NU608 400 66% | 4:9.100. kA:10.100
NU610 .900 64%
NU612 .900 64%
NU614 400 66% | 9¢:9.100, JKA:10.100
NU622 800 64% | 4:9.500. KK:10.500
NU626 700 65% 0,100, £:9.900
R GRE =B E PR (ARER) $& | _NUSS51 .600 55% | koK A:9.300
NU557 600 55% | JKKA:9.300
NUS59 600 55% | H %7K:9.300
NU563 600 55% | H 7K:9.300
NU565 .000 58% | kIKA:8.700
NUS67 700 59% |+ H:9.000
NUS71 .700 59% H:9.000
NU573 700 59% £:9.000
BEH NU552 .600 55% £:9.300
NU556 600 55% 7:9.300
NU558 .000 58% £:8.700
NU560 .000 58% 7:8.700
NU562 500 55% :9.300
NU564 600 55% 7:9.300
NU566 600 55% £:9.300
NU572 300 56% |+ H:9.600

JTA



MEEZIS21 1 EER(11A1~4BBED)

SEREAE 2019/10/01 ~
A1 11/2 11/3 11/4
- g [ e B €| BB TE| M
AT
KB (BA7E) =348 (IBF) | KB (BAFE) F | _NU0OIT 1.700
|_NU005 6,000
009 4.000
B GIRER) F |_NU002 1,700
[_NU004 4200
U008 23.200
HER(RE)=-AE HER(CRE) % 7 37.500
34,300
RER 25.100
25,100
1BRA=P#E () EEEES 20.300
21,300
20.300
8.200
8.200
8.200
8 (FRER) % |_NU050 7.600
[ NU052 8.900
[ NUO54 20.300
U058 20.800
[ NU060 20.300
U062 20.400
RERORAE)=-E% o (FM) 021 37.300
EGHE U022 36.400
KR (B#E)=R1E KBR (BATE) 083 29.300
HiEFH U086 20.000
ENASEETE T ) INEASE 037 29.300
L 0000 | hEEER U036 29.300
AHE (PE) =048 ()| BEE (PER) R 3 20.800
U045 30.000
7 21,700
U049 30.000
SR (AR 2 16.500
U 32,200
26.900
U 16.500
R LLi=3 48 (3R 8R) FA L% NUOT 1 25.400
Sh#E (IRER) S | NUO16 25.400
SR (RER) =R1E SRR (ARER) %6 | _NUGOI .700
NU605 500
NU607 100
NU609 100
NUG17 200
NUG21 900
NU625 200
Tia% NU600 600
NU608 900
NU610 700
NUG12 700
NUG14 000
NU22 400
NU626 000
SR (B =B SR (ARER) % | _NUSS51 .700
NUS57 100
NUS59 400
NU563 400
NU565 7.800
NU567 7.800
NUS71 7.800
NU573 7.800
B NUS52 8.900
NUS56 8,100
NU558 7.800
NU560 7.800
NUS62 7.800
NU564 8,100
NUS66 8100
NU572 8,100

JTA



MEHEZI5I21 1 EEXR(12A27~31 BERS)

SEREAE 2019/10/01 ~
ﬁﬁ?ff'l 12/27" 12/28" 12/29‘ 12/30 12/31
4] B4 T Es 7 e[ 7 E| BB 7 E[ BB 7 E[ B EHTE
AR TR
R (BEZE) =P #8 (IR | KM (BAZE) % [ _NU0O1 35100 | 35.100 | 35100 100 _|_31.100
|_NU005 23.600 34,700 34,700 ,700 18.100
009 22,000 | _26.400 25.800
S (FRER) % |_NU002 .800 | 12,000
[_NU004 800
U008 ,900
R CAE)=RE R CPIE) 5 7 000
.600
RER 28,000
900
== () (=S 000
,000
300
.000
[ NU063 7.100
U065 7.400
SR (ARER) % | _NU050 .600
[ NU052 600
[ NUO54 100
U058 100
[ NU060 700
U062 600
RERORAE)=-E% o (FM) 021 58.500
EGHE U022 23.000
KR (B#E)=R1E KBR (BATE) 083 .700
AiES U086 200
N3 RE (AR ER) NEREE 037 100
| [#@GRE)% | NU36 200
AHE (PE) =048 ()| BEE (PER) R 3 29,000
U045 24,500
7 25.700
U049 35.600
SR (AR 2 22,500
U 24,500
22,500
U 21,500
R LLi=3 48 (3R 8R) FA L% NUOT 1 .600
558 (FRTR) % | NUOT6 1400
SR (RER) =R1E SRR (ARER) %6 | _NUGOI .500
NU605 100
NU607 100
NU609 100
NUG17 700
NUG21 500
NU625 500
RERE NU600 400
NU608 400
NU610 .200
NUG12 .200
NUG14 400
NU22 .800
NU626 400
SR (B =B SR (ARER) % | _NUSS51 .000
NUS57 800
NUS59 800
NU563 800
NUS65 400
NU567 400
NUS71 .400
NU573 400
EER NUS52 10.000
NUS56 500
NU558 000
NU560 000
NUS62 500
NU564 600
NUS66 600
NU572 600

JTA



TEZISI21 1 EEXR(A1~6BEED)

EFEAR 2019/10/01 ~

@47 1/1 _ 1/2 _ 1/3 _ 1/4 _ 1/5 1/6
= &% S (7 E| RS (7 E| TS (7 E| RS E| RS E| FeES(T ]
Bi$glli B | EBAE e e e e
R (BEZE) =P #8 (IR | KM (BAZE) % [ _NU0O1 26,400 . 27.900 X :
[ NU005 1.400 1

009 4800
TR (IE) % |_NU002 9.500
[_NU004 8.900
U008 0.000
R (PE)=R1E RECRE) % 7 27.500
Uo7 29.000
GiE% 7 31,500
Uo7 36.800
1aRE=3 48 (IR E) EEES .800
800
800
800
800
U065 800
SR (ARER) % | _NU050 4.700
NU052 5,800
7.400
20.100
19.700
U062 19.400
RERORAE)=-E% o (FM) 021 26.300
EE R U022 400
KR (B#E)=R1E KBR (BATE) 083 300
AiES U086 100
ENASEETE T ) INEASE 037 .200
L 0000 | hEEER U036 ,200
AHE (PE) =048 ()| BEE (PER) R 3 20.500
U045 20.600
7 9.500
U049 9.500
SR (AR 2 4,000
U 7.900
7.900
U 26.900
R LLi=3 48 (3R 8R) FA L% NUOT 1 400
Sh#E (IRER) S | NUO16 .400
SR (RER) =R1E SRR (ARER) %6 | _NUGOI .100
NU605 500
NU607 500
NU609 500
NUG17 300
NUG21 100
NU625 100
Tia% NU600 100
NU608 100
NU610 9.900
NUG12 9.900
NUG14 10.100
NU22 10500
NU626 10.100
SR (B =B SR (ARER) % | _NUSS51 .700
NUS57 500
NU559 .500
NU563 500
NUS65 200
NU567 300
NUS71 .300
NU573 300
EHE NU552 .700
NUS56 500
NU558 000
NU560 000
NUS62 500
NU564 500
NUS66 500
NU572 500




TEEZISI21 1 EEXRAT~IBEED)

SEREAE 2019/10/01 ~
1/7-9
= BEMIE
i i FH EELE EEH [
BAMR| T | #i5iE "

KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 23700 | 39% |7K:25.400
NU005 10.200 74%
NU009 10200 | 74%
SRR (ARER) % | _NU002 9.800 75%
NU004 10200 | 74%

NU008 23.200 41%  |7K:24,600
R CHE)=-R1E RARCFIE) % [_NU0TI 23200 | 66%
NU073 21,100 69%
RER NU070 22800 | 66%
NU076 23600 | 65%
1BRA=P#E () EEEES NUO51 .000 65%
NU053 500 | 63%
NU057 000 | 65%
NU061 .000 65%
NU063 000 | 65%
NU065 000 | 65%
S8 (BRHE) % [_NUoS0 000 | 65%
NU052 .000 65%
NU054 000 | 65%
NU058 500 | 63%
NU060 000 | 65%
NU062 .000 65%
HRCHE)-EE WA CHE) % | NU021 26000 | 59%
EGHE NU022 23.400 63%
KIR (BE) =R1E KB (B7E) % | NU083 19.400 | 65%
aiER NU086 19.400 | 65%
IMA=FEE (RE) NS NU037 26400 | 43%
4R GRER) NU036 26.400 43%
AR (P E) =548 (R B EE (PED) F|_NU043 .200 68%
NU045 .500 65%
NU047 900 | 62%
NU049 .900 62%
SR (BRRE) % [_NUod2 600 | 65%

NU044 500 | 65% [ 9¢:15,600

NU046 500 | 65% | J:15.600

NU048 500 67% | :K:14,600
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 35%
558 (GRER) % | NUOT6 25400 | 35%
SR (RER) =R1E B () 5 [_NU601 .900 66%
NU605 .000 66%
NU607 .000 66%
NU609 .000 66%
NU617 .900 66%

NUB21 700 67% | 7K:8.400

NU625 .900 66% | 7k:8.600
aiER NU600 500 68%
NU608 600 67%
NU610 700 67%
NU612 .700 67%
NU614 .900 66%
NU622 400 64%
NU626 .900 66%
SR (B =B B () S [ NUSS51 .600 57%
NU557 500 58%
NU559 .500 58%
NU563 500 58%
NU565 7.900 1
NU567 7.900 %
NUS71 7.900 1
NU573 7.900 %
BEH NU552 8,600 57
NU556 8500 58%
NU558 7.900 61%
NU560 7.900 61%
NU562 100 60%
NU564 500 58%
NU566 500 58%
NU572 500 58%

JTA



MEEEIS121 SEER (1A 14~20BEED)

SEREAE 2019/10/01 ~
1/14-20
BEMIE
X
i i FH EELE EEH [
BAMR| T | #i5iE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 23700 | 39% |7K:25.400, £ 1:23.900. H:21.700
NU005 10.200 74% :11.300
NU009 10200 | 74% +11.300
SRR (ARER) % | _NU002 9.600 75% :10.600
NU004 10200 | 74% 1.100
NU008 23.200 41% [7k:24.600. % 1+:22.900. H:26.400
R CHE)=-R1E RARCFIE) % [_NU0TI 21700 | 68% :23.500
NU073 21,100 69% 22,100, £ H:23.100
RER NU070 20700 | 69% :22.500
NUO076 23,600 65% :25.700
== () (=S NUO51 000 | 65% +11.900
NU053 500 | 63% :12.400
NUO57 000 | 65% :11.900
NU061 .000 65% :11.900
NU063 000 | 65% +11.900
NUO065. .000 65% :11.900
S8 (BRHE) % [_NUoS0 000 | 65% 1.900
NU052 .000 65% 1.900
NUO054 000 | 65% :11.900
NU058 500 | 63% 2400
NU060 000 | 65% |+:11.500, H:11.900
NU062 .000 65% 1.900
HRCHE)-EE WA CHE) % | NU021 26000 | 59% :27.900
EGHE NU022 23.400 63% :25.400
KIR (BE) =R1E KB (B7E) % | NU083 19.400 | 65% :21.000
HiEE NU086 19400 | 65% :21,000
IMA=FEE (RE) NS NU037 26400 | 43% :29.300
58 (GRA) % | NUO36 26400 | 43% | H:29.300
AR (P E) =548 (R B EE (PED) F|_NU043 .500 67% 14.700. £:15.400, + H:15.700
NU045 .500 65% H:16.800
NU047 400 | 65% 15.900, £:19.300. H:14.700
NU049 400 65% 22,900, 1:19.300, H:14,700
SERE(IRER) % [ _NU042 600 | 60% 7500, £:18.800. H:19.800
NU044 6.000 64% :17.400
NU046 5500 | 65% 6.800
NU048 4,500 67% :15.800
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 35% 28.600
558 (GRER) % | NUOT6 25400 | 35% |H:28.600
SR (RER) =R1E SR (ARER) 2 | _NU6O1 .100 65% | kK AK:8.900. £:9.000
NU605 .000 66% | £:9.700
NU607 .000 66%
NU609 000 | 66% |
NU617 .900 66%
NUB21 700 67% | JK+:8.400
NU625 .900 66% | Jk:8.600. £:8.700
aiER NU600 500 68% | H:8.700
NU608 .900 66% | KK A:8.600
NU610 700 67%
NU612 .700 67%
NU614 .000 66% | KA 8900
NU622 700 63% | JKIKA:9.400
NU626 .000 66% | JKA:8.900
R GRE =B E PR (ARER) $& | _NUSS51 .900 56% | Kok A:8.600
NU557 500 58%
NU559 .500 58%
NU563 500 58%
NU565 7.900 1
NU567 7.900 %
NUS71 7.900 1
NU573 7.900 %
BEH NU552 8,900 56% | kJKAK:8.600
NU556 8500 58%
NU558 7.900 61%
NU560 7.900 61%
NU562 100 60%
NU564 500 58%
NU566 500 58%
NU572 500 58%

JTA



MEEEISI21 SBEXR(1A21~31BERED)

SEREAE 2019/10/01 ~
1/21-31
BEMIE
X
i i FH EELE EEH [
BAMR| T | #i5iE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 23700 | 39% 600, A:23100. £:25.600, £:23.900. H:21.700
NU005 10.200 74% :11.300
NU009 10200 | 74% +11.300
SRR (ARER) % | _NU002 9.600 75% :10.600
NU004 10200 | 74% 411,100
NU008 23.200 41% K:24.600. £:24,300, 1:22,.900, H:26.400
R (PE)=R1E HR(RE) S [ NUoTI 21.700 68% :23.500
NU073 21,100
RER NU070 20700 | 69%
NUO076 23,600 65% 00, £ H:25.700
== () (=S NUO51 000 | 65% :11.900
NU053 500 | 63% :12.400
NUO57 000 | 65% :11.900
NU061 .000 65% :11.900
NU063 000 | 65% +11.900
NUO065. .000 65% :11.900
S8 (BRHE) % [_NUoS0 000 | 65% 1.900
NU052 .000 65% 1.900
NUO054 000 | 65% :11.900
NU058 500 | 63% 2400
NU060 000 | 65% |+:11.500, H:11.900
NU062 .000 65% 1.900
HRCHE)-EE WA CHE) % | NU021 26000 | 59% :27.900
EGHE NU022 23.400 63% :25.400
KIR (BE) =R1E KB (B7E) % | NU083 19.400 | 65% :21.000
HiEE NU086 19400 | 65% :21,000
IMA=FEE (RE) NS NU037 26400 | 43% :29.300
58 (GRA) % | NUO36 26400 | 43% | H:29.300
AR (P E) =548 (R B EE (PED) F|_NU043 .500 67% 14.700. £:15.400, + H:15.700
NU045 .500 65% H:16.800
NU047 400 | 65% 15.900, £:19.300. H:14.700
NU049 400 65% | £:23.600. +:19.300. H:14.700
SERE(IRER) % [ _NU042 500 | 60% 117.600, 118,800, H:19.800
NU044 6.000 64% :17.400
NU046 5500 | 65% 6.800
NU048 4,500 67% :15.800
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 35% 28.600
558 (GRER) % | NUOT6 25400 | 35% |H:28.600
SR (RER) =R1E SR (ARER) 2 | _NU6O1 .000 66% | kK A:8.900. 1:9.100
NU605 .000 66% | £:9.700
NU607 .000 66%
NU609 000 | 66% |
NU617 .900 66%
NUB21 700 67%
NU625 .900 66%
aiER NU600 500 68%
NU608 .900 66%
NU610 700 67%
NU612 .700 67%
NU614 .000 66% | KA 8900
NU622 700 63% | JKIKA:9.400
NU626 .000 66% | JKA:8.900
R GRE =B E PR (ARER) $& | _NUSS51 .900 56% | Kok A:8.600
NU557 500 58%
NU559 .500 58%
NU563 500 58%
NU565 7.900 1
NU567 7.900 %
NUS71 7.900 1
NU573 7.900 %
BEH NU552 8,900 56% | kJKAK:8.600
NUS56 8500 58%
NU558 7.900 61%
NU560 7.900 61%
NU562 100 60%
NU564 500 58%
NU566 500 58%
NU572 500 58%

JTA



TEEZISI21 1 EEXR(QA1~3BEED)

SEREAE 2019/10/01 ~
2/1-3
BEMIE
X
i i FH EELE EEH [
BAMR| T | &iEiE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 100 | 41% | $:25.500, H:23.000
NU005 .300 1% 10,200
NU009 300 | 71% 10.200
SRR (ARER) % | _NU002 .500 73% 9.500
NU004 300 | 71 10.200
NU008 4,600 7% 24,300, H:28,000
R CHE)=-R1E RARCFIE) % [_NU0TI 25,000 3% | H:23.000
NU073 4,500 4% 22,500
RER NU070 3.900 |65 22,000
NUO076 7.100 60% 25,100
== () (=S NUO51 000 | 65% 11.900
NU053 .500 63% 12,400, H:12,000
NUO57 500 | 63% 11.900, B:11.000
NU061 .900 62% 11,000
NU063 900 | 62% 11.000
NUO065. .900 62% 11,000
S8 (BRHE) % [_NUoS0 900 | 62% 11.000
NU052 .900 62% 11,000
NU054 900 | 62% 11.000
NU058 400 61% 11,500
NU060 900 | 62% 11.000
NU062 .900 62% 11,000
HRCHE)-EE WA CHE) % | NU021 1900 | 56% 26.000
EGHE NU022 400 60% 23,400
KIR (BE) =R1E KB (B7E) % | NU083 700 | 64% 18.200
RiEHE NU086 400 65% 21,000, H:20.900
IMA=FEE (RE) NS NU037 1400 | 35% 27.400
4R GRER) NUO036 400 41% 30,400
AR (P E) =548 (R B EE (PED) F|_NU043 100 66%
NU045 .800 62%
NU047 300 | 65%
NU049 .300 65%
SR (BRRE) % [_NUod2 900 | 62%
NU044 1400 61%
NU046 6.800 | 62%
NU048 5,800 64%
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 35%
558 (GRER) % | NUOT6 25400 | 35%
SR (RER) =R1E B () 5 [_NU601 .000 66%
NU605 .000 66%
NU607 .000 66%
NU609 .000
NU617 .900 66%
NUB21 700 67%
NU625 .900 66%
aiER NU600 500 68%
NU608 .900 66%
NU610 700 67%
NU612 .700 67%
NU614 .000 66%
NU622 700 63%
NU626 .000 66%
SR (B =B B () S [ NUSS51 .900 56%
NU557 500 58%
NU559 .500 58%
NU563 500 58%
NU565 7.900 1
NU567 7.900 %
NUS71 7.900 1
NU573 7.900 %
BEH NU552 8,900 56
NU556 8500 58%
NU558 7.900 61%
NU560 7.900 61%
NU562 100 60%
NU564 500 58%
NU566 500 58%
NU572 500 58%

JTA



MEEEISI21 EEXR(2A12~18BERED)

SEREAE 2019/10/01 ~
2/12-18
BEMIE
X
i i FH EELE EEH [
BAMR| T | &iEiE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 23100 | 41% 25600, H:23.000
NU005 10.200 74% :11.300
NU009 10200 | 74% +11.300
SRR (ARER) % | _NU002 9.600 75% :10.600
NU004 0200 | 74% 1.300
NU008 4,600 37% 4,300, H:28,000
R (PE)=R1E HR(RE) S [ NUoTI 3,000 66% 25,000
NU073 2,500 67% 23500, + H:24.400
RER NU070 22000 | 67%
NUO076 .100 63%
1BRA=P#E () EEEES NUO51 .000 65%
NU053 500 | 63%
NUO57 000 | 65% 1.
NU061 .000 65%
NU063 000 | 65%
NU065 000 | 65%
S8 (BRHE) % [_NUoS0 000 | 65%
NU052 .000 65%
NU054 000 | 65%
NU058 500 | 63%
NU060 000 | 65%
NU062 .000 65%
HRCHE)-EE WA CHE) % | NU021 26000 | 59%
EGHE NU022 23.400 63%
KIR (BE) =R1E KB (B7E) % | NU083 8300 | 67%
AiES NU086 9400 | 65%
IMA=FEE (RE) NS NU037 7400 | 41%
4R GRER) NU036 7.400 41%
AR (P E) =548 (R B EE (PED) F|_NU043 .500 65% :16.
NU045 .500 65% H:16.800
NU047 400 | 65% 15.900, £:19.300
NU049 400 65% 23,600, £:19.300
B (IRER) 5 [_NU042 .900 62% 7.400, H:20.800
NU044 ,000 64% :17.400
NU046 500 | 65% 16.800
NU048 500 67% :15.800
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 35% 28.600
558 (GRER) % | NUOT6 25400 | 35% |H:28.600
SR (RER) =R1E SR (ARER) 2 | _NU6O1 .000 66% | kK A:8.900. 1:9.100
NU605 .000 66% [T
NU607 .000 66%
NU609 000 | 66% |
NU617 .900 66%
NUB21 700 67%
NU625 .900 66%
aiER NU600 500 68% .
NU608 .900 66% | 4]
NU610 700 67%
NU612 .700 67%
NU614 .000 66% | JKA:8.900
NU622 .000 66%
NU626 000 66% | JJK7:8.900
SR (B =B B GIRER) S [ NUSS51 .900 56% | kJKAK:8.600
NU557 500 58%
NU559 .500 58%
NU563 500 58%
NU565 7.900 1
NU567 7.900 %
NUS71 7.900 1
NU573 7.900 %
BEH NU552 8,900 56% | kJKAK:8.600
NUS56 8500 58%
NU558 7.900 61%
NU560 7.900 61%
NU562 100 60%
NU564 500 58%
NU566 500 58%
NU572 500 58%

JTA



MEEEISI21 EER(2A19~29BEED)

EFEAR 2019/10/01

!

2/19-20,2/25-29
RS B4 = BEMIE
AR B %5
KB (BA7E) =348 (IBF) | KB (BAFE) F | _NU0O1 .100 :27.200, £:25.600
NU005 200 112,400, +:11.300
NU009 .200 700 &:11.900, £:11.300
SRR (ARER) % | _NU002 .200 1,100, +:11.300
NU004 .200 12400, £:11.300
NU008 600 & 1:24.300
R CHE)=-R1E RARCFIE) % [_NU0TI 3.000 | 66% |A%:23900. £:26.000
NU073 2,500 67% | A:23.400. £:24.400. 1:25.600
RER NU070 22000 | 67% |A%:22.900. £:25.000
NUO076 .100 4 .600
1BRA=P#E () [EEES NUO51 .000 A:12,500, +:11.900
NU053 .500 7:13,000, £:12.000. +:12.900
NU057 .000 E;
NU061 .000 4 ,500, £:11.900
NU063 .000 A:12.500, £:11.900
NUO065. .000 4 ,500, £:11.900
B (IR 5 [_NU050 .000 A:12,500, +:11.900
NU052 .000 4 ,500, £:11,900
NU054 .000 A:12.500, £:11.500. £:12.400
NU058 .500 63% |A:13,000, +:12.400
NU060 000 | 65% |A:12.500. %:11.500. E:12.400
NU062 .000 65% | A:12,500, £:11.900
HRCHE)-EE WA CHE) % | NU021 26.000 | 59% | A:26.900. £:27.900
EGHE NU022 23.400 63% | AK#:24.300. 1:26.300
KIR (BE) =R1E KB (B7E) % | NU083 9400 | 65% [2:17.600, 7K:18.300. £:21.000
HiEE NU086 9400 | 65% | £:20,000
IMA=FEE (RE) NS NU037 7400 | 41% [+:30.400
4R GRER) NU036 7.400 41%
ZEE (=04 (8| A5 E (PEp) F[_Nuods 700 | 67% |A%:16.300, £:17.600
NU045 .500 65% | A%:17.200. 1:18.600
NU047 600 | 67% |7K:15.400, A:16.300, £:16.100. £:19.900
NU049 600 67% |7K:15.
SRR (FRER) 3 | _NUO042 .900 62% [£:18.400. 1:18.200
NU044 ,000 64% | A .800, #:17.200, 1:18,600
NU046 500 | 65% |4
NU048 500 67%
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 35%
s (IBFR) 5 | NUOI16 25400 | 35%
SR (RER) =R1E B () 5 [_NU601 .900 66%
NU605 .000 66%
NU607 .000 66%
NU609 .000 66%
NU617 .900 66%
NUB21 700 67%
NU625 .900 66%
aiER NU600 500 68%
NU608 600 67%
NU610 700 67%
NU612 .700 67%
NU614 .900 66%
NU622 .000 66%
NU626 .900 66%
SR (B =B B () S [ NUSS51 .600 57%
NU557 500 58%
NU559 .500 58%
NU563 500 58%
NU565 7.900 1
NU567 7.900 %
NUS71 7.900 1
NU573 7.900 %
BEH NU552 8,600 57
NU556 8500 58%
NU558 7.900 61%
NU560 7.900 61%
NU562 100 60%
NU564 500 58%
NU566 500 58%
NU572 500 58%




MEEEIS121 SEEXR(1A10~13BEED)

SEREAE 2019/10/01 ~
?#EBH““I 1/10 1/11 1/12 1/13
=R B TBEMTE| BEMTE[ M7 E BRI
AT
KB (BA7E) =348 (IBF) | KB (BAFE) F | _NU0OIT 29.100 .700 | 26500 |
[ NU005 900 00 10.900
009 .200
B GIRER) F |_NU002 1200
[_NU004
U008
HER(RE)=-AE HER(CRE) % 7

RER

1BRA=P#E ()

[EEES

EIIE O

U058

U062

RERORAE)=-E%

B (FIE)

BEHE

U022

KR (B#E)=R1E

KB (RATE) 5

083

HiE%

U086

IMA=iEE (AR ER)

AT (P ) =548 ()

AN

037

ShB (BRER)

U036

BEHE (PR 3

B[3|&

SR (AR 2

R L= 48 (AR %)

[ENIE:S

S (ARER) 5

SR (RER) =R1E

B IR R) S

RER

R GRE =B E

SoPHE IR R) S

JTA



MEEZIS21 1 EERQQA4~11BERED)

EFEAR 2019/10/01 ~

@47 2/4 _ 2/5 _ 2/6 _ 2/1 _ 2/8 2/9 2/10 2/11
= &% TS (7 E| RS (7 E| RS (7 E| RS (7 E| 157 E| FolES (7 E| 5 1E5 (7 E| FelES(TE]
Bi$@lli B | EBAE e e e e e ERE

KB (BA7E) =348 (IBF) | KB (BAFE) F | _NU0OIT 23.100 X 23100
[ NU005 10.200
009 10.200
TR (IE) % |_NU002 9,500
[_NU004 0200
U008 4,600
R (PE)=R1E RECRE) % 7 3,000
Uo7 2,500
GiE% 7 22,000
100
1aRE=3 48 (IR E) EEES .000
.500
.000
.000
.000
U065 .000
SR (ARER) % | _NU050 -000
NU052 .000
.000
.500
.000
U062 .000
RERORAE)=-E% o (FM) 021 26.000
EGHE U022 23.400
KR (B#E)=R1E KBR (BATE) 083 8.200
AiES U086 9.400
ENASEETE T ) INEASE 037 7.400
L 0000 | hEEER U036 7.400
AHE (PE) =048 ()| BEE (PER) R 3 .000
U045 500
7 300
U049 300
SR (AR 2 .900
U ,000
500
U ,500
R LLi=3 48 (3R 8R) FA L% NUOT 1 25.400
Sh#E (IRER) S | NUO16 25.400
(BB =R1E SRR (ARER) %6 | _NUGOI .900
NU605 000
NU607 000
NU609 000
NUG17 900
NUG21 700
NU625 900
Tia% NU600 500
NU608 600
NU610 700
NUG12 700
NUG14 900
NU22 400
NU626 900
SR (B =B SR (ARER) % | _NUSS51 .600
NUS57 500
NU559 .500
NU563 500
NU565 7.900
NU567 7.900
NUS71 7.900
NU573 7.900
R NUS52 8.600
NUS56 8,500
NU558 7.900
NU560 7.900
NUS62 100
NU564 500
NUS66 500
NU572 500




MEEEIS121 SEEXR(2A21~24BEED)

SEREAE 2019/10/01 ~
?#EBH““I 2/21 2/22 2/23 2/24
=R B TBEMTE| BRIMIE| BEIMTE[BEITE
AT
RO () = (AW | AR (BE) 5 | _NU0OT 25500 | 34100
[ NU005 200 00
009 500
B GIRER) F |_NU002 200
[_NU004 .200
U008
HER(RE)=-AE HER(CRE) % 7

RER

1BRA=P#E ()

[EEES

EIIE O

U058

U062

RERORAE)=-E%

B (FIE)

BEHE

U022

KR (B#E)=R1E

KB (RATE) 5

083

HiE%

U086

IMA=iEE (AR ER)

AT (P ) =548 ()

AN

037

ShB (BRER)

U036

BEHE (PR 3

B[3|&

SR (AR 2

R L= 48 (AR %)

[ENIE:S

S (ARER) 5

SR (RER) =R1E

B IR R) S

RER

R GRE =B E

SoPHE IR R) S

JTA



T EZISI21 1 EEXRCGAI~5BEEN)

!

EFEAR 2019/10/01

3/1-5
RS B4 BEMIE
T8 T g B 09 =
BAMR| T | #i5iE "
KER (B7E) =48 (%) | XMR (A7) % [ _Nuoo1 23100 | 44% |H:23.000
NU005 12,400 70% :13.800
NU009 10500 | 75% 11.600
SRR (ARER) % | _NU002 9.600 77% 10500
NU004 12400 | 70% 13.800
NU008 24,600 41% 28,000
R CHE)=-R1E RARCFIE) % [_NU0TI 23900 | 66% | H:26.000
NU073 23.400 67% 25,600
RER NU070 22900 | 67% 25,000
NUO076 26.000 63% | H:28.100
1BRA=P#E () EEEES NUO51 500 63%
NU053 ,000 62% 13.900
NU057 500 | 63% 13.500
NU061 500 63% 13.500
NU063 500 | 63% 13.500
NU065 500 | 63% 13,500
S8 (BRHE) % [_NUoS0 500 | 63%
NU052 500 63%
NU054 500 13.500
NU058 ,000 14,100
NU060 500 13.500
NU062 500 13.500
HRCHE)-EE WA CHE) % | NU021 26.900 28.800
EGHE NU022 4,300 26.300
KIR (BE) =R1E KB (B7E) % | NU083 8.600 20.400
HiEE NU086 9,800 20.200
IMA=FEE (RE) NS NU037 7.400 30.400
SRR (BRER) F | NU036 7.400 30.400
ZEE (=04 (8| A5 E (PEp) F[_Nuods 6.300 17.000, B:17.700
NU045 7.200 63% H:18.600
NU047 8200 | 61% |X:18400. H:19.700
NU049 8.200 61% 18,400, H:19.700
SR (BRRE) % [_NUod2 7200 | 63% 18.600
NU044 7.200 63% 18,600
NU046 7200 | 63% 18.600
NU048 6.200 65% 17.600
R LLi=3 48 (3R 8R) Rl 5 NUO11 25.400 39%
s (IBFR) 5 | NUOI16 25400 | 39% |H:28.600
SR (RER) =R1E B GIRER) % [ NU6O1 .400 66% | AJK:9.100, £:9.000
NU605 500 66% 400, H:9.800
NU607 500 66%
NU609 500 400, H:9.800
NU617 100 67% :9.400
NUB21 400 700
NU625 100 400
aiER NU600 400 :9.100. 7:8.900
NU608 100 :9.400
NU610 400 700
NU612 .400 700
NU614 100 H:9.400
NU622 800 7k:9.500. A:9.400
NU626 700 H:9.000
SR (B =B PR (ARER) $& | _NUSS51 .800 3:10.100
NU557 10.100 k9,800, :8.500
NUS59 800 :8.500. H:10.100
NU563 800 :8.500. B:10.100
NUS65 .000 (7K:8.700. £:7.900
NUS67 700 900, H:9.000
NUS71 .700
NU573 700
EEES NU552 .800 B i
NU556 10.100 :9.800. 7:8.500
NU558 9.000 :8.700. A:7.900
NU560 9,000 :8.700. 7:7.900
NUS62 10.100 :9.800. A:8.100
NU564 10.100
NU566 10.100 7K:9.800.
NU572 9.800 54% | £:8.500. H:10.100




MEEZIS21 1 EERGA~1TAERESD)

EFEAR 2019/10/01

!

3/6-11
RS B4 = BEMIE
AR B %5
KR (BEEE) =hik (FRFR) | KMR (BIFE) % [ NUOO1 23.100 ®:32.000. 1:25.500, H:23.000
NU005 12,400 H:13.800
NU009 10.500 11500, £ H:11.600
SRR (ARER) % | _NU002 9.600 H:10.500
NU004 12.400 H:13.800
NU008 24,600 30,100, +:24,300, H:28,000
R (PE)=R1E HR(RE) S [ NUoTI 23.900 26.000
NU073 23.400 4,400, + B:25.600
RER NU070 22.900 :25.000
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300 | 61% | JsKA:7.900, £:8,100 JIKA:7.000, &:7,100
1900 E
1900
200
200
200
200
300
100
600
600
1900
300
1900
1900
400 )
300 | 51% %+ H:6,600 £ 66,100




M558

15| iBE R (12813~26BEFEH)

SEERMAA - 2019/10/01 ~
2/13-26
=p B4 FBITA %8547
¥ @g@ B0 EE E—5H .
S| #ElE EEES "
KR (BIE) =34 (BB®) | ABR (BAEE) % 16100 | 61% |H:16.200. 16,500, %:17.100. £:17.000. H:15,500 61% | KIK:16,000. %:17.000. £:16,900. H:14500
200 | 78% 80%
10100 | 76% |2:12,600. £ H:11,300 76% 212,200, T H:11.200
) R 10100 | 76% [+ H:11300 76% | H:11,200
200 | 78% | 80%
[ 600 | 58% |%:18.700. H:19,700 62% | JK:17.500, E H:17.200
HRCAE)-GE | RmCHE) 5| ! 800 | 73% | X:19.900, /KA:21,800. % £:20,800 73% :16,900, % F:18,700
100 | 71% | F:18,800. X:19,300, %:20,300. + H:20,800 74%
HERE 800 | 69% 800, 20,900, %:18,800, 1 H:19,800 75%
800 | 73% | J7KA:21,800. H:26000 76%
48 (BB ER) R 12,500 60%
13,000 67%
800, £ H:12,500 69%
000 70%
X 000 70%
000 +:12,000 70%
) R 000 11,500, £ H:12,000 70%
000 11,500, T H:12,000 70% 500, £:10,900. H:11.000
000 111,500, T H:12,000 70% 500, £:10,900, H:11.000
000 13,000 67% :
500 1.700. £ H:12,500 69%
[ 500 12,500 69%
RERCHE)=2% |EZCHA ,000 26,900 65%
EhR 400 24,300 69%
KR (B%)-EE | Ak [ 700 7,300, H:21,300 69%
=Y 700 6,300, 1 B:17,700 77%
M= (R ER) NEARE NU037 200 23,200 61% [T H:22,100
200 23,200 61% [A:
HE (PE) 900 | 66% 7.100. £:17.200. H:16.700 [ _6on |
900 | 64% | A:18.100. £:18,200, H:17.200 67%
100 | 68% | KsK&:15.900. A:17.100 69%
U 100 15,900, 17,100 69%
i (BB 5 |_NU 300 600, 916,100 67%
U 400 8,000, X:16.100. 715,800, £:16,500. H:17,300 66%
U 300 600, 16,100, +:15.400 67%
U 300 600, 15,100, E:14400 69%
L= % (B R uo1 800 7:22,900 6%
i (AL ) 3 | 500 6%
AREH-EE | R R 600 8,300, 7K9,900. £9.700 72% 8,700, %:7,500
200 | 67% _[7k:10,300, £:10,000, £:8.800. £ H9,500 68% 00
200 | 67% 75%
300 | 66% |H:9.600, /KA9500 75% .
600 | 69% k8,300, 7K:10.000. A:9.800 72% | )7.300, 78,600, 8,300
200 | 67% 700, £:9,500 75% | B:7.400, £:7.200
300 | 70% 000, 9,800, %:8,500. T H:8.600 74% _|7K8.300, £:8,100. %:7,500. £ H:7.600
"ER 600 | 69% | X:8.300, 7K:9.400. A:9.300, %:8,500 72% | X:7.300, 7K:8,000, A:7.700.
600 | 69% | X:8.300, 7K:9,700, A:9,500, %:8,500 72% | 7,300, 7K:8,000, A:7.700.
200 | 67% 75%
200 | 67% 75%
600 | 69% 72% | J:7.300, 7KA:8,000, %:7500
500 | 66% 68% 400, 7K:9.00
.200 7 72% 7,300, k%8000, A:7.700
RPE=EE ik (BRER) e 1 ,300 66% A:7.000
,300 6% | k7,000
,300 66% | 5 JoK:7.000
,300 66% | A JK:7.000
400 | 65% 69% 800
400 | 65% 69% |+ 0:6,800
400 | 65% 69% |+ 0:6,800
400 | 65% 69% |+ 5:6,800
EEES 300 1 66% | k7,000
,300 1 66% | k7,000
1700 4 68% | JIKA:6,500
700 4 68% | JIKA:6,500
1900 | 63% 67% | JIKA6.700
300 | 61% 6% | k7,000
900 | 63% 67% 300
1900 | 63% 67% 300
WO =AKE |HECRE) % ,400 35% 43% 700
AAES U212 300 | 51% 455 R | 5500 | 57% [#EE6.100

JTA



I%&BE5 1 EER(11A1~4BEED)

EEHEAR 2019/10/01_~

Lemsrr hermary /1 1172 1173 11/4
= e L o B dy A 8347 B a7 A| S8 47 B SR A7 A| S8 47 B a7 A| BT B

KR () =948 (R E) 1 8,100 32,400 18.300 - 17.300
5 1.100 17.700 9.200 9.200
9 7.900 14,200 11.300 11.300
2 1.100 13.600 13.600 .900
U004 9.200 12,600 9,800 800
008 18.900 .900 20.800 400
RRECPE)=RIE SRR CRIE) # [ _NU07 26,300 .000 24,300 ,300
uo7: 29.300 .000 24.300 4.300
GiE% Uo7 2,300 300 28,500 3,800
U076 | 300 300 33.100 38.200
[ e ) EEE Uo5 1 200 100 15,400 15,400
U053 700 7.100 16.400 16.400
05 200 200 17.400 18,000
061 300 16.000 14.300 15.400
063 300 15,000 14,000 18,800
U065 .000 15.900 15.300 18.300
050 300 19,700 13,600 15400
052 300 19.700 13.600 16.900
054 300 18,600 13,600 22,900
U058 .200 16.300 14.800 25.300
060 700 —— 16.300 18.800 24,500
062 200 16.300 19.900 24,000
RERCRE)=EH 021 .100 54,200 29.100 29,600
2 300 29.600 32.500 54.200
BN 3 9,800 — 47.300 19,800 19,800
TR 086 7.200 .700 28,000 45,700
INA=IE (R ER) INKASE 037 23,200 .800 20.200 20,200
E 200 .200 20.200 7.500
ZHE (PED) =48 (B RS E (PED) U .400 .200 13.900 6.400
u 400 200 18.800 4.300
u 900 8.300 11,000 8,200
u .100 14.600 9.600 18.200
R (BRER) % |_NU 900 14,800 15.900 23,300
u .000 26.300 21.300 8.200
u 000 11,700 16.300 7.300
u 600 10.700 15.300 4.400
FE =38 (IRFR) [ uoi 800 34,200 18,700 8,700
8 (GRE) %[ NUOI 18.700 18.700 23.800 4.200
PRI E) =R 8 (BR7R) 5 [_NU601 | 000 500 500 .400
NU605 300 — .900 600 .900
NU607 600 .900 600 .900
NU609 .600 .900 600 .900
NU617 .000 100 100 100
NU621 600 400 300 7.600
NU625 .000 100 100 100
G5 NU600 .000 100 100 100
NU608 .000 100 100 100

NU610 .600 7.600 7.600 400 —
NU612 600 7.600 7.600 400
NU6T4 300 .700 600 700
NU622 300 600 500 600
NU626 .000 400 400 .900
PR GRE-EE 8 (BRFR) % [_NUS51 | 300 .900 .900 300
NU557 7.900 100 100 100
NU559 7.900 100 100 100
NU563 7.900 100 100 100
NU565 7.200 600 500 1400
NU567 7.200 7.600 7.500 7.400
NU571 7.200 7.600 7.500 7.400
NU573 7.200 7.600 7.500 7.400
EEEd NU552 8.300 8.300 8.300 8.900
NU556 7.800 8.100 8.000 8.100
NU558 7.200 7.500 7.500 7.600
NU560 7.200 7.500 7.500 7.600
NU562 7.600 7.800 7.800 7.800
NU564 7.900 100 100 100
NU566 7.900 100 100 100
NU572 7.900 100 100 100
SRR =AKE [hEGEE) | NU211 7.800 300 300 800

AKBEFE | NU212 6.600 — 600 600 7.000 —




[EBEE EER (12827~3081 %)

EEHEAR 2019/10/01_~

12727 12/28 12/29 12/30
SKAFMMT A BT B REMT A K EMM7 B K 1FMMT A 515947 B[ 15447 A 515417 B]
¢ 23,600

BE417 AL 18547
=] BE =

KR (BAEE) =ik (AER)

5 17.400
9 22,100
2 11.300
U004 9.300
008 19.700
RER(CPE)=7E FR CRE) %[ _NUo7 32.800
uo7: 28.400
BEH Uo7 25,000
U076 | 28.800
EEELE ) [ES U051 500
U053 500
05 .800
061 300
063 400
U065 800
050 100
052 100
054
U058
060
062 .
RRECPAE)=EH 021 50,300
2 22.400
KR (BEE)=R1E 3 28,000
HiER 086
PR E ) IR 037 38,600
] 38,600
ZHE (PED) =48 (B RS E (PED) U 23,400

SR (AR %R) $|_NU

R =348 (AR ) PR LLI 5 uot
4B (IRER) &) NUOT

FEGH-GE | 74 (3E) % NUeoi |
[NU605 |
[NU607 |
[NU609 |
NU617
[NU621 |
NU625
FER NU600
[NUs0s |
NU610
NU612
NU614
[NU622 |
NU626

R =2 s S (ARR) S8 |_NUS51
NU557
NU559
NU563
NU565
NU567
NU571
NU573
BEE NU552
NU556
NU558
NU560
NU562
NU564
NU566
NU572

SRR =AKE | bR GRER) S| NU211
k@ [ NU212

Gl e e e e e el e e e e e e e e e e e el el el e




SEEEAE 2019/10/01_~
be 18547 e 8847 12,51
=R ma [ S (@7 A £ Es17H
5| maa | @mm
KR (BAEE) =ik (AER) 1 23,500
5 600
9 300
2 300
U004 000
008 .900
RER(CPE)=7E FR CRE) %[ _NUo7 33,800
uo7: 29.400
GiE% Uo7 25,500
U076 | 29.600
EEELE ) [ES U051 .500
U053 500
05 500
061 100
063 100
U065 400
050 500
052 500
054 500
U058 100
060 600
062 .700
RRECPAE)=EH 021 .500
2 4.300
KR (BEE)=R1E 3 26.500
Al 086 21,100
PR E ) INEASE 037 38,600
] 38,600
AEE (PED) =R (BB RS E (PED) U 26,700
u 21.700
u 26,700
u 26.700
SRR (ARER) [N 6.800
u 8.800
u 7.800
u 6.800
FELL=;h 48 (BRFH) L% uot B 7.400
8 (GRE) %[ NUOI 5H 26.300
R (RE)=aE B (ARFR) 5| _NU601 | 5H 9.900
NU605 5H 10.100
NU607 5H 10,100
NU609 5H 10.100
NU617 5H .800
NU621 5H .700
NU625 5H 500
G5 NU600 5H .900
NU608 5H 10,000
NU610 5H 9.800
NU612 5H 9,800
NU6T4 5H 10.000
NU622 5H .800
NU626 5H .800
REBH)-EE 8 (ARFR) 5 [_NUS51 5H .900
NU557 5H .700
NU559 5H 700
NU563 5H 700
NU565 5H 100
NU567 5H 100
NU571 5H .400
NU573 5H .400
EEEd NU552 5H .300
NU556 5H .700
NU558 5H .400
NU560 5H .400
NU562 5H 300
NU564 5H 600
NU566 5H 600
NU572 5H 600
SRR =AKE [hEGEE) | NU211 5H 10,000
AKBEFE | NU212 5H 7.900

rEBE5 1 ESR(12A318EBEY)

JTA



rEBEE EER(A1~4BEES)

EEHEAR 2019/10/01_~

bemaqr Ak ima47 1/1 1/2 1/3 1/4
= Ga [ P 857 A 5t 57 B| S 47 A 578007 B| S 18317 A| S18547 B 5 547 Al S 47
S| #mem | mam | was | sew | smw | sas | sas | sEw
KB (BEEE) =38 (GRE) 1 5900 14,900
5 1.300
9 1.300
2 .800
U004 ,900
008 .800
RRCAE)-GE | Rm (AE) %[ NU0T 300
uo7. .800
RiER Uo7t 28,300
U076 | 600
TR HL ) FE U051 500
U053 500
05 .500
061 .500
063 .500
U065 .500
050 ,000
052 .100
054 ,900
U058 .400
060 ,000
062 700
BR(PHE)=-Ed 021 25,700
2 26.400
K (BdE)=HiE 3 21,700
HiEH 086 21.100
PR E ) INEASE 037 30,600
E 40.600
BB (P E) - Hl OB [ /2 (P 85) _NU 20.400
U 20.500
U ,400
U .400
SRR (ARER) [N 400
U .200
U 20.400
U 19.400
L= 8l ) EED Uoi LA | 25.500
48 (AREE) & [ NUOT 5H 26.300
FEGH-GE | 74 (3E) % NUeoi | SE [ 9.600
NU605 5H 10.000
NU607 56 10.100
NU609 5H 10.100
NU617 56 .800
NU621 5H 700
NU625 56 .800
RiEH NU600 5H .600
NU608 56 .800
NU610 5H .800
NU612 56 .800
NU614 5H 10.000
NU622 56 10.100
NU626 5H 700
RAGH-ES | FHE) % NUss1 | 5H 300
NU557 5H .700
NU559 56 700
NU563 5H .700
NU565 56 400
NU567 5H .400
NUS571 56 400
NU573 5H .400
BEHE NU552 56 ,600
NU556 5H .700
NU558 56 400
NU560 5H .400
NU562 56 400
NU564 5H .700
NU566 56 ,700
NU572 5H .700
RGBT =AKE PR GIRER) $&| NU211 56 10.000
AKBFE NU212 5H 7.900




rEBE5 EER(1A5~6HEBED)

EEHEAR 2019/10/01_~

1/5 1/6
FoRs47 Al 75| o517 Al 3176
oy | #mem | mmm | saa | s=wm

BE417 AL 18547
=] BE =

KR (BAEE) =ik (AER) 1 12,600
5 9.500
9 9500

2
U004 23400
008 23.100
RER(CPE)=7E FR CRE) %[ _NUo7 23,800
uo7: 7.000
RiER Uo7 4,500
U076 | 7.100
EEELE ) [ES U051 100
U053 100
05 100
061 700
U063 | .800
U065 800
050 200
052 .200
054 700
U058 .200
U060 | .500
U062 _| 100
RRECPAE)=EH 021 26.900
2 23.900

KR (BEE)=R1E 3 17.700
HiER 086 25.900

INA=IE (R ER) IR 037 25,200
] 600

AEE (PED) =R (BB RS E (PED) U 500
u .900

u 500

u 500

SR (AR %R) $|_NU 20.300

u 29.600

u 21,300

u 20.300

R Li=3h 8 (IR FR) FEILLS uot B 21.500
8 (GRE) %[ NUOI 58 39.600

R (RE)=aE B (ARFR) 5| _NU601 | 58 8.500
NU605 5H 10.000

NU607 5H 10,000

NU609 5H 10.000

NU617 5H 600

NU621 5H 600

NU625 5H 600

G5 NU600 5H 700

NU608 5H 10.200

NU610 5H 9.800

NU612 5H 9,800

NU6T4 5H 10.100

NU622 5H 10.100

NU626 5H 10.100

iR (RER) =EE 8 (ARFR) 5 [_NUS51 5H .600
NU557 5H 100

NU559 5H 100

NU563 5H 100

NU565 5H 500

NU567 5H 7.500

NU571 5H 7.500

NU573 5H 7.500

EEEd NU552 5H 600

NU556 5H 500

NU558 5H 800

NU560 5H 7.800

NU562 5H .400

NU564 5H .700

NU566 5H 700

NU572 5H .700

B RB) =AKkE [ EGRE) [ NU211 5H 10,000
AXEE | NU212 58 7.900




SR
TEFEEI SEER(1AT~9ABESD)
EEEAE . 2019/10/01 ~
779
FRITA FEE
=P el me— = = =
| E | #iEiE BAM i
KB (BH78) =ik (BBER) | KR (BdE) % 19,500 50% 45 B

200 76% 458
500 76% 458
iR (BE) 100 7% 258
200 76% 458
[ 100 | 59% 458
RECHE)=RE EEACEEES 600 70% 458
400 | 73% 458
BER 000 | 67% 458
000 | 69% 458
48 (BB ER) R 700 66% 256
200 | 64% 458
700 | 66% 458
700 | 66% 458
700 | 66% 458
700 | 66% 458
iR (BE) .700 66% 258
700 | 66% 458
700 | 66% 458
200 | 64% 458
700 | 66% 458
[ 700 | 66% 458
R (FE) =28 [HZ(PH 400 60% 256
EER 800 | 64% 458
KR (@) =FE [ XK [ ! 800 66% 45H
=y 800 | 70% 458
A=A GIRER) I NU037 .200 57% 4508
200 | 57% 458
HIE (PE) H_NU04S 600 | 69% 458
0045 000 | 66% 458
0047 000 | 66% 458
U 000 | 66% 458

P (B8 % |_NU 800 | 69% | 14200 450 RA3700
U 800 | 66% 458
U 300 | 68% 458
U 200 | 70% 458
FE L= (BB ER) 800 57% 258
ik (BRER) % | ,800 57% 258
R (BER)=RE iR (BE) ,300 68% 4508
300 | 68% 458
600 75% 458
300 | 68% 458
,000 70% 458
600 75% 458
,000 70% 458
BER ,000 70% 458
,000 70% 458
600 75% 458
600 75% 458
300 | 68% 458
300 | 68% 458
,000 7 15H
RPE=EE ik (BRER) e 1 900 458
900 w58
900 w58
900 w58
200 w58
200 w58
200 w58
200 w58
EEE] 900 450
800 1 450
200 4 450
200 4 458
600 w58
900 w58
900 w58
900 w58
MOBB)-AKE | s G % 700 | 450
ARES ,300 49% 258

JTA



rse

15| SEER (1 B14~2081%5)

EEEAE . 2019/10/01 ~
714-20
=R % - FBITA 5 %8547
A | agm | B8 FF
ana | nnd i A ki
KR (BT =% (BH) | KBk (BAE) & 19500 | 50% |&F B:15500 4587 | % +:15400. B:14500
200 76% 458
500 76% |%:9.800.  H:10.700 458
) R 900 77% |+ B:10,000 455
200 6% | 458
[t 100 | 59% [:18900. £ H:18100 458 16,000, B:17.200
RR(E)-RE | AR (AE) R | ! 000 |_72% [+ 520900 458
400 | 73% |+ H:20,500 458
BER 100 | 70% |+ H:21,900 458
000 | 69% [H+:23000. B:25,100 458 1,000, £:17.300. H:23000
48 (BB ER) R 700 256
200 458
700 458 200
700 458 700
700 458 700
700 458 700, H:10,300
iR (BE) .700 258
700 458
700 458
200 458
700
[t 700
R (FE) =28 [HZ(PH 400
EER 800
KR (BB -EE | AR [ 800 | 66% 500, H:19,300
=Y 300 | 69% 17.800, 118,200, H:19.500
MASHE (R | A% | NUosT 200 | 57% |+ H:2321
200 | 57% 200
EHGED) 000 | 68% 600, %:15,000, + H:15,200
000 | 66% |%:15,300, + H:16,300
400 | 67% [%:14900, £:16,300
U 400 | 67% |%:19.600. £:16,300
i (B 5[ _NU 300 | 68% |H%:15.100. 800, H:16,300
U 800 | 66% | 415,500, H:16,800
U 300 | 68% | H%:15.100 800, H:16,300
U 200 | 70% | H%:14,100. 800, H:15,300
L= 48 (B ) uo1 800 | 57% |%+:27.100, B:20,900
S (I8 % | 800 | 67% |B:27,101 800
HRGRE-EE | HRGRE R 300 | 68% |/ E:8600, & 1:8,400 17500, % +:7.300
300 | 68% [& 1 H8500 £+ 58400
600 75%
300 | 68% |[& T H8400
,000 70% | F:8.300, %+ H:8,400 57,200, % T B:7,300
600 75%
,000 70% |& T B:8,100 157200
RER ,000 70% |% T B:8,100 &+ 07200
,000 70% |% T B:8,100 £+ 07200
600 75%
600 75%
300 | 68% 8500 7.200
300 | 68% 8,500 £ H8400
,000 70% 8300 .
RPE=EE ik (BRER) e 1 ,300 59% 7KA:7.900 000
900 1 £ H:8,100 +8:7.100
900 1 £ H:8.100 100
900 1 £ H:8.100 100
200 £ H:7.400 400
200 £ H:7.400 £ 66,400
200 £ H:7.400 400
200 £ H:7.400 400
BaR 300 59% | JOKA:7.900 I IKA:7.000
800 1 + H:8000 +5:7.200
200 4 £ H:7.400 400
200 4 £ H:7.400 400
600 £ H:7.800 800
900 £ H:8.100 £8:7.100
900 £ H:8.100 100
900 £ H:8.100 100
ORI =A% [ CGRE) % 700 | ¢ £ H:7.800 700
AAES U212 300 | 49% %+ H:6,600 £ 66,100

JTA



T&BEI5| SEER(1A21~31BEESD)

EFERAE ;. 2019/10/01 ~

AR
=R % - FBITA %8547
s | Ena | BEH %
KR (BIE) =34 (BB®) | ABR (BAEE) % 19500 | 50% |A:15.600. & H:15.500, £:19.700 15,500, 115,400, L
200 | 76%
500 | 76% |%9.800. T H:10.700
) R 900 | 77% [+ H:10000
200 | 76% N
[ 100 | 59% |& 18,100 455 16,000, H:17.200
HRCAE)-GE | RmCHE) 5| ! 000 | 72% | A:20.200, £:22.300. £.:22,900. H:20900 455 21,100, £:21,200
400 455 20,100, £:20,500
BER 100 455 18,900
000 455 1,000, % £:17.300. H:23.000
EIE) AER 700 455 £ 6:10.700
200 11,200
700 200
700 700
700 700
700 700, H:10.300
) R 700
700
700
200 2,100
700 1,200, H:11,600
700 1,600
RRCAB)=2d [HRCHA 400 27,300
2 800 24,800
AR(BE)-GE | AR [ 800 20,500, H:19,300
=Y 300 17.800, 118,200, H:19.500
N (BB ER) AR 0037 200 | 57% |+ 023,200
200 | 57% | H:23,200
HE (PE) 000 | 68% | F:14.600. %:15,000. £ H:15,200
000 | 66% |%:15,300, + H:16,300
400 | 67% 6,300
U 400 | 67% 300
i (BB 5 |_NU 300 | 68% 14,800, H:16,300
U 800 | 66% 6,800
U 300 | 68% 14,800, H:16,300
U 200 | 70% 13,800, H:15,300
L= % (B R G uot 800 | 57% 20,900 X
Sl (R | 800 | 57% 7.100 [%:17.600, H:16.800
ARAH)-EE | ARTHR 000 | 70% £8:7.300
300 | 68% + 56,400
600 | 75%
300 | 684 [& 1 H8.400
000 | 70% | H:8300. %X H8.400 7200 % X H:7.300
600 | 75%
000 | 70% [&EH8.100 & H:7.200
BER 000 | 70% [#EH8100 &1 H:7.200
000 | 70% [t H8100 &1 H:7.200
600 | 75%
600 | 75%
300 | 68% 8500 7.200
300 | 68% 8500 % T H:8400
000 | 70% 8300 .
ARAB)-EE | AR | ! 300 | 69% | k7KA:7.900 000
1900 1 + 58,100 +8:7.100
1900 1 £ 58,100 100
1900 1 £ 58,100 100
200 £ 6:7.400 400
200 £ 6:7.400 £ 66,400
200 £ 6:7.400 400
200 £ 6:7.400 400
EEES 300 | 69% | k7KA:7.900 I IKA:7.000
800 1 + 6:8,000 +5:7.200
200 4 £ 6:7.400 400
200 4 £ 6:7.400 400
600 £ 5:7.800 800
1900 £ 58,100 £8:7.100
1900 £ 58,100 100
1900 £ 58,100 100
ORI =A% [ CGRE) % 700 | ¢ £ H:7.800 700
AAES U212 300 | 49% %+ H:6,600 £ 66,100




48 ooy s AE
TERBEI5 1 EER(2A1~3BEED)
EEERE 2019/10/01 ~
2/1-3
=40 B4 - FBITA %®3{7B
| mma | IRE o (5]
KB (B7a) =34 (B8R) | KBR (R8ew) % 14,600 63% | £:20,600. H:16.400 £.19,600. H.15.400
,200 76%
10,700 73% | H:9.500 H.9.400
R ) 5 900 | 75% | F:8.800 ER
200 76%
| 1 100 59% 18,100 £:16,000, H:18,000
RR(E)-RE | AR (AE) R | ! 200 |64 300 F.23.700. 022,300
,800 65% .800 9,800
BEHR ,200 66% 1300 2,900, H:23,000
400 61% ,300 2,300
8 (FRE) EER 700 66% 1600 0,700
200 64% 100, H:11.700 1,200, H.10.800
.200 64% ,600, H:10,700 ,700, H:9.800
.600 63%
.600 63%
.600 63%
R ) 5 600 | 634 |
.600 63%
.600 63%
,100 62%
.600 63%
[ 1 600 | 63% |
R (FE) =28 [HZ(PH 300 57%
EhH ,800 61%
KR (BA@)=RE | KR | 1 9,100 65%
1% 7,100 69%
NI GV ER) NS U037 4200 | _48% |
1,200 55%
HE (hE) ,600 67%
,300 63%
,300 68%
U ,300 68%
R CIRR) 3 |_NU 100 | 664 |
U ,500 65% 14,800, H:16,800
U ,100 66% 14,800, H:16,300
U ,100 68% 13,800, H:15,300
L= G 700 | 524 [£27.100
o (B 5 | 700 | 524
SR GBE)=RE | e B % 400 | 68%
,500 68%
,500 68%
,500 68%
400 68% 7200
600 75%
100 69% 7,000
RER 100 69% 57,000
100 69% 57,000
600 75%
600 75%
,500 68%
,500 68%
,300 68%
FRAB-EE | R OE 5| ! 300 | 59% |
,100 60%
,100 60%
,100 60%
400 63%
400 63%
400 63%
400 63%
B 300 | 504 |
,000 60%
400 63%
400 63%
800 61%
,100 60%
,100 60%
,100 60%
WO -AKE |SECIRE 800 | _a7% | :
AKEF ,600 46% 458 100 50%

JTA



T%BE5 EER(2A12~18BERS)

EEEAE . 2019/10/01 ~
2/12-18
FBITA %8547
[=30] E% == -
¥ EwaE | BR TR | grem | B8
BAE | pisix % maw | EE | ysie %
KR (BT =% (BH) | KBk (BAE) & 14600 | 63% |&F:15500. H:16,400 45871 | 14500 | 63% |& T H:15400
200 76% 45871 | 8300 | 79%
500 76% |%:9.800.  H:10.700 45871 | 9400 | 76%
R E) R 900 77% |+ B:10,000 45871 | 8800 | 77%
200 76% 45871 | 8300 | 79%
[ 100 | 59% [&H:18,100 45871 | 15800 | 60% 16,000
RHR(CAE)=RE BER(FE) [ 1300 45H% | 21,900 68% 23,800, H:22,300
800 45871 | 19800 | 71% 20,800, & B:21.700
RER 300 4581 | 21100 | 69% 2,900, H:23,100
300 45871 | 22300 | 67% 24,300
e BERE 700 | 66% 1,600 45871 | 9800 | 69% 0,700
200 | 64% 2,100, B:11,700 45871 | 10300 | 67% 1,00, B:10800
700 | 66% 1,600 45871 | 9800 | 69% 0,700
700 | 66% 45871 | 9800 | 69% 700
700 | 66% 45871 | 9800 | 69% 700
700 | 66% 45871 | 9800 | 69% 700
i E) R 700 | 66% 4581 | 9800 | 69% 700
700 | 66% 45871 | 9800 | 69% 700
700 | 66% 45871 | 9800 | 69% 700
200 | 64% 45871 | 10300 | 67% |4 200
700 | 66% 45871 | 9800 | 69%
[t 700 | 66% 4581 | 9800 | 69%
R (FE) =28 [HZ(PH 400 60% 45HB | 23400 63%
EhR 800 | 64% 45871 | 20900 | 67"
KR (B%)-EE | Ak [ 800 | 68% 45871 | 16.100 | 7
=Y 300 | 69% 45871 | 15600 | 7: 16,900
M= (R ER) NEARE NU037 200 | 55% 45871 | 20200 | 5 0
200 | 55% 45871 | 20200 | 5
HIE (PE) H_NU04S 000 | 68% 5,000, T H:15.200 45871 | 11800 | 7 00, JK:11,900, %:13,300. + H:12.900
0045 000 | 66% 16,300 45871 | 13600 | 69% 000
0047 400 | 67% :16,300 45871 | 13300 | 70%
U 400 | 67% 300 45871 | 13300 | 70%
i (B 5[ _NU 300 | 68% 14,800, B:16,300 45871 | 13600 | 69%
U 800 | 66% A0 6,800 45871 | 14200 | 68%
U 300 | 68% [H%:15100, +:14800. B:16,300 45871 | 13600 | 69%
U 200 | 70% | H%:14,100, +:13.800, B:15,300 4581 | 12600 | 71%
TR \Li=3 % (3R R) uoi 700 | 52% £:27,100 45871 | 17600 | 55%
Sl (R | 700 | 52% 7 45871 | 17600 | 55%
AREH-EE | R R 000 70% £ H:8.400 45881 | 7000 | 7
300 | _68% [& 1 H:8500 4581 | 8000 | 7 £ H:8400
300 | 68% [& 1 H:8500 4581 | 8000 | 7
300 | 68% [& 1 H:8500 45881 | 8000 | 7
,000 70% |+ B:8,100 45881 | 7000 | 73% |&TH7.200
600 75% 45HT | 5900 7
,000 70% |& T B:8,100 45BF1| 7000 | 73% |&TH7.200
RER ,000 70% |% T B:8,100 45881 | 7000 | 73% |&FH:7.200
,000 70% |% T B:8,100 45BF1| 7000 | 73% |&TH:7.200
600 75% 45HT | 5900 7
600 75% 45HB | 5900 7
300 | 68% 8500 45881 | 7500 | 7 7.200
300 | 68% 8,500 4581 | 8000 | 7 £ H8400
,000 70% 8,300 45881 | 7000 | 7 .
ARED) -EE | ARG | 300 50% | JOKA:7.900 45881 | 7300 | 000
900 1 £ H:8,100 45881 | 6900 | 66% |[&+H7.100
900 1 £ H:8.100 45881 | 6900 | 66% 100
900 1 £ H:8.100 45881 | 6900 | 66% 100
200 £ H:7.400 45881 | 6200 | 69% 400
200 £ H:7.400 45871 | 6200 | 69% |&TH6400
200 £ H:7.400 45881 | 6200 | 69% 400
200 £ H:7.400 4581 | 6200 | 69% 400
EEES 300 59% | JOKA:7.900 45871 | 7300 | 64% | AKA7.000
800 1 + H:8000 45881 | 7000 | 65% |&+H:7.200
200 4 £ H:7.400 45881 | 6200 | 69% 400
200 4 £ H:7.400 45881 | 6200 | 69% 400
600 £ H:7.800 45BH1| 6600 | 67% 800
900 £ H:8.100 4581 | 6900 | 66% |[&FH7.100
900 £ H:8.100 45881 | 6900 | 66% 100
900 £ H:8.100 45881 | 6900 | 66% 100
WO =AKE |HECRE) % 700 | ¢ + 87,800 45881 | 7.400 40% 700
AAES 300 | 49% %+ H:6,600 4581 | 5500 | 55% |&TE6100

JTA



48 ooy s AE
TERBEI5 EER (2A19~29BEFRS)
EEEAE . 2019/10/01 ~
2/19-202/25-29
=p B4 FBITA %8547
T | mna | DR "% 7R | eam %
—E | #iEiE BAM | T "
KR (BIE) =34 (BB®) | ABR (BAEE) % 14600 | 63% |7K.18,500. & E:15,500 45E8T | 14500 | 63% [K17.400. & 1:15400
200 76% 45ER | 8300 | 79%
500 76% | 9,000, %:9.800. £:10,700 45ERI | 9.400 | 76% [ 28,900, £:10,600
) R 500 76% | £:10.700 4558 | 9.100 | 77% [%9.400. £:10,600
200 76% 45ERI | 8300 | 79%
[t 100 | 59% [%:18,100 45581 | 15800 | 60%
HRCAE)-GE | RmCHE) 5| ! 300 | 67% | A%:23.200_ 25300 45ERI | 21900 | 68%
800 | 68% |Auw2 00, £:24,900 45ERI | 19800 | 71%
RER 300 | 68% | A%:22.200, £:24,200 45ERI | 21100 | 69%
300 | 64% | +:26900 45E R | 22300 | 67%
e BERE 700 | 66% | AE:11,600 45ER | 9.800 | 69% 10.700
200 | 64% 2,100, %:11.700, £:12,600 45581 | 10300 | 67% 1.200, £:10,800. £:11.700
700 | 66% 45ERT | 9.800 | 69% [A:10700
700 | 66% 45ER | 9.800 | 69% 700
700 | 66% 45ER | 9.800 | 69% 700
700 | 66% 45ER | 9.800 | 69% 700
) R 700 | 66% 45ER | 9.800 | 69% 700
700 | 66% 45ER | 9.800 | 69% 700
700 | 66% 11,200, 12,100 45ER | 9.800 | 69% 0,300, £:11.200
200 | 64% |A+:12.100 45581 | 10300
700 | 66% 2,100, %:11,200 4558 | 9.800
[ 700 | 66% 1,600 4558 | 9.800
R (FE) =28 [HZ(PH 400 60% 00, £:27.300 45HB | 23400
EhR 800 | 64% | A%:23.700_ F:25700 45E 8 | 20900
KR (B%)-EE | Ak [ 800 17100, %:18,800. 20500 45581 | 16100
=Y 300 | 69% |%:17.800, +:18,400 45581 | 15600
M= (R ER) NEARE NU037 200 | 65% |+:24200 45E A1 | 20200
200 | 55% 4558 | 20200
HIE (PE) H_NU04S 200 | 68% | A:15.100, %:15,000, £:16,300 45581 | 11900
0045 000 | 66% | A%:16,000, £:17,300 45E A | 13.600
0047 400 | 67% |%:14900. +:16,300 45581 | 13.300
U 400 | 67% |£:20,100. £:16,300 45581 | 13.300
i (BB 5 |_NU 300 | 68% 900, 115,100, E:14,800 45E AT | 14900
U 800 | 66% |%+:15800 45E AT | 14200
U 300 | 68% 6,100, £:15,800 45E A | 13.600
U 200 | 70% 5,100, £:14,800 45E AT | 12600
TR \Li=3 % (3R R) uoi 700 | 52% |%+:27.100 45E AT | 17.600
Sl (R | 700 45581 | 17600
R (BER)=RE iR (BE) ,000 45H7 [ 7.000
,300 4558 | 8,000 | 7
300 4558 | 8,000 | 7
300 4558 | 8000 | 7
,000 4558 | 7000 | 7 500, 7,400
600 4558 | 5900 | 7 800, & 16,900
,000 4558 | 7.000 | 7 +:7.200
BER ,000 4558 | 7.000 | 7 500, £:7,400
,000 4558 | 7.000 | 7 500, 7,400
100 45HBT | 6500 7
100 45HT | 6500 7
300 45E R | 7200 | 7
300 4558 | 8,000 | 7
,000 4558 | 7000 | 7
RPE=EE EIE TS I 900 45HET | 7.000 65%
1900 45E R | 6,900 | 66%
1900 45E R | 6,900 | 66%
1900 45E A | 6900 | 66%
200 45ER | 6.200 | 69%
200 45E R | 6200 | 69%
200 45E R | 6200 | 69%
200 45ER | 6200 | 69% 6,800, £:6,600
EEES 900 45E R | 7.000 | 654
800 4558 | 7.000 | 654
200 45E R | 6200 | 69% 6,800, £:6,600
200 45E R | 6200 | 69% 6,800, +:6,600
600 45E R | 6600 | 67% 7,100, £:6,900
1900 45E R | 6,900 | 664 7,300, £:7.200
1900 45E R | 6.900 | 664 7,300, £:7,200
1900 45E A | 6,900 | 664 7,300, £:7.200
WO =AKE |HECRE) % 700 45881 | 7.400 40%
AKEFH U212 ,300 458 A 5,500 55%

JTA



MEB8E5 1 BER(1A10~13BEES)

EEHEAR 2019/10/01_~

bt 18447 A 18447 1/10 1/11 1/12 1/13
= Ga [ P 857 A 5t 57 B| S 47 A 578007 B| S 18317 Al F18547 B 5 507 Al 51847
S| #mem | mam | was | sew | smw | sas | sas | sEw
KB (BEEE) =38 (GRE) 1 17.900
5 9.500
9 10.800
2 9.500
U004 9.200
008 18.900
RRCAE)-GE | Rm (AE) %[ NU0T 23200
uo7. 22.800
RIER Uo7 20.200
U076 | 400
TR HL ) FE U051 600
U053 700
05 .600
061 700
063 ,700
U065 700
050 ,700
052 700
054 .200
U058 100
060 .800
062 .600
BR(PHE)=-Ed 021 32800
2 25.100
K (BdE)=HiE 3 18,800
HiEH 086 16.700
PR E ) INEASE 037 20.200
E 20.200
BB (P E) - Hl OB [ /2 (P 85) _NU 400
U .500
U ,300
U 100
SRR (ARER) [N ,000
U .000
U ,000
U .000
L= 8l ) EIES Uoi E 800
48 (AREE) & [ NUOT 5H 16.800
FEGH-GE | 74 (3E) % NUeoi | 56 700
NU605 5H .900
NU607 56 .600
NU609 5H .400
NU617 56 400
NU621 5H .600
NU625 56 400
RiEH NU600 5H .400
NU608 56 400
NU610 5H .600
NU612 56 .600
NU614 5H .900
NU622 56 ,900
NU626 5H .400
RAGH-ES | FHE) % NUss1 | 5H 300
NU557 5H .300
NU559 56 .300
NU563 5H .300
NU565 56 700
NU567 5H 7.700
NUS571 56 7.700
NU573 5H 7.700
BEHE NU552 56 .300
NU556 5H .100
NU558 56 700
NU560 5H 7.700
NU562 56 1900
NU564 5H .300
NU566 56 .300
NU572 5H .300
RGBT =AKE PR GIRER) $&| NU211 56 800
AKBFE NU212 5H .600




rEJE5 EER(QR4~THRRES)

EEHEAR 2019/10/01_~

bemaqr Ak ima47 2/4 2/5 2/6 2/7
= Ga [ P 857 A 5t 57 B| S 47 A 578017 B| S 18317 Al S18547 B 5 547 Al 847
S| #mem | mam | was | sew | smw | sas | sas | sEw

KB (BEEE) =38 (GRE) 1 T 14,600 14,500 20,100

5 .200 8.300 9.600

9 .500 9.400 10.100

2 .800 8.700 8.700
U004 200
008 100
RRCAE)-GE | Rm (AE) %[ NU0T 300
uo7. .800
RiIER Uo7t .300
U076 | 300
TR HL ) FE Uost 700
U053 200
05 ,700
061 700
063 ,700
U065 700
050 ,700
052 700
054 ,700
U058 .200
060 ,700
062 700
RERCRE)=EH 021 25,400
2 2.800
K (BdE)=HiE 3 7.700
HiEH 086 7.100
T e ) IS 037 200
E .200
BB (P E) - Hl OB [ /2 (P 85) _NU 400
U .000
U .300
U .300
SRR (ARER) [N .300
U .800
U .300
U .200
L= 8l ) EED Uoi E 700
48 (AREE) & [ NUOT 5H 18.700
FEGH-GE | 74 (3E) % NUeoi | 56 000
NU605 5H .300
NU607 56 .300
NU609 5H .300
NU617 56 ,000
NU621 5H .600
NU625 56 ,000
RiEH NU600 5H .000
NU608 56 ,000
NU610 5H .600
NU612 56 .600
NU614 5H .300
NU622 56 .300
NU626 5H .000
RAGH-ES | FHE) % NUss1 | 5H 900
NU557 5H 7.900
NU559 56 7.900
NU563 5H 7.900
NU565 56 7.200
NU567 5H 7.200
NUS571 56 7.200
NU573 5H 7.200
BEHE NU552 56 7.900
NU556 5H 7.800
NU558 56 7.200
NU560 5H 7.200
NU562 56 7.600
NU564 5H 7.900
NU566 56 7.900
NU572 5H 7.900
RGBT =AKE PR GIRER) $&| NU211 56 7.700
AKBFE NU212 5H 6.300




MEBE5 1 BEER (2A8~11BEEY)

EEHEAR 2019/10/01_~

bemaqr Ak ima47 2/8 2/9 2/10 2/11
= Ga [ P 857 A 5t 57 B| S 47 A 578017 B| S 18317 Al F18547 B 5 507 Al S 47
S| #mem | mam | was | sew | smw | sas | sas | sEw
ENACEET e i 400
5 .000
9 .000
2 .000
U004 9.200
008 9.900
RECRE)-AE | 3R GHE) 5| NUOT 7,100
uo7: 7.100
BER Uo7 4,600
U076 | 300 26.
TR D) TER | NUOs1 100 i0;
U053 900 1.
05 100 10,
061 .600 10,
063 .600 10,
U065 .100 10,
050 600 | 11
052 600 [ 1.
U054 | 200 T
U058 .200 12,
060 1200 | 11
062 .700 1
R (PE) =28 021 26,400 26.
2 23,800 |23,
KR (BEE) =R1E 3 26700 1
HiE% 086 .100 2!
INR=4E (RER) [ /g | 037 1200 2
E .200 2
BB (PH) = CIE) B &1 2 (&) H_NU 900 i
U 9.000 17
u 7.300 T
U 7.300 [ 16
R 5| NU 5.300 6
U 6.800 1
U 5.800
U 4.800
L= G ) % | nuot ] | 26,000
4B (IRER) &) NUOT 5H 19.800
FRGW-aE | G 5 [ NUGO! | 56 400
NU605 5H .900
NU607 5H .900
NU609 5H .900
NU617 5H .500
NU621 5H 7.900
NU625 5H .400
REHF NU600 5H .300
NU608 5H .100
NU610 5H 7.100
NU612 5H .100
NU614 5H .300
NU622 5H .900
NU626 5H .100
ARG -Ea | R GB) % | NUSST 56 900
NU557 5H .300
NU559 5H .300
NU563 5H .300
NU565 5H 200
NU567 5H 7.200
NU571 5H 7.200
NU573 5H 7.200
BERE NU552 5H .300
NU556 5H .100
NU558 5H 200
NU560 5H 7.200
NU562 5H .900
NU564 5H .300
NU566 5H .300
NU572 5H .300
SRR (BT =AKE P48 GIRER) | NU211 5H .800
AKBFE NU212 5H .600




MEBE5| 1 BER (2A21~24BEES)

EEHEAR 2019/10/01_~

2721 2722 2/23 2724
15547 A| 518547 B 18547 A| 18447 B %15547°A| 518547 B £15547 A 5185178

BE417 AL 18547
=] BE =

KR (BAEE) =ik (AER) 1 15.500
5 9.200
9 10.100

2 9.500

U004 9.200

008 8.100

RRECPE)=RIE FR CRE) %[ _NUo7 4,200
uo7: 4.200

RiER Uo7 1.300

U076 | 300

EEELE ) [ES U051 .700
U053 200

05 700

061 700

U063 | .700

U065 200

050 700

052 700

054 200

U058 .200

060 700

U062 _| .700

RRECPAE)=EH 021 32.800
2 3.700

K (BdE)=HiE U083 | 8.800
HiER 086 7.800

PR E ) IR 037 ,200
] .200

ZHE (PED) =48 (B RS E (PED) U 800
u .900

u 200

u 7.100

SR (AR %R) $|_NU 800

u 1400

u .800

u 800

R Li=3h 8 (IR FR) L% uot B .100
#E (ARER) $& | NUOT 5H 18.700

ik (%) =R1E S (AR%R) 56| _NU601 | 58 .300
NU605 5H .900

NU607 5H .900

NU609 5H .900

NU617 5H .400

NU621 5H 600

NU625 5H 300

G5 NU600 5H 300

NU608 5H 300

NU610 5H .600

NU612 5H 600

NU6T4 5H 300

NU622 5H 500

NU626 5H 300

iR (RER) =EE 8 (ARFR) 5 [_NUS51 5H .300
NU557 5H 100

NU559 5H 100

NU563 5H 100

NU565 5H 1400

NU567 5H 7.400

NU571 5H 7.400

NU573 5H 7.400

EEEd NU552 5H 300

NU556 5H .000

NU558 5H 1400

NU560 5H 7.400

NU562 5H 800

NU564 5H 100

NU566 5H 100

NU572 5H 100

B RB) =AKkE [ EGRE) [ NU211 5H 800
AXEE | NU212 58 600




48 ooy s AE
TEFEEI SEERGRAI~5ABESD)
EEERE 2019/10/01 ~
3/1-5
FEHTA FHHIB
B Rl r—e o A ang [E7F o
| #EiE mAL | US| wpiE "
KB (BH78) =3k 8 (BBER) | KR (R78) 5% 18.500 56% | H:16,400 58% | H:15400
,200 78% 80%
,.800 76% | H:10,800 7%
R IR ER) % ,900 79% | H:9.700 79%
200 78% 80%
[ ,100 52% 18,100 62%
HECRE)=RIE HR CHE) #[ 8 ,200 67% | H:25.300 68%
,700 68% 24,900 %
RiEH ,200 68% | H:24,200 69%
,300 27,400 87%
8 (RE) [T 200 67%
,700 ,400 65% ,500
,200 ,100 7 700
,200 ,100 700
,200 ,100 700
,200 ,100 700
R ) 5 200
,200
,200 ,100
,700 ,600 65%
,200 ,100 87%
[ 1 200 1:13,100 67%
HRCRE)-E28 |[HECHA 300 60% 28,200 63%
EhH ,700 64% 25,700 87%
KR (BA@)=RE | KR [t 000 | 69% |H:19.900 72
1% ,500 2% 7,600 3%
IN=FER (BDER) IMASE NU037 200 57% 200 59%
.200 57% 59% A
HE (hE) U043 ,900 66% ,800, H:17,300 75 000, :12,900, H:13,600
U045 ,800 64% ,900, H:18,200 67 :16,800
U047 ,700 73% ,900 74¢ X:12,300
U ,700 73% ,900 74¢ 212,300
SR (IR ER) 5 [_NU 800 75% | H:16.500 7 ,200
U ,800 66% 1:16,800, H:17,800 6 ,800
U ,300 67% ,800, H:17,800 6 ,400, H:16,800
U ,300 69% 1:15,800, H:16,800 7 ,400, H:15,800
EIETIEE) uoi 1800 | 484 | 3%
P8 (PR 5 | 1800 | 48% 23,400
SR GBE)=RE | e B % 300 | 70% 7,600
,500 69% ,500
,500 69% ,500
,500 69% ,500
,300 70% 400
300 74% 300
,300 70% 400
RiEH ,300 70% 400
,300 70% 400
300 74% 200
300 74% 200
,300 70% 7,600
,500 69% ,500
,300 70% 400
FRAB-EE | R OE 5| ! 800 | 50% | B1:6.400
,000 62% 200
,000 62% 200
,000 62% 200
400 65% ,600
400 65% ,600
400 65% ,600
400 65% 1:6.600
EERE ,800 59% | H:8.400
900 63% 300
400 65% ,600
400 65% ,600
700 64% 900
,000 62% 200
,000 62% 200
,000 62% 200
WO =AKE |HECRE) % ,400 35% 200
AEEF 300 43% 600

JTA



I EBE5 EERGA~ITHEES)

EEEAE . 2019/10/01 ~
376-11
=p B4 FBITA %8547
¥ @g@ B0 EE E—5H .
F | #@siE EIHES "
KR (BIE) =34 (BB®) | ABR (BAEE) % 15100 | 64% | 221,600, 20600, H:16400 64% 220600, T:19.600. H:15.400
200 78% 80%
800 76% | 211,100, T H:10800 77% &L 810,700
R E) R 900 79% |+ 59700 79% |+ H:9.600
200 78% | 80%
[ 600 | 60% |%:20.500, £:19,000. H:23.400 62%
RRAE)-RE | "RCHE)FE[ ! 200 | 67% |+ H:25300 68%
700 | 68% |%:23,700. £ H:24,900 7%
BER 200 | 68% 4,200 69%
300 27,400 67%
e BERE 200 3,100 67% ;
700 3,800, H:13.400 65% 800, H:12,500
200 13,100 7 200, B:11,700
200 100 700
200 100 700
200 100 700
iR (BE) ,200 1:13.100 .700
200 £:13,100 700
200 13,100 700, H:12.200
700 2,900, H:13,600 65% 900, H:12.700
200 E:12,700, 5:13,100 67% 700, 6:12,200
[ 200 3,100 67% 200
RRCAE) -8 | RzCHE 300 | 60% 28,200 63% 26,300
EhR 700 | 64% 25,700 67% 700
KR (B%)-EE | Ak [ 000 | 69% 9,600, H:19.900 72% 7,700, H:18.000
=Y 500 | 72 7.600 73% 6,000, F:15,800
ASPRRE) | Aa® | NU0sT 200 7 24,200 59%
200 7 4,200 59%
HIE (PE) H_NU04S 800 £ 6:17.900 67%
0045 800 £ 618,200 66%
0047 600 ;15,400 %:16.800, £:18,200 68%
U 600 :15,400, %:22.900, *:18,200 68%
i (BB 5 |_NU 600 ;15,400 7K:16,300, %:17.100. £:15,900. H:17.500 68%
U 800 300, 6:18,200 67%
U 100 7K:16,300. £:17,300. H:18,200 66%
U 100 68%
FE L= (BB ER) 800 53%
i (AL ) 3 | 800 53%
R (BER)=RE iR (BE) 500 7 AIK:7.800
,500 B 700, + H:8,500
500 B 700, + H:8,500
500 | 69% [£:0.200, 700 7 700, + H:8.500
300 70% |%:8,700,  H:8,500 7 600, H:7.400
1700 72% 7 £ 5:7.300
300 70% 700, £ 58,500 7 1600, + H:7.400
BER 300 70% 700, £ H:8,500 7 600, H:7.400
,300 70% |%:8,700, + H:8,500 7 600, H:7.400
700 7 £ 5:7.300
700 7 £ 5:7.300
500 900, £ 68,700 7 1900, £ H:7.700
500 200, £ 8,700 7 700, H:8,500
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U073 | 55H37 23,900 | 4
GiE% U070 | 55B i | 20.100
U076 | 55 600
1aRE=3 48 (IR E) EEES U051 | 55 ,200
U053 | 55 200
U057 | 55 500
U061 | 55 900
[ _NU063 | 55 100
,400
PR (BRER) % [0 .900
.900
1400
.400
.000
.900
RERORAE)=-E% SH CRIE) 200
B 9.800
KR (B#E)=R1E KO (RAT) $¢ .700
HiE% .600
ENASEETE T ) INEASE .400
0000 | EGREE 400
AR (P E) =R (B | B H 2 (PED) .400
,400
1400
1| 32400
G IETE OFS .900
.800
800
,700
R LLi=3 48 (3R 8R) Rl 5 .800
hiE (IRER) 5& 25,300
SR (RER) =R1E PR (IRER) 5 100
NU605 | 558 400
NU607 | 558 100
NU609_| 558 100
NU617 | 55H 700
NU621 | 558 600
NU625 | 55H 700
TiE% NU600 | 558 500
NU608 | 558 7.500
NU610 | 558 7.500
NU612 | 55H 7.500
NU614 | 558 800
NU622 | 558 800
NU626 | 558 500
SR (B =B S (BRER) % | NUS51 | 55H .600
NU557 | 558 000
NU559 | 55H .600
NU563 | 558 600
NUS565 | 55H 7.900
NU567 | 558 7.900
NUS71 558 7.900
NU573 | 558 900
R NU552 | 558 600
NU556 | 558 100
NU558 | 55H .900
NU560 | 558 .900
NU562 | 558 7.200
NU564 | 558 7.500
NU566 | 55H 7.500
NU572 | 558 500
SPGB =AKE [ hAR(REN | NU211 | 558 100
2Ak&% | NU212 | 558 500




[R—N—%G1EEXR(1A1~6BEES)

EF#EAR - 2019/10/01 ~

1/1 1/2 1/3 1/4 1/5 1/6
PR b B B B e ) B

R ERE | EAd | ENE | @0 | Eas | E8E

=30

el

KR (BEEE) =ihik® (FRHR) | KRR (BSdE) $& [ _NU0OT | 55 10.900 . X 16.800
U005 | 55 9.200
U009 | 55 .900
4B (IRE) F |_NU002 | 55 900
U004_| 55 .200
U008 | 55 800
R (PE)=R1E SR CPIE) % | _NUOT1 | 55 .100
U073 | 55 300
GiE% U070 | 55 .700
U076 | 55 100
1BRA=P#E () EEEES U051 | 55 .900
U053 | 55 ,900
U057 | 55 .900
U061 | 55 ,900
[ _NU063 | 55 .900
.900
PR (BRER) % [0 .900
.900
.900
.900
.900
HRCHE)-EE W CHE) %
B
KB (BT =RiE KB (RATE) 5
HiEFH
IMA=iEE (AR ER) INEASE
ShiE (IRER) S

AR (P E) =R (B | B H 2 (PED)

G IETE OFS

Rl LLI=3#8 (AR ) [
S8 (ARER) % [ NUOT6 | 55

G ER) =R 1A B (ARR) S | _NU60T [ 55

NU605 | 558
NU607 | 55H
NU609_| 558 X
NU617 | 55H 7.800
NU621 | 558 7.400
NU625 | 55H 7.700
TiE% NU600 | 558 7.700
NU608 | 558 7.700
NU610 | 558 7.400
NU612 | 558 7.400
NU614 | 558 000
NU622 | 558 .000
NU626 | 558 800
SR (B =B S (BRER) % | NUS51 | 55H .300
NU557 | 558 600
NU559 | 55H 7.600
NU563 | 558 7.600
NUS565 | 55H 7.300
NU567 | 558 7.300
NUS71 558 7.300
NU573 | 558 300
R NU552 | 558 300
NU556 | 558 500
NU558 | 55H 7.300
NU560 | 558 7.400
NU562 | 558 7.300
NU564 | 558 7.600
NU566 | 555 7.600
NU572 | 558 600
SPGB =AKE [ hAR(REN | NU211 | 558 .000
2Ak&% | NU212 | 558 400




[R——%GEEXR(1AT~IBEES)

EF#EAR - 2019/10/01 ~

21 =
4] E4 | WAM T e
2] EEE B51% W&
KR (BEEE) =ihik® (FRHR) | KRR (BSdE) $& [ _NU0OT | 55 16.400 58%
U005 | 55 ,100 79%
U009 | 55 600 78%
B (IRE) F |_NU002 [ 55 ,700 78%
U004 | 55 100 79%
U008 | 55 400 | 61%
R (PE)=R1E SR CPIE) % | _NUOT1 | 55 .200 80%
uo7. 55 .300 82%
EEE U070 | 55 200 | 80%
Uo7 55 ,.200 80%
1aRE=3 48 (IR E) EEES U051 | 55 9.700 69%
U053 [ 55 10.200 68%
U057 | 55 700 69%
uo61 55 ,800 72% | K:9,500
[_NU063 | 55 800 72%
55 ,800 2%
R (BB % | 1 55 800 72% | X:9.500
55 ,800 72% |:X:9,500
55 800 72% | A:9.500
55 10.200 68%
55 9.700 69%
55 9.500 70%
HRCHE)-EE HECBIE) % | NU021 | 55 22800 | 64%
EhHE U022 | 55H &I | 20300 68%
KIR (BE) =R1E Kl (R75) % | NU0B3 | 55 12200 | 78%
AiES U086 | 55 9,900 82%
IMA=FEE (RE) NEREE U037 | 55 7900 | 62%
4R GRER) 5 U036 [ 55 7.900 62%
AR (P E) =R (B | B H 2 (PED) U043 | 55 .300 7%
U045 [ 55 ,300 70%
U047 | 55 300 | 74%
U 55 .300 74%
SR (BB%E) % |_NU 55 9.800 78% | J:11.600
U 55 11,300 74%
U 55 12500 | 72%
U 55 11,500 74%
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 10.900 72
4% (BBEE) % | NUO16 | 558 10900 | 72%
SR (RER) =R1E S (ARER) % | NUG01 | 55H 6.600 75
NU605 | 558 7.600 71% _|A:7.700
NU607 | 558 600 79
NU609_| 558 600 79%
NU617 | 55H .500 75%
NU621 | 558 600 79%
NU625 | 558 300 76%
RIEF | NU600 | 558 300 76%
NU608 | 558 300 76%
NU610 | 558 600 79%
NU612 | 558 5.600 79%
NU614 | 558 6.600 75%
NU622 | 558 7.600 7%
NU626 | 558 300 76%
SR (B =B S (BRER) % | NUS51 | 55H .700 67%
NU557 | 558 400 68%
NU559 | 558 400 68%
NU563 | 558 400 68%
NUS565 | 55H 5.800 7
NU567 | 558 5.800 7%
NUS71 558 .800 7
NU573 | 558 800 7%
EEE3 NU552 | 558 700 67
NU556 | 558 500 68%
NU558 | 558 800 7%
NU560 | 558 800 7%
NU562 | 558 100 70%
NU564 | 558 400 68%
NU566 | 555 400 68%
NU572 | 558 400 68%
SPGB =AKE [ hAR(REN | NU211 | 558 .400 48%
2Ak&% | NU212 | 558 4900 60%




TR—N—%FGIEER(A14~208EFED)

EF#EAR - 2019/10/01 ~

=1 e
= BE | BAM TET il
B ERE | non %
KBR (B7E) =48 (RH) | KR (R87) 5 [ _NUoo1 | 55 16400 | 58% % +:15.300. H:12.500
U005 | 55 ,100 79%
U009 | 55 600 78% | %:9.100. £ H:10.300
% (3R%R) % |_NU002 | 55 500 78% |+ H:9.600
U004 | 55 100 79%
U008 | 55 400 | 61% |£:15900. H:16.700
R (PE)=R1E SR CPIE) % | _NUOT1 | 55 .200 80%
uo7. 55 .300 82%
EEE U070 | 55 200 | 80%
Uo7 55 ,.200 80% :17.300, H:22.300
1aRE=3 48 (IR E) EEES Uos1 | 55 9.700 69% 10.600
U053 [ 55 10.200 68% 11,100
U057 | 55 700 69% 800, H:9.500
U061 | 55 800 72% 500,
[_NU063 | 55 800 72% 700, H:9.500
55 ,800 2% 700, H:9.800
ErAEE eI 55 800 72% 500
55 ,800 72% 500
55 800 72% 500, H:9.800
55 10.200 68% 11,100
55 9.700 69% | +:10.000. H:10.300
55 9,500
RERORAE)=-E% SHE CRME) % [ NU021 | 55 22.800
EhHE U022 | 55H &I | 20300
KR (B#E)=R1E KB (BA7E) % | NU083 [ 55 12.200
HiEFH U086 | 55 9.900 82% H:11.800, H:17.200
IMA=FEE (RE) NEREE U037 | 55 7900 | 62% [+ H:21600
| [#GBT)SE| NUOS | 55 7900 | 62% |H:21.600
AR (P E) =R (B | B H 2 (PED) U043 | 55 1.500 74% [ A:12.500, £:13.200, + H:12.600
U045 [ 55 3.300 70% |+ H:14,700
U047 | 55 9.800 78% | H:10.000, £:11.800
U 55 9.800 78% 8:10.000, £:17,000
o (FRER) % [_NU 55 300 | _74% [411.800
U 55 .300 74% H:12.600. %:12,300, H:13.300
U 55 500 | 72% |H£:13900. £:13.000. H:14.900
U 55 .500 74% 12,800, +:12.000, H:13.900
R LLi=3 48 (3R 8R) FALLI S NUOTT | 55 10.900 72 H:16.300
4% (BBEE) % | NUO16 | 558 10900 | 72% 3800, H:16.300
A GRE-R1E 4l (F0HE) % [_NU601 | 556 6.600 75 :6.900, £ £:6.700
NU605 | 558 7.600 71% | A:7.700. &+ H:7.900
NU607 | 558 600 79
NU609_| 558 600 79%
NU617 | 558 .500 75% | H:6.600. %1 H:6.800
NU621 | 558 600 79%
NU625 | 558 300 76%
RIEF | NU600 | 558 300 76%
NU608 | 558 300 76%
NU610 | 558 600 79%
NU612 | 558 5.600 79%
NU614 | 558 6.900 74% | k7kXK:6.600
NU622 | 558 7.600 71% _|H:7.700. £ 1 H:7.900
NU626 | 558 6.300 76%
SR (B =B S (BRER) % | NUS51 | 55H 7.000 65%
NU557 | 558 400 68%
NU559 | 558 400 68%
NU563 | 558 400 68%
NUS565 | 55H 5.800 7
NU567 | 558 5.800 7%
NUS71 558 5.800 7
NU573 | 558 5.800 7%
EEE3 NU552 | 558 7.000 65
NU556 | 558 6.500 68%
NU558 | 558 800 7%
NU560 | 558 800 7%
NU562 | 558 100 70%
NU564 | 558 400 68%
NU566 | 555 400 68%
NU572 | 558 400 68%
SPGB =AKE [ hAR(REN | NU211 | 558 .400 48%
2Ak&% | NU212 | 558 4900 60%




TR—N—%FIEEXROA21~3IBEED)

EF#EAR - 2019/10/01 ~

=1 R
= BE | BAM s il
B | ammm | ERT s
KBR (B7E) =48 (RH) | KR (R87) 5 [ _NUoo1 | 55 16400 | 58% |A:15.400. %:15.300. £:16.700. H:12.500
U005 | 55 ,100 79%
U009 | 55 600 78% | %:9.100. £ H:10.300
% (3R%R) % |_NU002 | 55 500 78% |+ H:9.600
U004 | 55 100 79%
U008 | 55 400 | 61% |£:15900. H:16.700
R (PE)=R1E R CFM) % [_NU071 | 55 .200 80% :18.400, 1:15.300
uo7. 55 .300 82% :18.300, £:15.300
EEE U070 | 55 200 | 80% |%:15.000
Uo7 55 ,.200 80% :17.300, H:22.300
1aRE=3 48 (IR E) EEES Uos1 | 55 9.700 69% 10.600
U053 [ 55 10.200 68% 11,100
U057 | 55 700 69% 800, H:9.500
U061 | 55 800 72% 700, £:9,800. H:9.500
[_NU063 | 55 800 72% 700, H:9.500
55 ,800 2% 700, H:9.800
ErAEE eI 55 800 72% 500
55 800 72% .500, #:9.700
55 800 72% 700, £:9.500. H:9.800
55 10.200 68% 11,100
55 9.700 69% |+:10.000. H:10.300
55 9.500 70% |7k A£:9.700. H:9.800
HRCHE)-EE HECBIE) % | NU021 | 55 22.800 | 64% 24,800
EEHE U022 | 55E AT | 20300 68% 22,200
KIR (BE) =R1E Kl (R75) % | NU0B3 | 55 12200 | 78% |£:16.600
HiEFH U086 | 55 9.900 82% :11.800, #£:10,500, H:17.200
IMA=FEE (RE) NEREE U037 | 55 7900 | 62% [+ H:21600
| [#GBT)SE| NUOS | 55 7900 | 62% |H:21.600
2R (FE) =048 (BI)| 2 5 B (hE) U043 | 55 1.500 74% | H:12.500. £:13.200. £ H:12.600
U045 [ 55 3.300 70% |+ H:14,700
U047 | 55 9.800 78% | %:11.800
U 55 9.800 78% |#:17.500
SR (ARER) % | NU 55 .300 74%
U 55 .300 74% H:12.600, H:13.300
U 55 500 | 72% |H%:13900. £:13.000. H:14.900
U 55 .500 74% B #£:12,800, £:12,000. H:13.900
R LLi=3 48 (3R 8R) Rl 5 NUOTT | 55 10.900 7 £ 1 H:16.300
4% (BBEE) % | NUO16 | 558 10900 | 72% 4,000, H:16.300
A GRE-R1E 4l (F0HE) % [_NU601 | 556 6.400 7 £:6.500, £+ H:6.700
NU605 | 558 7.600 71% |A:7.700. &+ H:7.900
NU607 | 558 600 79
NU609_| 558 600 79%
NU617 | 558 .500 75% | H:6.600. %1 H:6.800
NU621 | 558 600 79%
NU625 | 558 300 76%
RIEF | NU600 | 558 300 76%
NU608 | 558 300 76%
NU610 | 558 600 79%
NU612 | 558 5.600 79%
NU614 | 558 6.900 74% | k7kXK:6.600
NU622 | 558 7.600 71% _|H:7.700. £ 1 H:7.900
NU626 | 558 6.300 76%
SR (B =B S (BRER) % | NUS51 | 55H 7.000 65%
NU557 | 558 400 68%
NU559 | 558 400 68%
NU563 | 558 400 68%
NUS565 | 55H 5.800 7
NU567 | 558 5.800 7%
NUS71 558 5.800 7
NU573 | 558 5.800 7%
EEE3 NU552 | 558 7.000 65
NU556 | 558 6.500 68%
NU558 | 558 800 7%
NU560 | 558 800 7%
NU562 | 558 100 70%
NU564 | 558 400 68%
NU566 | 555 400 68%
NU572 | 558 400 68%
SPGB =AKE [ hAR(REN | NU211 | 558 .400 48%
2Ak&% | NU212 | 558 4900 60%




[R——5%G1EEXR(2A1~3BEES)

EF#EAR - 2019/10/01 ~

=G E2 | BAM 7 =
B | ammm | ERT s
KBR (B7E) =48 (RH) | KR (R87) 5 [ _NUoo1 | 55 14400 | 63% |+:17.700. H:13.300
U005 | 55 8.100 79%
U009 | 55 10300 | 74% |AH:9.100
8 (BRER) % [ _NU002 | 55 9,500 76% | A:8.400
U004_| 55 8.100 79%
U008 [ 55 15,400 61% |+:15.900, H:16.700
HRCRE)=RE B (PIE) % [ _NU071 [ 55H8 20.700 69% | +:23.000
U073 | 55 21.100 69% | 5:19.000
EEE U070 | 55 18900 | 72% |+:21.000. H:21.300
U076 | 55E1 A | 23.600 | 65% |H:21.600
1aRE=3 48 (IR E) EEES uost | 55 9.700 69% .600
U053 | 55 200 | 68% .100. H:10.700
U057 | 55 200 | 68% 600, H:9.700
U061 [ 55 ,600 66% 19,700
[ _NU063 | 55 600 | _66% |H:0.700
55 ,600 66% H:9.700
R (BB % | 1 55 600 | 66% | H:9.700
55 ,600 66% H:9.700
55 600 H:9.700
55 .100 H:10.200
55 600 H:9.700
55 ,600 H:9.700
RERORAE)=-E% o (FM) 55 .800 A:22.800
EGHE 55 ,200 0.300
KR (B#E)=R1E KO (RAT) $¢ 55 .900 500
AiES 55 000 100
ENASEETE T ) INEASE 55 .600 .900
ShiE (IRER) S 55 ,900 ,600
AR (P E) =R (B | B H 2 (PED) 55 500 :11.800
55 .700 :13.300
55 9.800
u 55 9,800
PR (AR 5 |_NU 55 .300
U 55 .600 .300, H:13.300
u 55 .900 ,000. B:14.900
U 55 .800 000, H:13.900
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 14.000
58 (FREA) % | NUOT6 | 658 14,000
SR (RER) =R1E S (ARER) % | NUG01 | 55H 6.700
NU605 | 558 7.900
NU607 | 558 600
NU609 | 558 600
NU617 | 55H .800
NU621 | 558 600
NU625 | 55H .500
TiE% NU600 | 558 500
NU608 | 558 500
NU610 | 558 600
NU612 | 558 5.600
NU614 | 558 6.900
NU622 | 558 7.900
NU626 | 558 6.500
SR (B =B S (BRER) % | NUS51 | 55H 7.000
NU557 | 558 600
NU559 | 55H .600
NU563 | 558 600
NUS565 | 55H .000
NU567 | 558 000
NU571 | 558 .000
NU573 | 558 000
R NU552 | 558 7.000
NU556 | 558 700
NU558 | 55H .000
NU560 | 558 000
NU562 | 558 .300
NU564 | 558 600
NU566 | 558 600
NU572 | 558 600
SPGB =AKE [ hAR(REN | NU211 | 558 .900
2Ak&% | NU212 | 558 500




[R—N—%FGIEER(Q2A12~18BEEN)

EF#EAR - 2019/10/01 ~

3 e
4] @& | AW TET =
B ERE | non E
KBR (B7E) =48 (RH) | KR (R87) 5 [ _NUoo1 | 55 14400 | 63% |%+:15.300. H:13.300
U005 | 55 ,100 79%
U009 | 55 100 77% | £ H:10300
%8 (FR%A) % |_NU002 | 55 500 78% |+ H:9.600
U004_| 55 100 79%
U008 [ 55 15,400 61% H:15.900
R CHE)=-R1E Hm (FM) % |_NUO71 | 55B A1 | 20800 | 69% 21,200, £:23.200
uo7. 55 19,000 2% 20.100. £ H:21.000
EEE U070 | 55 18.900 | 72% 1,000, H:21.400
Uo7 55 21,600 68% 23.600
1BRA=P#E () [EEES uos1 | 55 9.700 69% 0.600
U053 [ 55 10.200 68% 1,100, H:10.700
U057 | 55 700 69% 0.600
uo61 55 ,700 69% 10.600
[ _NU063 | 55 .700 69% 10.600
55 ,700 69% 10.600
R (BB % | 1 55 .700 69% 10.600
55 ,700 69% 10.600
55 .700 69% 10.600
55 10.200 68% 11,100
55 9.700 69% 10.600
55 9.700 69% 10.600
HRCHE)-EE HECBIE) % | NU021 | 55 22.800 | 64% 24,800
EhHE U022 | 55H &I | 20300 68% 22,200
KIR (BE) =R1E Kl (B7) % | NU083 | 55 600 | 72% 17.100
AiES U086 | 55 200 | 78% |H:16.300
IMA=FEE (RE) NEREE U037 | 55 900 | 59% 22,600
4% (BBEA) % | NU036 | 55 900 | 590% 2,600
2 (P ER) =948 (BRIR) |2 & () U043 | 55 500 | 74% |H:12.500 /K:11.800, £:13.200. £ H:12.600
U045 [ 55 ,300 70% |+ H:14,700
U047 | 55 9.800 78% | %:11.800
U 55 9.800 78% |#:17.500
R (W) U 55 -300 74%
U 55 .300 74% H:12.600. 7K:11,800, H:13.300
u 55 500 | 72% |H£:13900. £:13.000. H:14.900
U 55 .500 74% | B #:12,800, 00. H:13.900
R LLi=3 48 (3R 8R) Rl 5 NUOTT | 55 14,000 6. £:22.300, 1:23.300
4% (BBEE) % | NUO16 | 558 14000 | 64% |H:23.300
R (BB =R 1 R (BB%E) % |_NU601 | 558 6.400 7 £:6.500, % £ H:6.700
NU605 | 558 7.600 71% |A:7.700. &+ H:7.900
NU607 | 558 600 79
NU609_| 558 600 79%
NU617 | 558 .300 76% | %t H:6.500
NU621 | 558 600 79%
NU625 | 558 .300 76%
RIEF | NU600 | 558 .300 76%
NU608 | 558 .300 76%
NU610 | 558 600 79%
NU612 | 558 5.600 79%
NU614 | 558 6.900 74% | k7kXK:6.600
NU622 | 558 7.600 71% _|H:7.700. £ 1 H:7.900
NU626 | 558 6.300 76%
(BB =EH Sh#B (BR¥R) % [ _NUS51 [ 558 7.000 65%
NU557 | 558 400 68%
NU559 | 558 .400 68%
NU563 | 558 400 68%
NUS565 | 55H 5.800 7
NU567 | 558 5.800 7%
NUS71 558 5.800 7
NU573 | 558 5.800 7%
EEE3 NU552 | 558 7.000 65
NU556 | 558 6.500 68%
NU558 | 558 800 1%
NU560 | 558 800 7%
NU562 | 558 100 70%
NU564 | 558 400 68%
NU566 | 558 .400 68%
NU572 | 558 400 68%
SPGB =AKE [ hAR(REN | NU211 | 558 600 46%
2Ak&% | NU212 | 558 4900 60%




TR—N—%FGIHEER(Q2A19~29B8EFEN)

EF#EAR - 2019/10/01 ~

2/19-20,2/25-29
P T
=) B | WAM T i
B | ammm | ERT s
KBR (B7E) =48 (RH) | KR (R87) 5 [ _NUoo1 | 55 14400 | 63% |7K:15.700. & £:15.300
U005 | 55 ,100 79%
U009 | 55 100 7% 8600, 1£:10.300
B (ARER) % [ _NU002 | 55 .600 78% 9,100, +:10.300
U004_| 55 100
U008 [ 55 15,400 15,900
R (PE)=R1E R CFM) % [ NUO071 | 558 20.800 1.600, +:23.600
U073 | 55 19.000 9,900, £:20.900. 1:22.000
GiE% U070 | 55 18.900 $:19.000. £:21.100
Uo7 55 21,600 4,100
1aRE=3 48 (IR E) EEES uost | 55 9.700 10.600
U053 [ 55 10.200 1.100. #:10.700, +:11.600
U057 | 55 700 10.600
U061 | 55 .700 .600
[ _NU063 | 55 .700 600
55 ,700 ,600
R (IRER) 56 |0 55 700 .600
55 ,700 ,600
55 .700 10.200, £:11.100
55 10.200 11,100
55 9.700 :11.000, £:10.200. £:11.100
55 9.700 10.600
RERORAE)=-E% SHE CRME) % [ NU021 | 55 22,800 3.600. £:24.800
EhHE U022 | 55H &I | 20300 21,100, +:23.000
KIR (BE) =R1E Kl (R75) % | NU0B3 | 55 600 4,900, £:16.600. £:18.100
AiES U086 | 55 200
IMA=FEE (RE) NS U037 | 55 900
0000 | EGREE U036 | 55 ,900
AR (P E) =R (B | B H 2 (PED) U043 | 55 .200
U045 | 55 300
U047 | 55 9.800 +11.800, +:10.200
U 55 9.800 +17.500, £:10.200
SR (BB%E) % |_NU 55 300 | 7% £:11.700
U 55 .300 74% e,
u 55 500 | 72% |£:14.900. £:14.100
U 55 .500 B
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 14.000 >
4% (BBEE) % | NUO16 | 558 14,000
SR (RER) =R1E S (ARER) % | NUG01 | 55H 6.400
NU605 | 558 7.600
NU607 | 558 600
NU609 | 558 600
NU617 | 55H .300
NU621 | 558 600
NU625 | 558 .300
TiE% NU600 | 558 .300
NU608 | 558 .300
NU610 | 558 000 K:
NU612 | 558 .000 77% _|KA:5.600
NU614 | 558 600 3
NU622 | 558 7.600 4
NU626 | 558 300
SR (B =B S (BRER) % | NUS51 | 55H .700
NU557 | 558 400
NU559 | 55H .400
NU563 | 558 400
NUS565 | 55H 5.800
NU567 | 558 5.800
NU571 | 558 .800
NU573 | 558 800
EHE NUS52 | 558 700
NU556 | 558 500
NU558 | 55H .800
NU560 | 558 800
NU562 | 558 100
NU564 | 558 400
NU566 | 558 .400
NU572 | 558 400
SPGB =AKE [ hAR(REN | NU211 | 558 .600
2Ak&% | NU212 | 558 4.900




TR—N—%FGIEEXROA10~13BEED)

SER#EAE - 2019/10/01 ~
gy [0 [ Ui T /e [ 173
=45} EE B‘A“ A= =518 | R—/S—%#@ | 2~/ %8 | R—/—%i8
B A | EEE | 86 | A8
KB (BATE) =348 (IBF) | KMk (BIEE) & U001 | 55 14.900
U005 | 55 8.100
U009 | 55 10.000
4B (IRE) F |_NU002 | 55 9,100
U004_| 55 9.000
U008 | 55 16.300
RERERCRE)=RE A CFIE) % | _NUOT1 | 55H 7 20.700
U073 | 55 800
BER U070 | 55 200
U076 | 55 300
1aRE=3 48 (IR E) EEES U051 | 55 .600
U053 | 55 700
U057 | 55 600
U061 | 55 500
[ _NU063 | 55 500
55 ,500
PR (BRER) % [0 55 .800
55 500
55 .000
55 .100
55 700
55 400
RERORAE)=-E% SH CRIE) 55 .900
B 55 ,300
KR (B#E)=R1E KB (BA7E) % | NU083 [ 55 2.200
aiER U086 | 55 9.900
IMA=FEE (RE) NEREE U037 | 55 7.900
0000 | EGREE U036 | 55 7.900
AR (P E) =R (B | B H 2 (PED) U043 | 55 .800
U045 | 55 400
U047 | 55 800
U 55 .000
SR (ARER) % | NU 55 1.800
U 55 2,000
u 55 400
U 55 ,300
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 13.800
4% (BBEE) % | NUO16 | 558 13,800
(BB =R1E S (ARER) % | NUG01 | 55H 7.000
NU605 | 558 7.900
NU607 | 558 600
NU609_| 558 600
NU617 | 55H .800
NU621 | 558 600
NU625 | 558 .800
aiER NU600 | 558 800
NU608 | 558 .800
NU610 | 558 600
NU612 | 558 5,600
NU614 | 558 7.900
NU622 | 558 7.900
NU626 | 558 6.800
SR (B =B S (BRER) % | NUS51 | 55H 7.000
NU557 | 558 7.000
NU559 | 55H 7.000
NU563 | 558 000
NUS565 | 55H .300
NU567 | 558 300
NUS71 558 .300
NU573 | 558 300
R NU552 | 558 7.000
NU556 | 558 000
NU558 | 55H .300
NU560 | 558 300
NU562 | 55H 700
NU564 | 558 000
NU566 | 558 7.000
NU572 | 558 000
SPGB =AKE [ hAR(REN | NU211 | 558 .800
2Ak&% | NU212 | 558 500

JTA



[R—I—5%BEER(QA4~11BEED)

EF#EAR - 2019/10/01 ~

v 2/4 2/5 2/6 2/7 2/8 2/9 2/10
[=45] ;23 B‘A.;ﬁ A—i—%8 | A— %8 | R— %8 | 2—1—%8 | 2~ —%8 | R—1 %8 | 2—{—%8
B A | EEE | ERE | @8 | EAE | 8685 | 288
RO (B8ZE) =3P #8 (IR¥R) | A (BSZE) % [ _NU001 [ 55 14400 | 14400 | 14.400 11.000 | 17.200
U005 | 55 ,100 ,100 ,100 8.100
U009 | 55 100 9.100
4B GIRER) £ |_NU002 | 55 ,400 10,300
U004_| 55 100
U008 | 55 15.400
RERERCRE)=RE A CFIE) % | _NUOT1 | 55H 7 20.700
uo7. 55 19,000
GiE% U070 | 55 18.900
Uo7 55 21,600
1aRE=3 48 (IR E) EEES U051 | 55 9.700
U053 | 55 10,200 X
U057 | 55 700 9.
U061 | 55 .700 9
[ _NU063 | 55 .700 [ 11
55 700 K
L CGHR ) 3 | ! 55 700 [ 10
55 700 |_10.
55 .700 [ o0
55 10,200 11
55 9.700 |11
55 9.700 |10
HER(CAE)=2H W CRIE) % | NUO021 [ 55 22.800 |23,
EhHE U022 | 55H &I | 20300 |21
KR (B#E)=R1E KB (BA7E) % | NU083 [ 55 500 1
AiES U086 | 55 000 2
IMA=FEE (RE) NS U037 | 55 900 [ 18
Sk GRE) % | NUO36 | 55 900 18
AR (P E) =R (B | B H 2 (PED) U043 | 55 .800 14,
U045 | 55 300 15.
U047 | 55 9.800 14,
u 55 9,800 14,
L GV Eh) % |_NU 55 300 [ 14,
U 55 .300 |14,
u 55 500 |14
U 55 500 |13
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 14.000
4% (BBEE) % | NUO16 | 558 14,000
SR (RER) =R1E S (ARER) % | NUG01 | 55H 6.400
NU605 | 558 7.600
NU607 | 558 600
NU609 | 558 600
NU617 | 55H .500
NU621 | 558 600
NU625 | 558 .300
TiE% NU600 | 558 .300
NU608 | 558 .300
NU610 | 558 600
NU612 | 558 5.600
NU614 | 558 6.600
NU622 | 558 7.600
NU626 | 558 300
SR (B =B S (BRER) % | NUS51 | 55H .700
NU557 | 558 400
NU559 | 55H .400
NU563 | 558 400
NUS565 | 55H 5.800
NU567 | 558 5,800
NUS71 558 .800
NU573 | 558 800
EHE NUS52 | 558 700
NU556 | 558 500
NU558 | 55H .800
NU560 | 558 800
NU562 | 558 100
NU564 | 558 400
NU566 | 558 .400
NU572 | 558 400
SPGB =AKE [ hAR(REN | NU211 | 558 .600
2Ak&% | NU212 | 558 4.900




TR—N—%FGIHEER(QA21~24BEFEN)

SER#EAE - 2019/10/01 ~
v 2/21 2/22 2/23 2/24
R B4 Bi)uﬁ R—ri—3:f8 | A=/ | 2—ri—%#8 | 2—ri—%
B A | EEE | 86 | A8

KR (BEEE) =ihik® (FRHR) | KRR (BSdE) $& [ _NU0OT | 55 15.300 | 16.300 | 13.300

U005 | 55 600 9.600 8.100

U009 | 55 600 | 10.300 | 9.100

4B (IRE) F |_NU002 | 55 100 10,300 10300 | ¢

U004_| 55 100
U008 | 55 400
R (PE)=R1E SR CPIE) % | _NUOT1 | 55 100
U073 | 55 500
GiE% U070 | 55 .900
U076 | 55 600
1aRE=3 48 (IR E) EEES U051 | 55 9.700
U053 | 55 10,200
U057 | 55 9.700
U061 | 55 9,700
[ _NU063 | 55 9.700
55 10,200
R (IRER) 56 |0 55 9.700
55 9,700
55 10.200
55 10,200
55 9.700
55 9,700
RERORAE)=-E% SH CRIE) 55 .700
B 55 .200
KR (B#E)=R1E KO (RAT) $¢ 55 600
HiE% 55 .200
ENASEETE T ) INEASE 55 .900
— 1€ E 55 ,900
AR (P E) =R (B | B H 2 (PED) 55 .400
55 400
55 3.900
u 55 23,600
PR (AR 5 |_NU 55 .900
u 55 900
u 55 .900
u 55 800
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 26.200
4% (BBEE) % | NUO16 | 558 14,000
SR (RER) =R1E S (ARER) % | NUG01 | 55H 6.900
NU605 | 558 8100
NU607 | 558 5.600
NU609 | 558 5,600
NU617 | 558 7.000
NU621 | 558 600
NU625 | 558 .700
TiE% NU600 | 558 700
NU608 | 558 .700
NU610 | 558 600
NU612 | 558 5.600
NU614 | 558 6.700
NU622 | 558 7.900
NU626 | 558 6.700
SR (B =B S (BRER) % | NUS51 | 55H 7.000
NU557 | 558 700
NU559 | 558 .700
NU563 | 558 700
NU565 | 558 .100
NU567 | 558 100
NU571 | 558 100
NU573 | 558 100
R NU552 | 558 7.000
NU556 | 558 800
NU558 | 558 .200
NU560 | 558 .200
NU562 | 558 .300
NU564 | 558 600
NU566 | 558 600
NU572 | 558 600
SPGB =AKE [ hAR(REN | NU211 | 558 .900
2Ak&% | NU212 | 558 500

JTA



[R——5%1G1EEXRBAI~5BEES)

EF#EAR - 2019/10/01 ~

5 I
=] ®% | WA =5 e
B amam |70 s
KBR (B7E) =48 (RH) | KR (R87) 5 [ _NUoo1 | 55 15700 | 62% |H:13.300
U005 | 55 ,100 81%
U009 | 55 400 77% | H:10.400
B (IRE) F |_NU002 [ 55 ,500 80% H:9.300
U004 | 55 100 81%
U008 [ 55 15,400 63% H:16.700
HER(RE)=-AE HER(CRE) % U071 | 55 20.900 70%
uo7. 55 .900 2% H:22.000
EEE U070 | 55 000 | _73% |H:22.400
Uo7 55 ,400 68% H:24.500
1aRE=3 48 (IR E) EEES Uos1 | 55 .000 67%
U053 | 55 500 | 66% | H:12.300
U057 | 55 000 7 +11.400
uo61 55 .000 7% :11.400
[_NU063 | 55 000 7 +11.400
55 .000 7% :11.400
R (IRER) 56 |0 55 000 7
55 .000 7%
55 000 7 700
55 500 | 66% 500
55 000 | 67% 000
55 .000 67% .700
RERORAE)=-E% o (FM) 55 .600 64% 25,600
EhHE 55 .100 68% | H:23.000
KR (B#E)=R1E KO (RAT) $¢ 55 .800 7 17.500
HiEFH 55 .100 b 15.300
INR=IRE R EE) NEREE 55 .900 22,600
ShiE (IRER) S 55 ,900 ) :22,600
ZEE (P = (B[ EE (hE) 55 1400 6 +14.900. X:12.800. H:13.500
55 ,000 68% H:16.400
55 800 | 77
U 55 ,800 7%
SR (ARER) % | NU 55 .800 7
U 55 .300 74% H:13.800, H:14.400
U 55 500 | 71% [ H:15.000. H:16.100
U 55 .500 73% H:14.000, H:15.100
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 15.800
S48 (JRER) % | NUOT6 | 55H 15,800 H:23.100
(BB =R1E S (ARER) % | NUG01 | 55H 6.800 B H:7.100
NU605 | 558 7.800 #:8.000, H:8.100
NU607 | 558 7.800 000, F1:8.100
NU609_| 558 800 :8,000. H:8.100
NU617 | 55H .400
NU621 | 558 100
NU625 | 558 400
RER NU600 | 558 400
NU608 | 558 400
NU610 | 558 000
NU612 | 558 000
NU614 | 558 700
NU622 | 558 7.800 000, H:8.100
NU626 | 558 6.400 600
SR (B =B S (BRER) % | NUS51 | 55H 7.400 :7.700
NU557 | 558 500 700
NU559 | 55H .500 .700
NU563 | 558 500 700
NUS565 | 55H 5.900 .100
NU567 | 558 5.900 100
NUS71 558 5.900 .100
NU573 | 558 5.900 100
EEE3 NU552 | 558 7.400 :7.700
NU556 | 558 6.600 800
NU558 | 558 .900 100
NU560 | 558 900 100
NU562 | 558 .200 400
NU564 | 558 500 700
NU566 | 555 500 700
NU572 | 558 500 700
SPHEGRE)=AkE [R#EGRE) %[ NU21i | 558 400 .700
2Ak&% | NU212 | 558 900 200




[R—I—5%BEERCGA~1TAEED)

EF#EAR - 2019/10/01 ~

5 ST,
= ®a | WAM =W e i
2] EEE H51% W&
KBR (B7E) =48 (RH) | KR (R87) 5 [ _NUoo1 | 55 14900 | 64% |£:18.300. £:17.700, H:13.300
U005 | 55 ,100 81%
U009 | 55 .400 77% &+ B:10400
4B (IRE) F |_NU002 | 55 ,500 80% [+ H:9.300
U004 | 55 100 81%
U008 [ 55 15,400 63% |+ H:16.700
R CAE)=RE HECHIE) % |_NUO71 | 65EA1 | 20900 | 70% 22,000, £:24.100
uo7. 55 .900 2% 20.900. 1+ H:22.000
EEE U070 | 55 000 | 73% 1.100. H:22.400
Uo7 55 ,400 68% 24,500
1BRA=P#E () [EEES uos1 | 55 .000 67% 2,000
U053 | 55 500 | 66% 2,600, H:12.300
U057 | 55 .000 7 1.700. B:11.400
uo61 55 .000 7% :11.400
[_NU063 | 55 000 7 +11.400
55 .000 7% :11.400
R (BB % | 1 55 000 7% | £:11.400
55 .000 7% 1.400
55 .000 7 1.400. B:11.700
55 500 | 66% 1,700, H:12.500
55 000 | 67% 1,500, H:12.000
55 .000 67% :11.700
RERORAE)=-E% o (FM) 55 .600 64% |+ H:25.600
EGHE 55 .100 68% . 23,000
KIR (BE) =R1E KB (BH7E) % 55 800 | 7 7200, H:17.500
HiEFH 55 .100 b :15.300
IMA=FEE (RE) NEREE 55 .900 £ H:22.600
ShiE (IRER) S 55 ,900 ) 2,600
AR (P E) =R (B | B H 2 (PED) 55 .000 15.900
55 900 16.400
55 600 300 %:15.000
U 55 ,600 300, £:20,200
SR (BB%E) % |_NU 55 600 :13.300, £:15.300. £:13.900
U 55 ,300 1% :14,300, £:13,900, £:15.300, H:15.900
U 55 900 | 66% | kk:14.600. £:15.300. H:16.900
U 55 900 | 68% 15.900
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 15.800 62
4% (BBEE) % | NUO16 | 558 15800 | 62%
SR (RER) =R1E S (ARER) % | NUG01 | 55H 7.500 7
NU605 | 558 000 71%
NU607 | 558 000 7
NU609_| 558 000 7% :8.300
NU617 | 558 400 77 :7.100. + H:6.600
NU621 | 558 400 77% | %+ A:6.500
NU625 | 558 400 77 :7.100. & H:6.600
TiE% NU600 | 558 400 77% _|%:7.100. & B:6.600
NU608 | 558 400 77 27
NU610 | 558 400 7%
NU612 | 55H .400 77
NU614 | 558 700 76%
NU622 | 558 .000 1% H:8.300
NU626 | 558 400 77% | %:7.100. T B:6.600
R (B =B E R (B5%E) % |_NU551 | 558 7.900 63% | Jk7k:7.600
NU557 | 558 500 :6.900, & H:6.700
NU559 | 55H .500
NU563 | 558 500
NUS565 | 55H 5.900
NU567 | 558 5.900
NUS71 558 5.900
NU573 | 558 5.900
EEE3 NU552 | 558 7.900
NU556 | 558 6.600
NU558 | 55H .900
NU560 | 558 900
NU562 | 558 .200
NU564 | 558 500
NU566 | 55H .500
NU572 | 558 500
SPGB =AKE [ hAR(REN | NU211 | 558 400
2Ak&% | NU212 | 558 900




[R—N\—%FGIHEEXRGBAI12~18BEEN)

SER#EAE - 2019/10/01 ~
21 .
=) B | WAM =W Al s
2] EEE H51% W&
KBR (B7E) =48 (RH) | KR (R87) 5 [ _NUoo1 | 55 14900 | 64% |%+:15.800. H:13.300
U005 | 55 ,100 81%
U009 | 55 .400 77% &+ B:10400
%8 (FR%A) % |_NU002 | 55 500 80% |+ H:9.300
U004 | 55 100 81%
U008 [ 55 15,400 63% 16.400, H:16.700
R (PE)=R1E SR CPIE) % | _NUOT1 | 55 22.000 69%
uo7. 55 19.900 2%
EEE U070 | 55E 8 | 20.300 | 71%
Uo7 55 ,400 68%
1BRA=P#E () [EEES uos1 | 55 .000 67% X
U053 | 55 500 | 66% 600, H:12.300
U057 | 55 .000 7 ,000. B:11.900
uo61 55 .000 7% :11.900
[_NU063 | 55 000 7 +11.900
55 .000 7% :11.900
ErAEE eI 55 000 7% | £:11.900
55 .000 7% 1.900
55 .000 7 1.900. H:12.000
55 500 | 66% 1,700, H:12.500
55 000 | 67% 1,500, H:12.000
55 .000 67% :12.000
RERORAE)=-E% o (FM) 55 .600 64% |+ H:25.600
EGHE 55 .100 68% . 23,000
KIR (BE) =R1E KB (BH7E) % 55 800 | 73% 17.200
HiEFH 55 000 76% 1.100. + H:15.300
IMA=FEE (RE) NEREE 55 900 | 61% 22,600
4R GRER) 5 55 ,.900 61% 2.600
AR (P E) =R (B | B H 2 (PED) 55 .000 15.900
55 900 16.400
55 600 400, A%:15.000, £:15.900
U 55 .600 122,200, 1:15.900
R (W) U 55 .600 00
U 55 ,300 :14,600. £:13.900. H:15.!
U 55 .900 £:15.300. H:16.900
U 55 .900 . K+:14.300. H:15.900
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 19.000
4% (BBEE) % | NUO16 | 558 19.000 | 54% 5800, H:26.400
(BB =R1E b8 (3R¥R) % [ _NU601 | 558 7.700 7. 7.400. A:7.200
NU605 | 558 000 71%
NU607 | 558 000 7
NU609_| 558 000 7%
NU617 | 55H .600 7
NU621 | 558 600 76%
NU625 | 558 400 7%
BiEF | NU600 | 558 400 7%
NU608 | 558 400 7%
NU610 | 558 600 76%
NU612 | 558 600 76%
NU614 | 558 700 76%
NU622 | 558 000 7%
NU626 | 558 400 7%
SR (B =B S (BRER) % | NUS51 | 55H .600 60%
NU557 | 558 700 69%
NU559 | 558 700 69%
NU563 | 558 700 69%
NUS565 | 55H 100 7
NU567 | 558 100 7%
NUS71 558 100 7
NU573 | 558 100 7%
EER NU552 | 558 600 6
NU556 | 558 600 69%
NU558 | 558 100 7%
NU560 | 558 100 7%
NU562 | 558 400 70%
NU564 | 558 700 69%
NU566 | 555 700 69%
NU572 | 558 700 69%
SPGB =AKE [ hAR(REN | NU211 | 558 600 49%
2Ak&% | NU212 | 558 000 53%

JTA



[R—N\—%GIHEER(BA23~28BEFEN)

EF#EAR - 2019/10/01 ~

21 TR
=30 Ea | BAM = R——%8
B amam |70 %
KBR (B7E) =48 (RH) | KR (R87) 5 [ _NUoo1 | 55 17200 | 59% |/KA:18.400. % :21.000
U005 | 55 ,100 81%
U009 | 55 500 77% _|&£:10500
B (IRE) F |_NU002 [ 55 ,600 79% |+:9.400
U004 | 55 100 81%
U008 [ 55 15,400 63% |+:16.700
HR(CRE)=RA1E SRA CRIE) % [_NU0T1 | 553 20.700 1% 22,600
uo7. 55 .900 2% 20.900. £:22.000
EEE U070 | 55 000 .200
Uo7 55 ,400 500
1aRE=3 48 (IR E) EEES uost | 55 .000 .000
U053 | 55 500 600
U057 | 55 000 000
U061 | 55 000 7%
[_NU063 | 55 000 7
55 .000 7%
R (BB % | 1 55 000 7% | £:11.900
55 .000 7% 1.900
55 000 7 1,900
55 500 | 66% 1.700
55 000 | 67% |E:11.500
55 .000
RERORAE)=-E% SH CRIE) 55 600
B 55 100
KR (B#E)=R1E KO (RAT) $¢ 55 .700
HiEFH 55 4.600
ENASEETE T ) INEASE 55 20.500
0000 | EGREE 55 20,500
AHE (P E) =048 ()| &5 R (P ) 55 .000
55 .900
55 000
U 55 ,000
SR (ARER) % | NU 55 600
U 55 ,300
U 55 600
U 55 ,.500
R LLi=3 48 (3R 8R) FA L% NUOTT | 55 100
4% (BBEE) % | NUO16 | 558 100
SR (RER) =R1E S (ARER) % | NUG01 | 55H 1.700
NU605 | 558 000
NU607 | 558 000
NU609_| 558 000
NU617 | 55H .900
NU621 | 558 600
NU625 | 558 .900
TiE% NU600 | 558 900
NU608 | 558 .900
NU610 | 558 600
NU612 | 558 600
NU614 | 558 200
NU622 | 558 000
NU626 | 558 900
A -Ea Rl (FFHR) % |_NU551 | 556 600 60% | JokA:8.300
NU557 | 558 700
NU559 | 55H 700
NU563 | 558 700
NUS565 | 55H 100
NU567 | 558 100
NUS71 558 100
NU573 | 558 100 :
EER NU552 | 558 600 6 JkA:8.300
NU556 | 558 700
NU558 | 55H 100
NU560 | 558 100
NU562 | 558 400
NU564 | 558 700
NU566 | 55H 700
NU572 | 558 700
SPGB =AKE [ hAR(REN | NU211 | 558 .600
2Ak&% | NU212 | 558 000




[R—N\—%FGIHEERGBA19~22BEFEN)

SER#EAE - 2019/10/01 ~
v 3/19 3/20 3/21 3/22
R B4 Bi)uﬁ =il | A= | A==l | R~/ 15l
B A | EEE | 86 | A8
RBR (BIEE) =348 (RTR) | KPR (B8F) & | _NUoO1 | 55 23200 | 24200 | 20200 | 14.100
U005 | 55 8,600 9.600 8.100 8.100
U009 | 55 11.000 8.600 8.600
4B (IRE) F |_NU002 | 55 10,200 8,600
U004_| 55 8
U008 | 55 1
HER(RE)=-AE HER(CRE) % U071 | 55 2
U073 | 55 |22
GiE% U070 | 55 21.
U076 | 55 |27
[EELEIE ) [EEES uos1 | 55 |12
U053 | 55 13,
U057 | 55 [ 12,
U061 | 55 1
[ _NU063 | 55 11
1
S CARR) 26 | 0 | 12
1
12,
1
1
[z
RERORAE)=-E% SH CRIE) 29.100 100
B
KB (BT =RiE KB (RATE) 5
HiEFH
IMA=iEE (AR ER) INEASE
ShiE (IRER) S
AR (P E) =R (B | B H 2 (PED)
G IETE OFS
R LLi=3 48 (3R 8R) [ENIE:S
S8 (IRER) S8 | NUOT 558
SR (RER) =R1E b8 (3R¥R) % [ _NU601 | 558
NU605 | 558
NU607 | 558
NU609 | 558
NU617 | 558
NU621 | 558
NU625 | 558
|iER | NU600 | 55H
NU608 | 558
NU610 | 558
NU612 | 558
NU614 | 558
NU622 | 558
NU626 | 558
SR (B =B B (FR3E) 5 [_NUS51 | 558
NU557 | 558
NU559 | 558
NU563 | 558
NU565 | 558
NU567 | 558
NU571 | 558
NU573 | 558
R NU552 | 558
NU556 | 558
NU558 | 558
NU560 | 558
NU562 | 558
NU564 | 558
NU566 | 558
NU572 | 558
SPGB =AKE [ hAR(REN | NU211 | 558
2Ak&% | NU212 | 558

JTA



TS %RBIEER(12A13~26BEED)

EF#EAR - 2019/10/01 ~

12/13-26
XA 23 sg)ag TS EF
B amam |70 s
KR (B7E) =48 (%) | KR (R87) % [ _Nuoot | 7 15100 | 64% |A:14.200. X:15.000. A:13.200, £:15800. H:11.800
[ NU005 | 7 7.600 82% | A:8.000
U009 | 7' 7.600 82% | XA:8.000, £:9.900, & H:8.900
h#8 (ARER) % [_NUoo2 | 7 8.300 80% | k7K:9.200, #:8.800, #:7.600
[ _NU004 | 7 7.600 82% | £:8000
U008 | 7' 700 | 65% |X:15500, % £:14,500, H:16.300
R (PE)=R1E SR CFIE) % | NUOT1 | 7 .400 81% :9.900, £ +:12.200, H:10.900
uo73 | 7: ,800 82% | F H:9.900. £ +:12.200
GiE% U070 | 7 900 | 84% | HA:0.900. :12.700. 7K:13.600
U076 | 7 9.900 86% | JJK:15,400, K:12,900. H:22.400
1aRE=3 48 (IR E) @M% [ _NU051 | 7 9.800 71% 10.800
[ NU053 | 7 10300 | 70% 11.300
[ _NU057 | 7 .800 1% 100, £:10.600. H:10.300
[ NUO6T | 7 .900 80% :8.700
[ _NU063 | 7 .900 80% :8.700
U065 | 7 .900 80% 100
% #8 (BB%E) % |_NU050 | 7 .900 80% :8.700
[ NUo52 | 7 700 74% | :6.900. JKA:9.300
[ _NUO054 | 7 .300 72% | JK:6.900. £:9.800. £ H:10.100
[NU0s8 | 7 10,300 11.300
[_NU060 | 7 .800 0,000, £ H:10.800
U062 | 7 800 0,300, H:10.600
RERORAE)=-E% W (FM) % | NU021 | 7 .900 14.300
EESE U022 | 7 .900 4,300
KIR (BE) =R1E Kl (RA75) % | NU0B3 | 7 .700 83% | JKA:11.800
AiES U086 | 7 300 84% [1:9.500. H:10.100
IMA=FEE (RE) NS U037 | 7 .900 80% | %+ H:13.200
S48 (FBER) % | NU036 | 7 .900 80% | %+ H:13.200
ZEE (P = (B[ EE (hE) U043 | 7 13500 | 71% |A:12.800. %:13.200. £:15.000. H:12.600
U045 | 7 14600
uoa7 | 7 12.300
U 7 8,000
PR (AR 5 |_NU 7 11.300
U 7 14400
u 7 13.200
U 7 000
R LLi=3 48 (3R 8R) FA L% NUoiT | 75 .900
4% (BBEE) % | NUO16 | 758 .900
(BB =R1E S (BRER) % | NUG01 | 75H .700
NU605 | 758 600
NU607 | 758 .600
NU609 | 758 600
NU617 | 758 .700
NU621 | 758 600
NU625 | 758 5.800
TiE% NU600 | 758 5500
NU608 | 758 600
NU610 | 758 600
NU612 | 758 .600
NU614 | 758 600
NU622 | 758 7.600
NU626 | 758 600
SR (B =B S (BRER) % | NUS51 | 758 .300
NU557 | 758 300
NU559 | 758 .300
NU563 | 758 .300
NU565 | 758 5.000
NU567 | 758 5,000
NU571 | 758 .000
NU573 | 758 .000
R NU552 | 758 .300
NU556 | 758 300
NU558 | 758 .300
NU560 | 758 300
NU562 | 758 .000
NU564 | 758 300
NU566 | 758 .000
NU572 | 758 .000
SPGB =AKE [ ChARGREN | NU211 | 758 5.400
2A%k&% | NU212 | 758 4.300




TS BIEER(12A27~31BEED)

SER#EAE - 2019/10/01 ~
12/27
FH [OLSE
=] Ea | BAM &
B | @g®
KB (BEEE) =38R (&) | AMk (BSFE) 5 [ _NU0O1 | 7 14,800
[ _NU005 | 7 13.900
U009 | 7 21,400
%8 (FRER) % [_NU002 | 7 9.900
| _NU004 | 7 8.400
U008 | 7' 10.400
RRECPE)=RIE FR(CRE) % [ _NU0TI | 7 26.800
U073 | 7 2,700
GiE% uo70 | 7 1.400
U076 | 7 7.900
1EE=4E (PH) fE@% [ _Nuosi | 7 ,200
[ _NU053 | 7 200
[ NU057 | 7 600
[ _NUO61 | 7 200
[ NU063 | 7 500
U065 | 7 700
4B (ARE) FE [ _NU050 | 7 9,900
[ _NU052 | 7 9.900
| _NU054 | 7. 10400
[ _NU058 | 7 10.400
[ _NU060 | 7. 10,000
U062 | 7' 9.900
RERCPE)=EH R CRE) %[ NUo21 | 7 26.100
=ER U022 | 7 17.900
KR (BEE)=R1E KB (BA7E) % | NU083 | 7 22,700
HiER U086 | 7 9.900
INA=IE (AR ER) IR U037 | 7 34,200
S48 (GRER) % | NU 7 34.200
HEE (P ED) =048 ()| B EE (P A U 7 20,900
u 7 21,900
u 7 20,900
u 7 500
SR (ARER) ¢ | NU 7 ,900
u 7 300
u 7 300
u 7 200
FELL=;h 48 (BRFH) e uoii | 758 .300
S (ABER) % | NUO16 | 758 700
R (RE) =aiE B (ARFR) 5 [_NU6O1 | 758 7.500
NU605 | 758 8.900
NU607 | 758 8.000
NU609 | 758 7.600
NU617 | 758 7.700
NU621 | 758 7.700
NU625 | 758 7.700
G5 NU600 | 758 7.000
NU608 | 758 7.000
NU610 | 758 7.000
NU612 | 758 7.000
NU614 | 758 7.400
NU622 | 758 8.300
NU626 | 758 7.000
REBBR)-EE h#8 (ARER) % [ _NUS51 | 758 7.700
NU557 | 758 7.500
NU559 | 758 7.700
NU563 | 758 7.700
NU565 | 758 7.300
NU567 | 758 7.300
NU571 | 758 7.300
NU573 | 758 7.300
BEE NUs52 | 75H .700
NU556 | 758 .600
NU558 | 758 .400
NU560 | 758 .400
NU562 | 758 .700
NU564 | 758 7.000
NU566 | 758 7.000
NU572 | 758 7.000
PEET) =AKS  [ChEEGRE % | NU211 | 758 7.800
AkB% | NU212 [ 758 6.200

JTA



TSR FIERER(A1~6BERD)

SER#EAE - 2019/10/01 ~
1/1
F# [OLS%E
=] Ea | BAM 2
B | aam
KR (BAEE) =3hik (FRER) | ARR (BSFE) % [ NUoo1 | 7 10.100 | 15.300
[ _NU005 | 7 .400 | e
U009 | 7: .900 o
%8 (FRER) % [_NU002 | 7 .900 | 9400
[ _NUoo4 | 7 700 |_9.400
U008 | 7' 10.400 17.100
RER(CPE)=7E FR(CRE) % [ _NU0TI | 7 14.300 | _15.400
U073 | 7 9.900 | 154
RiER uo70 | 7: 10.200 I
U076 | 7 16.900 2
1EE=4E (PH) EEEES NUO051 | 7 .900 [ o
[ _NU053 | 7 .900 I
[ NU057 | 7 .900 o
[ _NUO61 | 7 .900 I
[ NU063 | 7 .900 o
U065 | 7 .900 K
S (AR%R) $ | NU050 | 7! .900 1
[ _NU052 | 7 .900 1
[ NUo54 | 7 .900 1
[ _NU058 | 7 .900 1 1
[ NU060 | 7 .900 12
U062 | 7' .900 11,
R (PE) =28 R CHME) S| NU021 | 7 16.900 |17,
=ER U022 | 7: 6.900 |18,
KR (BaF8)=RiE KB (BE) & uos3 | 7 9,700 12,
HiER U086 | 7 9.200 14,
PRASLEICTE ) VRS uo37 | 7 26,200 | 24,
S48 (GRER) % | NU 7 6.300 |34,
BEE (PR =k (RER) | B E R (PED) U 7 7.200 [ 13
u 7 7.300 |15
u 7 300 INE
u 7 300 INE
SR (ARER) ¢ | NU 7 .100 1
u 7 20.700
u 7 17.100
u 7 16.100
FELL=;h 48 (BRFH) FE LI uot 758 20700 |
S (ABER) % | NUO16 | 758 18.700
ik (%) =R1E h#8 (ARFR) % [ _NU601 | 758 .200
NU605 | 758 .000
NU607 | 758 .000
NU609 | 758 .000
NU617 | 758 200
NU621 | 758 .900
NU625 | 758 100
G5 NU600 | 758 7.200
NU608 | 758 200
NU610 | 758 .900
NU612 | 758 .900
NU614 | 758 7.600
NU622 | 758 8,000
NU626 | 758 7.300
iR (B =EE h#8 (ARER) % [ _NUS51 | 758 7.400
NU557 | 758 7.100
NU559 | 758 7.100
NU563 | 758 7.100
NU565 | 758 600
NU567 | 758 600
NU571 | 758 600
NU573 | 758 .600
EEEd NU552 | 758 1400
NU556 | 758 7.000
NU558 | 758 800
NU560 | 758 900
NU562 | 758 800
NU564 | 758 7.100
NU566 | 758 7.100
NU572 | 758 7.100
BT =AkE [RECGRE)% | NU201 | 758 7.700
Ax&% | NU212 | 75H 6.100

JTA



TNSEFIERER(AT~IBERD)

SER#EAE - 2019/10/01 ~
1/7-9
F# ==
= ®a | WAM T 7 5L
2] EEE B51% W&
KB (BA7E)=3#8 (BT | KMk (BSFE) 5 [ NU0O1 | 7! 15.500 7K:15.600
[ NU005 | 7 7.600
U009 | 7' .000 7K:7.600
S (3%R) 5 [ _NUoo2 | 7 300 7k:7.600
[ _NU004 | 7 000
U008 | 7' 14700 7K:14.800
R (PE)=R1E R CRIE) | NUOT1 | 7! 9.900
uo73 | 7 9,900
GiE% U070 | 7 10.900
U076 | 7 .900
1aRE=3 48 (IR E) @M% [ _NU051 | 7 .200
[ NU053 | 7 .700
[ _NU057 | 7 .200
[_Nuos1 [ 7 .900 7:9.200
[ _NU063 | 7 .900
U065 | 7 .900
% #8 (BB%E) % |_NU050 | 7 .900 :9.200
[_Nuo52 [ 7: .900 2:9.200
[ _NUO054 | 7 .900 £:9.200
[NU0s8 | 7 .700
[_NU060 | 7 .200
U062 | 7 .200
RERORAE)=-E% W (FM) % | NU021 | 7 .900
EESE U022 | 7 .900
KR (B#E)=R1E KB (BA7E) % | NU083 [ 7 .700
aiER U086 | 7 300
IMA=FEE (RE) NS U037 | 7 .900
ShiE (IRER) S U036 | 7 900
AR (P E) =R (B | B H 2 (PED) U043 | 7 .800
U045 | 7 12.800
uoa7 | 7 11.200
U 7 8,000
(AR % [_NU 7 9.300 11,500
U 7 11.000
u 7 12.200
U 7 8,000
R LLi=3 48 (3R 8R) FA L% NUoiT | 75 9.900
4% (BBEE) % | NUO16 | 758 9.900
(BB =R1E S (BRER) % | NUG01 | 75H 5.400
NU605 | 758 7.000
NU607 | 758 5.100
NU609_| 758 5.100
NU617 | 758 5700
NU621 | 758 5.100 81%
NU625 | 758 5.400 79%
aiER NU600 | 758 5,400 79%
NU608 | 758 5.400 79%
NU610 | 758 5100 1%
NU612 | 758 5.100 1%
NU614 | 758 5400 | 79%
NU622 | 758 7.000 73%
NU626 | 758 400 79%
SR (B =B S (BRER) % | NUS51 | 758 .000 70%
NU557 | 758 900 1%
NU559 | 758 .900 1%
NU563 | 758 .900 1%
NU565 | 758 .800 76%
NU567 | 758 800 76%
NU571 | 758 800 76%
NU573 | 758 800 76%
R NU552 | 758 .000 70%
NU556 | 758 900 7%
NU558 | 758 .800 76%
NU560 | 758 800 76%
NU562 | 758 5.600 7
NUS64 | 758 5,900 1%
NU566 | 758 5.900 7
NU572 | 758 5,900 1%
SPGB =AKE [ ChARGREN | NU211 | 758 5.400 56
2A%k&% | NU212 | 758 4.000 67%

JTA



TS5 BIEER(1A14~20B-ES)

SER#EAE - 2019/10/01 ~
1/14-20
F# —r7E
=M ®% | BAM - TNESER
B | ammm | ERT s
KR (B7E) =48 (%) | KR (R87) % [ _Nuoot | 7 15500 | 60% |7K:15.600. % +:15.000. H:11.600
[ _NuUo0s | 7 7.600 81% H:8,000
U009 | 7' 7.600 81% | A:8.000, £:8.600, T H:0.800
h#8 (BRFR) % [_NUoo2 | 7 8.300 79% |7k:7.600, £ H:9.100
[ _NU004 | 7 8,000 80%
U008 | 7: 14,700 62% |7K:14.800, % +:14.500, B:16.300
R (PE)=R1E R CRM) % [_NUo71 | 7 9.900 85% |&1:11.200, H:10.900
uo73 | 7 9,900 85%
GiE% U070 | 7 10900 | 84%
uo7 7 ,900 85% :15,300, £:10,900, H:21,600
1aRE=3 48 (IR E) EEES uost [ 7 .200 71% 10.100
[ NU0s3 | 7 .700 69%
[ _NU057 | 7 .200 1%
[ NUo61 | 7 .900 78%
[ _NU063 | 7 .900 78%
U065 | 7 ,900 78%
% #8 (BB%E) % |_NU050 | 7 .900 78%
[ NUos2 | 7 .900 78%
[ _NUO054 | 7 .900 78% 9,
[ Nuos8 | 7 .700 69% 0.600
[_NU060 | 7 .200 71% _[£:9.700. B:10.000
uoe62 | 7 ,200 1% 9,500
HRCHE)-EE WE (GHE) % | NU021 | 7 .900 84% | £:20.000. £:24.000. H:14.300
EGHE uoz22 | 7 ,900 84% :21.500
KR (B#E)=R1E KB (BA7E) % | NU083 [ 7 .700 82
AiES U086 | 7 300 83% | H:11,300, H:15.700
IMA=FEE (RE) NEREE U037 | 7 .900 79% |+ H:13.200
4R GRER) 5 uo36 | 7 ,900 79% H:13.200
AR (P E) =R (B | B H 2 (PED) U043 | 7! 11.000 75% | A:11.500, £:12.200, + H:12.100
uo4s | 7 12,800 71% |+ H:14,200
uoa7 | 7 9.700 78% | %:10.800
u 7 8.000 82% |£:16.200. H:9.700
PR (AR 5 |_NU 7 11.200 75%
U 7 11,000 75% H:12.400, X:12,200, H:13.000
u 7 12200 | 72% |A%£:13.300. £:12.400. H:14.400
U 7 8.000 82% |+:11.400, H:13.200
R LLi=3 48 (3R 8R) FALLI S NUoiT | 75 9.900 75% H:14.300
4% (BBEE) % | NUO16 | 758 9.900 75% | %:13.200, H:14.300
R (BB =R 1 8 (BB%E) % |_NU601 | 758 5700 | 78% |kIKA:5.400
NU605 | 758 7.000 FE:
NU607 | 758 5.100 1%
NU609_| 758 5.100 1%
NU617 | 75H 5.700 78%
NU621 | 758 5.100 81%
NU625 | 758 5.400 79% | H:5.600
TiE% NU600 | 758 5,400 79% |+ H:5.600
NU608 | 758 5.400 79% |21 H:5.600
NU610 | 758 5100 81%
NU612 | 758 5.100 81%
NU614 | 758 5.700 78% | k7kA:5.400
NU622 | 758 7.000 73% | H:7.200. 21 H:7.300
NU626 | 758 400
SR (B =B S (BRER) % | NUS51 | 758 .300
NU557 | 758 900
NUS59 | 75H .900
NU563 | 758 900
NUS65 | 75H .800
NU567 | 758 800
NUS71 758 .800
NU573 | 758 800
R NU552 | 758 .300
NU556 | 758 900
NU558 | 75H .800
NU560 | 758 800
NU562 | 758 5.600
NUS64 | 758 5.900
NU566 | 758 5.900
NU572 | 758 5.900
SPGB =AKE [ ChARGREN | NU211 | 758 5.400
2A%k&% | NU212 | 758 4.000

JTA



TS %RBIEER(A21~31BEES)

EF#EAR - 2019/10/01 ~

1/21-31
F Eyy-
3 ®% | mAm o TNESER
B | ammm | ERT s
AR (BSZE) =48 (AH) | AB (RS7E) % [ _NU001 [ 7 15500 | 60% |7K:15.600. /:14.000, £:15.200, £:15000. H:11.600
[ _NuUo0s | 7 7.600 81% H:8,000
U009 | 7 7.600 81% | A:8.000, £:8.600, T H:0.800
h#8 (BRFR) % [_NUoo2 | 7 8.300 79% |7k:7.600, £ H:9.100
[ _NU004 | 7 8.000 80%
uoos | 7 14.800 62% B 4:14,700, +:14.500, H:16.300
R CAE)=RE HERCHE) % [_NU0TI | 7 9.900 85% | £:15.500, +:13.200, H:10.900
uo7. 7 9.900 85% :16.000, £:12.200
EEE U070 | 7 10900 | 84% |%:13.000
uo7 7 ,900 85% :15,300, £:10,900, H:21,600
1BRA=P#E () #E% [ NU05T | 7 .200 1% 10.100
[ NU0s3 | 7 .700 69%
[ NU057 | 7 .200 7%
[ Nuo6t | 7 .900 78%
[ NU063 | 7 .900 78%
U065 | 7 900 | 78% |
Sl (FRHR) % [_NU050 | 7 .900 78%
[ Nuos2 | 7 .900 78%
[ NUOs4 | 7 .900 78%
[ NUoss | 7 700 69% :10.600
[ NU060 | 7 .200 71% _[£:9.700. B:10.000
uoe62 | 7 ,200 1% 9,500
RERORAE)=-E% S CRIE) % [ NU021 [ 7 .900 84 :14.300, 1 H:24.000
EGHE uoz22 | 7 ,900 84% .500
KIR (BE) =R1E Kl (RA75) % | NU0B3 | 7 .700 82 +16.000
HiEFH uose | 7 ,300 83% ;11,300 £:9.900. H:12.200
IMA=FEE (RE) NEREE U037 | 7 .900 79% |+ H:13.200
4R GRER) 5 uo36 | 7 ,900 79% H:13.200
AR (P E) =R (B | B H 2 (PED) U043 | 7! 11.000 75% | A:11.500, £:12.200, + H:12.100
uo4s | 7 12,800 71% |+ H:14,200
U047 | 7 9.700 78% | %:10.800
u 7 8.000 82% |£:16.700. H:9.700
(AR % [_NU 7 11.200 | 75%
U 7 11,000 75% H:12.400, H:13.000
U 7 12200 | 72% |A%£:13.300. £:12.400. H:14.400
U 7 8.000 82% |+:11.400, H:13.200
R LLi=3 48 (3R 8R) FALLI S NUoiT | 75 9.900 75% H:14.300
4% (BBEE) % | NUO16 | 758 9.900 75% | %:13.400, H:14.300
R (BB =R 1 4l (FRER) % [_NU601 | 758 5700 | 78% |kIKA:5.400
NU605 | 758 7.000 3% |4
NU607 | 758 5.100 1%
NU609_| 758 5.100 1%
NU617 | 75H 5.700 78%
NU621 | 758 5.100 81%
NU625 | 758 5.400 79% | H:5.600
TiE% NU600 | 758 5.400 79% |+ H:5.600
NU608 | 758 5.400 79% |21 H:5.600
NU610 | 758 5100 81%
NU612 | 758 5.100 81%
NU614 | 758 5.700 78% | k7kA:5.400
NU622 | 758 7.000 73% | H:7.200. 21 H:7.300
NU626 | 758 400
SR (B =B S (BRER) % | NUS51 | 758 .300
NU557 | 758 900
NUS59 | 75H .900
NU563 | 758 900
NUS65 | 75H .800
NU567 | 758 800
NUS71 758 .800
NU573 | 758 800
EER NUS52 | 758 300
NU556 | 758 900
NU558 | 75H .800
NU560 | 758 800
NUS62 | 758 5.600
NUS64 | 758 5.900
NU566 | 758 5.900
NU572 | 758 5.900
SPGB =AKE [ ChARGREN | NU211 | 758 5.400
2A%k&% | NU212 | 758 4.000




TSR FIERR(2A1~3BERD)

EF#EAR - 2019/10/01 ~

2/1-3
F Eyy-y
4] ®% | WA o DIFSER
B | ammm | ERT e
KR (B7E) =48 (%) | KR (R87) % [ _Nuoot | 7 14300 | 63% |£:15.900. H:12.500
[ NU005 | 7 000 80%
U009 | 7 800 75% | H:8.600
B (FRE) F |_NUoo2 | 7! ,000 7% 5:8.300
[ _NU004 | 7 000
uoos | 7 14.800 +:15.500. H:16.300
HER(RE)=-AE HER(CRE) % Uo7t | 7 18.700 1:22.400
uo7. 7 20.500 §:18.400
REH U070 | 7 17.000 H:20.700
uo7 7 23,000 :21.000
1aRE=3 48 (IR E) @M% [ _NU051 | 7 9.200 100
[ NU053 | 7 9,700 600, H:10.200
[ NU057 | 7 9.700 100, H:9.200
[ Nuo6t | 7 ,100
[ NU063 | 7 100
U065 | 7 100
8 (BRFR) % [ _NU050 | 7 100
[ Nuos2 | 7 ,100
[ NUOs4 | 7 100
[NU0s8 | 7 600
[ NU060 | 7 100
uoe62 | 7 100
RERORAE)=-E% W (FM) % | NU021 | 7 4,000
EE R U022 | 7 500
KR (B#E)=R1E KB (BA7E) % | NU083 [ 7 .400
AiES U086 | 7 500
IMA=FEE (RE) NEREE U037 | 7 900
ShiE (IRER) S U036 | 7 .800
AR (P E) =R (B | B H 2 (PED) U043 | 7 1.500
uo4s | 7 4.200
U047 | 7 9.600
U 7 9.600
SR (ARER) % | NU 7 .200
U 7 ,400 +:11.000, H:13.000
U 7 300 400, B:14.400
U 7 ,.300 .400, H:13.300
R LLi=3 48 (3R 8R) FA L% NUoiT | 75 13.400 .300
58 (FRER) % | NUOT6 | 758 13,400 H:14.300
SR (RER) =R1E S (BRER) % | NUG01 | 75H 5.700
NU605 | 758 7.300 £:7.000
NU607 | 758 5.100
NU609_| 758 5.100
NU617 | 75H 5.700
NU621 | 758 5.100
NU625 | 758 5.400
TiE% NU600 | 758 5.600
NU608 | 758 5.600
NU610 | 758 5.100
NU612 | 758 5.100
NU614 | 758 5.700
NU622 | 758 7.300
NU626 | 758 600
SR (B =B S (BRER) % | NUS51 | 758 .300
NU557 | 758 100
NUS59 | 75H 100
NU563 | 758 100
NUS65 | 75H 5.000
NU567 | 758 5.000
NUS71 758 .000
NU573 | 758 000
R NUS52 | 758 300
NU556 | 758 100
NU558 | 75H 5.000
NU560 | 758 5.000
NUS62 | 758 800
NUS64 | 758 100
NU566 | 758 100
NU572 | 758 100
SPGB =AKE [ ChARGREN | NU211 | 758 5.900
2A%k&% | NU212 | 758 5.000




TS %RBIEER(CA12~18AEES)

EF#EAR - 2019/10/01 ~

2/12-18
F =Yy
=M ®% | BAM - 7 5L
B | ammm | ERT s
KR (B7E) =48 (%) | KR (R87) % [ _Nuoot | 7 14300 | 63% |%1:15.200. H:12.500
[ NU005 | 7 .000 80%
U009 | 7 600 78% | £ H:0.800
B (FRE) F |_NUoo2 | 7! ,300 79% |+ H:9.100
[ _NU004 | 7 000 80%
uoos | 7 .800 62% |+ H:15500
R (PE)=R1E SR CFIE) % | NUOT1 | 7 .800 72% 20,600, +:22.601
uo7. 7 ,.400 73% 19,500, £ H::
EEE U070 | 7 000 | 75% 20.800
uo7 7 1.000 23,000
1aRE=3 48 (IR E) @M% [ _NU051 | 7 .200 0.100
[ NU0s3 | 7 .700 0.600. H:10.200
[ NU057 | 7 .200 0.100
[ Nuo6t | 7 .200 10,100
[ NU063 | 7 .200 10.100
uoes | 7 ,200 10.100
Sl (FRHR) % [_NU050 | 7 .200 10.100
[ Nuos2 | 7 .200 10,100
[ NUOs4 | 7 .200 10.100
[ Nuos8 | 7 .700 10.600
[ NU060 | 7 .200 100
uoe62 | 7 200 ,100
RERORAE)=-E% W (FM) % | NU021 | 7 .200 4,000
EGHE uoz22 | 7 700 1.500
KIR (BE) =R1E Kl (RA75) % | NU0B3 | 7 .000 16.600
HiEFH uose | 7 .700 :15.800
IMA=FEE (RE) NEREE U037 | 7 800 21,900
4R GRER) 5 uo36 | 7 7.800 :21.900
AR (P E) =R (B | B H 2 (PED) U043 | 7! 1.000 :11.500, £:12.200, +H:12.100
uo4s | 7 2.800 14,200
U047 | 7 9.700 :10.800
U 7 9.700 :16.700
SR (ARER) % | NU 7 .200
U 7 .000 :12,400, H:13,000
U 7 200 13300, £:12.400. H:14.400
U 7 .200 12,300, +:11.400, H:13.300
R LLi=3 48 (3R 8R) Rl 5 NUoiT | 75 13.400 121,800, 1:22.800
4% (BBEE) % | NUO16 | 758 13,400
SR (RER) =R1E S (BRER) % | NUG01 | 75H 5.700
NU605 | 758 7.000
NU607 | 758 5.100 1
NU609_| 758 5.100 1%
NU617 | 758 5.400 79% _|& L H5.600
NU621 | 758 5100 81%
NU625 | 758 5.400 79% | H:5.600
TiE% NU600 | 758 5.400 79% | %+ H:5600
NU608 | 758 5.400 79% |21 H:5.600
NU610 | 758 5100 81%
NU612 | 758 5.100 81%
NU614 | 758 5.700 78% | k7kA:5.400
NU622 | 758 7.000 73% | H:7.200. 21 H:7.300
NU626 | 758 400
SR (B =B S (BRER) % | NUS51 | 758 .300
NU557 | 758 900
NUS59 | 75H .900
NU563 | 758 900
NUS65 | 75H .800
NU567 | 758 800
NUS71 758 .800
NU573 | 758 800
R NUS52 | 758 300
NU556 | 758 900
NU558 | 75H .800
NU560 | 758 800
NUS62 | 758 5.600
NUS64 | 758 5.900
NU566 | 758 5.900
NU572 | 758 5.900
SPGB =AKE [ ChARGREN | NU211 | 758 5,600
2A%k&% | NU212 | 758 4700




TS5 RBIEER(CA19~29BEES)

EF#EAR - 2019/10/01 ~

) 2/19-20,2/25-29
=M ®% | BAM - 7 5L
B | ammm | ERT s
KR (B7E) =48 (%) | KR (R87) % [ _Nuoot | 7 14300 | 63% | +:15.200
[ NU005 | 7 .000 80%
U009 | 7 600 78% 8.300. £.:9.800
B (FRE) F |_NUoo2 | 7! ,300 79% 8,600, +:9.800
[ _NU004 | 7 000 80%
uoos | 7 .800 62% |7K:15.800, £:15.500
R (PE)=R1E AR CRE) % [_NU0T1 [ 7 .800 72% _|€:21.000. £:23.000
uo7. 7 ,.400 73% | A:19.300, £:20.300, 1:21,300
EEE U070 | 7 000 | 75% |4
uo7 7 1.000 69% A
1aRE=3 48 (IR E) @M% [ _NU051 | 7 .200 71% 10.100
[ NuU053 | 7 ,700 69% 0.600. #£:10,200, +:11.100
[ NU057 | 7 .200 7
[ Nuo6t | 7 .200 71%
[ NU063 | 7 .200 7
U065 | 7 ,200 1%
S (BRR) % | NU050 | 7 .200 7
[ Nuos2 | 7 .200 71%
[ NUOs4 | 7 .200 71% |4 10.600
[ Nuos8 | 7 .700 69% |A+:10,600
[ NU060 | 7 .200 71% | A:10500. £:9.700. £:10.600
uoe62 | 7 200 1% |4 10.100
RERORAE)=-E% W (FM) % | NU021 | 7 200 65% | A:22.000. £:24.000
EGHE uoz22 | 7 700 69%
KR (B#E)=R1E KB (BA7E) % | NU083 [ 7 .000 73%
HiEFH uose | 7 .700 79%
IMA=FEE (RE) NEREE U037 | 7 800 | 62%
4R GRER) 5 U036 | 7 7.800 62%
ZEE (P = (B[ EE (hE) U043 | 7 0800 | 76% [sK:11.000. /:11.100. £:12.200, £:12.700
uo4s | 7 2.800 1% |4 13,900, £:15.200
U047 | 7 9.700 78% | 4:10.800
U 7 9.700 78% |£:16.700
SR (ARER) % | NU 7 .200 75%
U 7 .000 75%
U 7 200 | 72% |%:13500. £:12.400
U 7 .200 75% |%:12.500, £:11,400
R LLi=3 48 (3R 8R) Rl 5 NUoiT | 75 13.400 66% |£:21.800, 1:22.800
4% (BBEE) % | NUO16 | 758 13400 | 66%
SR (RER) =R1E S (BRER) % | NUG01 | 75H 5.400 79%
NU605 | 758 7.000 73% |4
NU607 | 758 7.000 73% |4
NU609_| 758 7.000 73% KA
NU617 | 758 5.400 79% | A:5.600. % £:5.700
NU621 | 758 5100 81% | X:5.200, % 1:5.400
NU625 | 758 5.400
TiE% NU600 | 758 5.400
NU608 | 758 5.400
NU610 | 758 5100
NU612 | 758 5.100
NU614 | 758 5.400
NU622 | 758 7.000
NU626 | 758 400
SR (B =B S (BRER) % | NUS51 | 758 .000
NU557 | 758 900
NUS59 | 75H .900
NU563 | 758 900
NUS65 | 75H .800
NU567 | 758 800
NUS71 758 .800
NU573 | 758 800
R NUS52 | 758 000
NU556 | 758 900
NU558 | 75H .800
NU560 | 758 800
NUS62 | 758 5.600
NUS64 | 758 5.900
NU566 | 758 5.900
NU572 | 758 5.900
SPGB =AKE [ ChARGREN | NU211 | 758 5,600
2A%k&% | NU212 | 758 4700




TS5 RBIEER(A10~13BAEES)

SER#EAE - 2019/10/01 ~
1/10
FH [OLSE
=] Ea | BAM &
B | aam
KB (BEEE) =38R (&) | AMk (BSFE) 5 [ _NU0O1 | 7 14,100
[ _NU005 | 7 .000
U009 | 7' 400
Sk (BVE) % |_NU002 | 7 600
[ _NUoo4 | 7 600
U008 | 7' .000
RER(CPE)=7E FR(CRE) % [ _NU0TI | 7 ,200
U073 | 7 .200
GiE% uo70 | 7 ,900
U076 | 7 200
1EE=4E (PH) EEEES NUO051 | 7 100
[ _NU053 | 7 .200
[ NU057 | 7 100
[ _NUO61 | 7 .200
[NU063 | 7 .200
U065 | 7 .200
S8 (ARER) % [_NUO0S0 | 7 900
[ _NU052 | 7 .200
[ NUO54 | 7 700
[ _NU058 | 7 600
[ NUO60 | 7 100
U062 | 7' 100
RERCPE)=EH B (P uo21 | 7 100
EH % U022 | 7 600
K (BdE)=HiE KB (BA7E) % | NU083 | 7 9.700
TiE U086 | 7 9.300
INA=IE (AR ER) IR U037 [ 7: 9,900
S48 (GRER) % | NU 7 200
HEE (P ED) =048 ()| B S E (P ) U 7 ,800
u 7 .900
U 7 800
u 7 .200
SR (ARER) ¢ | NU 7 ,200
u 7 .700
U 7 900
u 7 800
FELL=;h 48 (BRFH) e uoii | 758 .200
S%E (FBEE) % | NUOT6 | 75H 13.200
R (RE) =aiE B (ARFR) 5 [_NU6O1 | 758 6.300
NU605 | 758 7.300
NU607 | 758 5.100
NU609 | 758 5.100
NU617 | 758 6.300
NU621 | 758 5100
NU625 | 758 5,900
G5 NU600 | 758 5.900
NU608 | 758 5,900
NU610 | 758 5.100
NU612 | 758 5100
NU614 | 758 7.300
NU622 | 758 7.300
NU626 | 758 .900
REBBR)-EE h#8 (ARER) % [ _NUS51 | 758 .300
NU557 | 758 .300
NU559 | 758 .300
NU563 | 758 .300
NU565 | 758 300
NU567 | 758 5.300
NU571 | 758 5,300
NU573 | 758 300
EEEd NU552 | 758 300
NU556 | 758 .300
NU558 | 758 300
NU560 | 758 300
NU562 | 758 .000
NU564 | 758 .300
NU566 | 758 300
NU572 | 758 .300
PEET) =AKS  [ChEEGRE % | NU211 | 758 .800
AXEBFE | NU212 | 75H 4.600

JTA



TN RFIEER(QA4~1TBERESD)

SER#EAE - 2019/10/01 ~
2/4 2/11
FH TSR TLESE
=] B% | BAH & )
B | amm WEA
KB (BEEE) =38R (&) | AMk (BSFE) 5 [ _NU0O1 | 7 14,300 15.800
[ _NU005 | 7 .000
uoo9 | 7 ,600
S (ARR) % |_NU002 | 7! .300
[ NUoo4 | 7 ,000
U008 | 7' 4.800
RER(CPE)=7E FR(CRE) % [ _NU0TI | 7 8.700
U073 | 7 8.400
RiEH Uo7 7 7.000
U076 | 7 1.000
1EE=4E (PH) fE@% [ _Nuosi | 7 .200
[ _NU053 | 7 .700
[ NU057 [ 7 ,200
[ _NUO61 | 7 .200
[NU063 | 7 .200
U065 | 7 .200
4B (IRER) F |_NU050 | 7 200
[ _NU052 | 7 .200
[ NUos4 | 7 ,200
[ _NU058 | 7 .700
[ NUo60 | 7 ,200
U062 | 7' 200
RERCPE)=EH B (P uo21 | 7 ,200
EH % U022 | 7 700
K (BdE)=HiE KB (BA7E) % | NU083 | 7 .900
TiE U086 | 7 500
PR E ) INEASE U037 [ 7: .800
S48 GREE) % | NU 7 7.800
HEE (P ED) =048 ()| B EE (P A U 7 0.300
u 7 2.800
U 7 9.600
u 7 9.600
SR (ARER) ¢ | NU 7 ,200
u 7 .000
U 7 ,200
u 7 .200
FELL=;h 48 (BRFH) e uoii | 758 .400
S%E (FBEE) % | NUOT6 | 75H 13.400
R (RE) =aiE B (ARFR) 5 [_NU6O1 | 758 5.400
NU605 | 758 7.000
NU607 | 758 5.100
NU609 | 758 5.100
NU617 | 758 5.700
NU621 | 758 5.100
NU625 | 758 5.400
G5 NU600 | 758 5.400
NU608 | 758 5.400
NU610 | 758 5100
NU612 | 758 5,100
NU614 | 758 5.400
NU622 | 758 7.000
NU626 | 758 5.400
iR (B =EE h#8 (ARER) % [ _NUS51 | 758 6.000
NUS57 | 758 5.900
NU559 | 758 5.900
NU563 | 758 .900
NUS65 | 758 800
NU567 | 75H .800
NU571 | 758 800
NU573 | 75H .800
EEEd NU552 | 758 000
NUS56 | 75H .900
NU558 | 758 800
NU560 | 758 800
NUS62 | 758 600
NU564 | 758 5.900
NU566 | 758 5.900
NU572 | 75H 5.900
PEET) =AKS  [ChEEGRE % | NU211 | 758 5,600
AKEFE | NU212 | 75H 4700

JTA



TS BIEER(CA21~24BHBES)

SER#EAE - 2019/10/01 ~
2/21
FH [OLSE
=] Ea | BAM &
B | @g®
KB (BEEE) =38R (&) | AMk (BSFE) 5 [ _NU0O1 | 7 15,200
[ _NU005 | 7 300
U009 | 7' 100
Sk (BVE) % |_NU002 | 7 600
[ _NUoo4 | 7 000
U008 | 7' 14.800
RRECPE)=RIE FR(CRE) % [ _NU0TI | 7 22,500
U073 | 7 20.900
GiE% uo70 | 7 17.000
U076 | 7 21,000
1EE=4E (PH) fE@% [ _Nuosi | 7 .200
[ _NU053 | 7 .700
[ NU057 | 7 .200
[ _NUO61 | 7 .200
[ NU063 | 7 .200
U065 | 7 .700
4B (IRER) F |_NU050 | 7 200
[ _NU052 | 7 .200
[ NUO54 | 7 .700
[ _NU058 | 7 .700
[ NUO60 | 7 .200
U062 | 7' .200
RERCPE)=EH R CRE) %[ NUo21 | 7 23,100
=ER U022 | 7 20.600
KR (BEE)=R1E KB (BA7E) % | NU083 | 7 6.000
HiER U086 | 7 2.700
INA=IE (AR ER) IR U037 [ 7: 7.800
S48 (GRER) % | NU 7 7.800
HEE (P ED) =048 ()| B S E (P ) U 7 ,300
u 7 300
u 7 800
u 7 800
B (ARER) % [_NU 7 .800
u 7 800
u 7 300
u 7 300
FELL=;h 48 (BRFH) e uoii | 758 25,900
S (ABER) % | NUO16 | 758 13.400
R (RE) =aiE B (ARFR) 5 [_NU6O1 | 758 6.100
NU605 | 758 7.700
NU607 | 758 5100
NU609 | 758 5.100
NU617 | 758 6.700
NU621 | 758 5.100
NU625 | 758 6.000
G5 NU600 | 758 5.800
NU608 | 758 5,800
NU610 | 758 5100
NU612 | 758 5100
NU614 | 758 5.800
NU622 | 758 7.300
NU626 | 758 800
REBBR)-EE h#8 (ARER) % [ _NUS51 | 758 .300
NU557 | 758 .200
NU559 | 758 .200
NU563 | 758 .200
NU565 | 758 00
NU567 | 758 5.100
NU571 | 758 5100
NU573 | 758 100
EEEd NU552 | 758 .300
NU556 | 758 .200
NU558 | 758 .200
NU560 | 758 .200
NU562 | 758 800
NU564 | 758 100
NU566 | 758 100
NU572 | 758 100
PEET) =AKS  [ChEEGRE % | NU211 | 758 .900
AXEBFE | NU212 | 75H 5.000

JTA



LSRG IERER(SAI~5BERD)

SER#EAE - 2019/10/01 ~
3/1-5
XA 23 sg)ag — TS EF
B amam |70 e
KR (B7E) =48 (%) | KR (R87) % [ _Nuoot | 7 14300 | 66% |H:12.500
[ NU005 | 7 .000 81%
U009 | 7 .900 79% | H:9.900
B (FRE) F |_NUoo2 | 7! ,300 80% H:8.800
[ _NU004 | 7 000 81%
uoos | 7 4.800 64% H:16.300
R (PE)=R1E R CRIE) | NUOT1 | 7! 8,900 73%
uo7. 7 9.300 73% H:21.300
EEE U070 | 7 7100 | 76% |H:21.700
uo7 7 .800 69% H:23.800
1aRE=3 48 (IR E) @M% [ _NU051 | 7 .500 69%
[ NU0s3 | 7 ,000 67% 1,700
[ NU057 | 7 500 | 69% 1.100
[ Nuo6t | 7 500 69% 1.100
[ NU063 | 7 500 | 69% 1.100
U065 | 7 500 69% 1.100
% #8 (BB%E) % |_NU050 | 7 500 | 69%
[ Nuos2 | 7 500 69%
[ NUOs4 | 7 500 | 69% | H:11.400
[ Nuos8 | 7 ,000 67% :12.000
[ NU060 | 7 500 | 69% | H:11.500
uoe62 | 7 500 69% :11.400
HRCHE)-EE HECBIE) % | NU021 | 7 900 | 65% | H:25.000
EGHE uoz22 | 7 20.400 69% :22.400
KR (B#E)=R1E KB (BA7E) % | NU083 [ 7 5.100 74
HiEFH uose | 7 0.600 82% :14.700
IMA=FEE (RE) NEREE U037 | 7 7800 | 64 .900
4R GRER) 5 uo36 | 7 7.800 64% 900
AHE (P E) =048 ()| &5 R (P ) uo4s | 7 0.900 77 .800, H:12.000
U045 | 7 4500 | 69% .900
U047 | 7 9.300 80% [%:10.700
U 7 9.300 80% | 4:10.700
SR (ARER) % | NU 7 9.300 80%
U 7 11,000 76% H:12.400, H:13.000
U 7 12200 | 74% |A:13.500. H:14.600
U 7 11,200 76% H:12.500, H:13.500
R LLi=3 48 (3R 8R) FA L% NUoiT | 75 15.500 63%
4% (BBEE) % | NUO16 | 758 15500 | 63% | H:22.800
SR (RER) =R1E S (BRER) % | NUG01 | 75H 6.200 H B:6.500
NU605 | 758 7.200 A H:7.500
NU607 | 758 7.200 E;
NU609_| 758 7.200 7
NU617 | 75H 5.600
NU621 | 758 5.400
NU625 | 758 5.600
TiE% NU600 | 758 5.500
NU608 | 758 5.600
NU610 | 758 5.400
NU612 | 758 5.400
NU614 | 758 5.600
NU622 | 758 7.200
NU626 | 758 600
SR (B =B S (BRER) % | NUS51 | 758 .500
NU557 | 758 000
NUS59 | 75H .000
NU563 | 758 000
NUS65 | 75H 5.000
NU567 | 758 5.000
NUS71 758 .000
NU573 | 758 000
EHE NUS52 | 75H .500
NU556 | 758 000
NU558 | 75H 5.000
NU560 | 758 5,000
NUS62 | 75H .700
NUS64 | 758 000
NU566 | 758 000
NU572 | 758 000
SPGB =AKE [ ChARGREN | NU211 | 758 100
2A%k&% | NU212 | 758 300

JTA



TMILNS%FIEERBA~1TAEBESD)

SER#EAE - 2019/10/01 ~
3/6-11
F Eyy-y
4] ®% | WA — TIFSER
B | EmaE | Y wE
AR (BSZE) =48 (AH) | AB (RS7E) % [ _NU001 [ 7 14300 | 66% |£:17.300. £:15.900, H:12.500
[ NU005 | 7 .000 81%
U009 | 7 .900 79% |& 1 H:9.900
h#8 (BRFR) % [_NUoo2 | 7 ,300 80% |+ H:8.800
[ _NU004 | 7 000 81%
uoos | 7 .800 64% 16,500, H:16.300
R (PE)=R1E R CRM) % [_NUo71 | 7 .900 73% 21.400, +:23.400
uo7. 7 ,.300 73% 20.300. £ H:21.300
EEE U070 | 7 100 1.700
uo7 7 .800 23.800
1BRA=P#E () EEEES uost | 7 .500 1.500
[ NU0s3 | 7 ,000 2,100, H:11.700
[ NU057 | 7 500 1.400. B:11.100
[ NUo61 | 7 500 111,100
[ NU063 | 7 500 +11.100
U065 | 7 500 11,100
Sl (FRHR) % [_NU050 | 7 500 1.100
[ Nuos2 | 7 500 1.100
[ NUOs4 | 7 500 1,100, B:11.400
[ NUoss | 7 .000 :12,000
[ NU060 | 7 500 £:11.000, H:11.500
uoe62 | 7 500 :11.400
RERORAE)=-E% W (FM) % | NU021 | 7 ,900 25,000
EGHE uoz22 | 7 20.400 69% 22,400
KIR (BE) =R1E Kl (RA75) % | NU0B3 | 7 5100 | 74 £:15.200, £:16.600
HiEFH uose | 7 0.600 82% H:14.700
IMA=FEE (RE) NEREE U037 | 7 7800 | 64% [+ H:21.900
| [ EGR®OR| NU0s6 |7 7.800 | 64% |H:21.900
AR (P E) =R (B | B H 2 (PED) uo43 | 7 .900 70
U045 | 7 500 | 69% [T H:15900
U047 | 7 500 | 73% | k:11.300. %:13.200
U 7 500 73% |k £:19.300
o (FRER) % [_NU 7 500 | 73% | :11.300. £:13.200, £:11.
U 7 ,000 74% :13.400, £:13.200, H:14.100
u 7 500 13.200, :13.400. H:15.600
U 7 ,.400 14.600
R LLi=3 48 (3R 8R) FA L% NUoiT | 75 15.500
4% (BBEE) % | NUO16 | 758 15,500
SR (RER) =R1E S (BRER) % | NUG01 | 75H 6.500
NU605 | 758 7.500
NU607 | 75H 7.500
NU609_| 758 500
NU617 | 75H .200
NU621 | 758 200
NU625 | 758 .200
TiE% NU600 | 758 000
NU608 | 758 .200
NU610 | 758 200
NU612 | 758 .200
NU614 | 758 600
NU622 | 758 7.500
NU626 | 758 6.200
SR (B =B S (BRER) % | NUS51 | 758 7.000 67% | :X7K:6.700
NU557 | 758 000 72% _|%:6.400. + H:6.200
NU559 | 758 000 72 400, T H:6.200
NU563 | 758 000 72% 400, -+ B:6.200
NUS65 | 758 5.000 77 2:5.600. T H:5.300
NU567 | 758 5.000 77% | %:5.600. & B:5.300
NU571 | 758 5.000 77 2:5.600. T H:5.300
NU573 | 758 5.000 7% _|%:5.600. £ H:5300
EER NUS52 | 758 7.000 7% | JK:6.700
NU556 | 758 6.000 2% |£:6.400, 1 H:6.200
NU558 | 758 5.000 77 2:5.600. T H:5.300
NU560 | 758 5,000 77% _|%:5.600. & B:5.300
NUS62 | 758 700 73 2:6.100. T H:5.900
NUS64 | 758 000 72% _|%:6.400. + H:6.200
NU566 | 758 000 7 2:6.400. T H:6.200
NU572 | 758 000 72% _|%:6.400. + H:6.200
SPGB =AKE [ ChARGREN | NU211 | 758 100 5.
2A%k&% | NU212 | 758 300 59%

JTA



TS5 RBEERGBA12~18AEES)

EF#EAR - 2019/10/01 ~

3/12-18
XA 23 sg)ag — TS EF
B amam |70 s
AR (BSZE) =48 (AH) | AB (RS7E) % [ _NU001 [ 7 14300 | 66% |JK:14.800. % +:15.700. H:12.500
[ NU005 | 7 .000 81%
U009 | 7 .900 79% |& 1 H:9.900
h#8 (BRFR) % [_NUoo2 | 7 300 80% |+ H:8.800
[ _NU004 | 7 000 81%
uoos | 7 .800 64% |+ H:16.300
R CAE)=RE HERCHE) % [_NU0TI | 7 000 | 70% |:18.900. £:21.400. F:23.400
uo7. 7 ,.300 73% |£:20.300, £ H:21.300
EEE U070 | 7 300 7100, H:21.700
uo7 7 .800 23.800
1aRE=3 48 (IR E) @M% [ _NU051 | 7 .500 1.500
[ NU0s3 | 7 ,000 2,100, H:11.700
[ NU057 | 7 500 11,500
[ Nuo6t | 7 500 +11,500
[ NU063 | 7 500 +11.500
U065 | 7 500 :11.500
% #8 (BB%E) % |_NU050 | 7 500 1,500
[ Nuos2 | 7 500 1.500
[ NUOs4 | 7 500 11.500
[ Nuos8 | 7 ,000 :12,000
[ NU060 | 7 500 £:11.000, H:11.500
uoe62 | 7 500 :11.500
RERORAE)=-E% W (FM) % | NU021 | 7 ,900 25,000
EGHE uoz22 | 7 20.400 22,400
KIR (BE) =R1E Kl (RA75) % | NU0B3 | 7 5.200 :15.100, £ H:16.600
HiEFH uose | 7 3.300 7% A:10.600. £ 0:14.700
IMA=FEE (RE) NEREE 0037 | 7 7800 | 64% [ H:21.900
4R GRER) 5 uo36 | 7 7.800 64% :21.900
AR (P E) =R (B | B H 2 (PED) U043 | 7 .900 70
U045 | 7 500 | 69% |+ H:15900
U047 | 7 500 | 73% | K:11.600. %
U 7 .500 73% 4:11.600, &
SR (BB%E) % |_NU 7 500 | 73% | k:11.300. %
U 7 ,000 74% :13.400, 7K:14.!
U 7 500 | 69% | JkK:13.200. 7
U 7 ,.400 1% X AK:12,200,
R LLi=3 48 (3R 8R) Rl 5 NUoiT | 75 18.700 55% |A:15.500.
58 (FRER) % | NUOT6 | 758 18700 | 55% |A:15.500, H:26.100
A GRE-R1E 4l (FRER) % [_NU601 | 758 6.700 76% | J7K:6.400. A:6.200
NU605 | 758 7.500 73%
NU607 | 758 7.500 73%
NU609_| 758 500 73%
NU617 | 75H .400 7%
NU621 | 758 200 78%
NU625 | 758 .200 78%
TiE% NU600 | 758 000 78%
NU608 | 758 .200 78%
NU610 | 758 200 78%
NU612 | 758 .200 78%
NU614 | 758 600 76%
NU622 | 758 7.500 73%
NU626 | 758 6.200 78%
SR (B =B S (BRER) % | NUS51 | 758 1.700 6.
NU557 | 758 200 71%
NUS59 | 75H .200 7
NU563 | 758 200 7%
NUS65 | 75H 5.000 77
NU567 | 758 5.000 7%
NUS71 758 5.000 77
NU573 | 758 5,000 7%
EHE NUS52 | 75H 7.700 4
NU556 | 758 6.200 1%
NU558 | 75H 5.000 77
NU560 | 758 5.000 7%
NUS62 | 758 .900 7
NUS64 | 758 200 71%
NU566 | 758 .200 7
NU572 | 758 200 7%
SPGB =AKE [ ChARGREN | NU211 | 758 .300 5
2A%k&% | NU212 | 758 600 57%




TS5 RBEER(3A23~28ARES)

EF#EAR - 2019/10/01 ~

3/23-28
XA 23 sg)ag — TS EF
B amam |70 s
AR (BSZE) =48 (AH) | AB (RS7E) % [ _NU001 [ 7 18300 | 56% |A:15800. K:16.500, £ 1:20.900
[ NU005 | 7 .000 81%
U009 | 7 .000 78% | % £:10,000
B (FRE) F |_NUoo2 | 7! ,300 80% | +:8.900
[ _NU004 | 7 000 81%
uoos | 7 .800 64% |+:16.300
HER(RE)=-AE HER(CRE) % uo71 | 7 .700
uo7. 7 ,.300
RIER U070 | 7 000 | 74%
uo7 7 .800 69%
1aRE=3 48 (IR E) @M% [ _NU051 | 7 .500 69%
[ NU0s3 | 7 ,000 67%
[ NU057 | 7 500 | 69%
[ Nuo6t | 7 500 69%
[ NU063 | 7 500 | 69%
U065 | 7 500 | 69%
Sl (FRHR) % [_NU050 | 7 500 | 69% |E:11.500
[ Nuo52 | 7 500 69% |+:11.500
[ NUOs4 | 7 500 | 69% |E:11.500
[ Nuos8 | 7 ,000 67%
[ NU060 | 7 500 | 69% |E:11.000
uoe62 | 7 500 69%
RERORAE)=-E% W (FM) % | NU021 | 7 .900 65%
EGHE uoz22 | 7 20.400 69%
KIR (BE) =R1E Kl (RA75) % | NU0B3 | 7 17100 | 70%
HiEFH uose | 7 14,000 76%
IMA=FEE (RE) NEREE U037 | 7 20200 | 50%
4R GRER) 5 uo36 | 7 20,200 59%
AR (P E) =R (B | B H 2 (PED) U043 | 7 .900 70%
U045 | 7 500 | 69%
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RAC708 9% 9600 | 634
ErIETIEeT RAGBOT 0% A10500 9300 A0
[ RACE0A 0% 00
FE-BE [RACE33 ) 10600
[ RAC837 T 10,600
[RACE34 ) 10600
[RAC838 T4 10,600
Tl G T 3 | RAGETI 314 7,900
[RACST3 a1
[RACET5 31
[RAC79 a1
[RAGEST 31
AC853 a1
RKBE | RACSIZ 31
[RACB74 a1
[ 31
[ a1
[ 31
I N I a1y
R BRI =510 i (PR e | F 25%
5% [ 2%
ORI =REKRS | P GRER)% | F g:
N L L
R (R R) =5 BE i (RER) ¢ | F 40% SHAL | 19700 [ 41% TEE | 19.600
SHEE 0% SEET | 197001 4T% 7E# | 19.600] 4t

RAC



THEEI511/3/7 5 BER(2A12~18ARRS)

EEBHA . 2019/10/01 ~
271218
=R B4 i %m&%{iﬂn FEHIE HEHIC - FES7D
bt % % ERR wE AR %
ECE IR RAC705 49% 9,600
RAC708 9% 9,600
ErIETIEeT RAGBOT 0% A XAK:10500 9.300 AJK9.100
[ RAGB04 0% 00
FE-BE [RACE33 ) 10600
[ RAC837 T 10,600
[RACE34 ) 10600
[RAC838 Iz
FROT TR BT % | RACETT 31 THT900
[RACST3 a1 £ 57,900
[RACET5 31 £ 57,900
[RAC79 a1 £ 57,900
[RAGEST 31 £ 57,900
AC853 a1 £ 57,900
RKBE | RACSIZ 31 £ 57,900
[RACB74 a1 £ 57,900
[ 31 £ 57,900
[ a1 £ 57,900
[ 31 £ 57,900
S —— A 31% 1 8:7.900
R BRI =510 g (FREE) % | F 25%
Sl% | F 25%
ORI =REKRS | P GRER)% | F g:
N L L
AR A3 =5 HE i (RER) ¢ | F 40% SHAL | 19700 [ 41% TEE | 19.600
SHEE 0% SEET | 197001 4T% 7E# | 19.600] 4t

RAC



THEEI511/3/7 5BER(2A19~29A KRS

EEEAA :2019/10/01 ~

2T 202/2529
FEITA HEIB FEIIC @70
=) <3 TER 3 5 FES F8
BEE il il maw | FHR| mgix il BAMR #%
ECE IR RAC705 a9% 9,600 63% |2 +:11,200
RAC708 9% 9600 | 634 |@F:11.200
FROT B RAGBOT 0% R 10500 9300 | 54 [ k9,100
[ RACE0A X 0% £3] 00 | 55v_|@+:9700
FE-BE [RACE33 ) 10600 | 228
[ RACB37 ¥ T 10600 | 2%
[RACE34 700 | 14% 10600 | 225
[ RAC838 1%
EC ) (7R F | RACET! 31%
[RAC873 31%
[RACET5 31
[RAC879 31%
[RAGEST 31
ACE83 31%
RKBE | RACSIZ 31
[RACS74 31%
[ 31
[ 31%
[ 31
I N I a1y
R BRI =510 i (PR e | F 25%
5% [ 2%
AR OBI) -ERXE [ @GR R | F 25%
25%
ARG -5E | Rain e | 0% SEE] | 19700 41% TEH | 19600
SHEE 0% SEET | 197001 4T% 7E# | 19.600] 4t




THEZIE11/3/7:BEXR (1 A10~13BEEN)

EFEAR 2019/10/01 ~

o o o o 1/10 1/11 1/12 1/13 |
- g [ AR R R S e et (R 7 (BT |7 ot (AT T A (R 7 7 (o7 A7 (R [ (a7 AT T
ks | o | s | o | R B ms | mA| @A | Ead | Ead | Saw | SR BN B | ER | B4 | S| EAd | 208
PR (BB =RiE Sh4E GIRER) % | RACT705 — .000 | 11,400 | 11.200 500 | 11 11.700 .500 .900 | 11.700 .000 11.200
FIEF RAC708 ,600 10.300 ,600 9.600 ,600 1,200 10.300
(BB =EE Sh4E GIRER) % | RAC801 .000 9.700 700 10.800 700 .000 9.700
EET S RAC804 000 [ 9.100 ,000 | 10,200 | 9.100 000 700 [ 9.100
= EEES RAC833 1.700 | _10.600 1.700 11.200 100 100 200
RAC837 7 1.700 1.700 .700 .700 | 11.200
RiEHR RAC834 1 1.700 1.700 100 100 200
RAC838 7 1.700 1.700 .700 .700 | 11.200
R (B;=AKE P (IRE) & | RACST 1 - .500 .600 .600 .500 7.900 —
RAC87. 7 ,500 ,600 ,600 ,500 7.900
RAC87! 1 .500 .600 .600 .500 7.900
RAC87! 7 ,500 ,600 ,600 ,500 7.900
| RAC88 1 .500 .600 .600 .500 7.900
RAC883 7 ,500 ,600 ,600 ,500 | _7.900
AKBFH RAC872 1 .500 .500 .500 .600 .400
RAC874 7 ,500 ,500 ,500 600 | 8 | 8400
RAC876 1 .500 .500 .500 600 | 8 .400
| RAC880 7 ,500 ,500 ,500 ,600
| RAC882 1 .500 .500 .500 .600
RAC884 7 i ,500 ,500 ,500 600 | 8 e
0GR ER) =55/ s (IEE) % | RAC81S 12.150 12.150 12.150 12.150
5 RAC816 12.150 12,150 12,150 12,150
SR RE)-EERE | @ GRE) * | RACES3 20.050 20.050 20,050 20,050
EEAEH RAC854 20.050 20.050 20.050 20.050 —
R (BB =53E Sh#8 (IRER) % | RACT721 | 3HAET 19.800 19.800 19.800 19.800 | 19.700 | 19.600 —
SHRER RAC724| 3B&IL 19.800 19.800 19.800 19,800 | 19.700 | 19.600 e




M$EZI511/3/7 1 EER (2R4~THEES)

EFEAR :2019/10/01 ~
o o o o 2/4 2/5 2/6 2/7 |
- g | AR R R O e et (R 7 (BT [T oAt (T T (R 7 (7 (o7 A7 (Rt [ (537 A7 T
AR T B4 | A | A | B | BN | EYE | BV | BT | ERE | R
PR (BB =RiE Sh4E GIRER) % | RACT705 — ,400 | 11,400 | 10.900 400 | 11 10.900 .400 .400 | 10.900 .000 400 | 11.200
FIEF RAC708 ,400 9.600 ,400 9.600 ,400 ,400 | 11,400 | 10.900
(BB =EE Sh4E GIRER) % | RAC801 .000 9.100 .000 9.100 .000 700 .000 | 10.800
EHE RAC804 ,000 | _9.100 ,000 ¥ | 9.100 ,000 ,700 | _9.700
= EEES RAC833 1.700 | _10.600 1.700 | 10.600 100 100 0.600
RAC837 7 1.700 1.700 | 10.600 .700 .700 | 10.600
RiESH RAC834 7 1.700 1.700 | 10.600 100 100 0.600
RAC838 7 1.700 1.700 | 10.600 .700 .700 | 10.600
R (B;=AKE P (IRE) & | RACST 1 - .500 .500 7.800 - .500 .500 7.900 —
RAC87. 7 ,500 ,500 7.800 ,500 ,500 7.900
RAC87! 1 .500 .500 7.800 .500 .500 7.900
RAC87! 7 ,500 ,500 7.800 ,500 ,500 7.900
| RAC88 1 .500 .500 7.800 .500 .500 7.900
RAC883 7 ,500 ,500 7.800 ,500 ,500 7.900
AKBFH RAC872 1 .500 .500 7.800 .500 .500 7.900
RAC874 7 ,500 ,500 7.800 ,500 ,500 7.900
RAC876 1 .500 .500 7.800 .500 .500 7.900
| RAC880 7 ,500 ,500 7.800 ,500 ,500 7.900
| RAC882 1 .500 .500 7.800 .500 .500 7.900
RAC884 7 i ,500 ,500 7.800 ,500 ,500 | 8 7.900 e
0GR ER) =55/ s (IEE) % | RAC81S 12.150 12.150 — 12.150 12.150
5 RAC816 12.150 12,150 12,150 12,150
SR RE)-EERE | @ GRE) * | RACES3 20.050 20.050 20,050 20,050
EEAEH RAC854 20.050 20.050 e 20.050 20.050 f— e
R (BB =53E Sh#8 (IRER) % | RACT721 | 3HAET 19.800 19.800 — 19.800 19.800 | 19.700 | 19.600 —
SHRER RAC724| 3B&IL 19.800 19.800 i 19.800 19,800 | 19.700 | 19.600 e




THEZIE11/3/71EEXR (2AS~11BERES)

EFEAR :2019/10/01 ~
o o o o 2/8 2/9 2/10 2/11 |
- g [ AR R G S e et (R 7 BT |7 oAt (T T (R 7 (7 (o7 A7 (RER 1 [ (a7 A7 T
ks | o | s | o | R B ms | mA| @A | Ead | Ead | Saw | SR BN B | ER | B4 | S| EAd | 208
PR (BB =RiE Sh4E GIRER) % | RACT705 — .500 | 11,900 | 11.700 200 | 11,600 | 11.200 .400 400 .400 400 | 9.600
FIEF RAC708 ,400 10.900 ,400 | 11,400 | 10.900 ,400 ,200 | 11,600 | 9.600
(BB =EE Sh4E GIRER) % | RAC801 700 10.800 700 9.700 700 700 10.800
EHE RAC804 700 | _9.700 700 | _9.700 ,700 ,700 | 9.100
= EEES RAC833 1.700 | _10.600 1.700 | 10.600 100 100 0.600
RAC837 7 1.700 1.700 | 10.600 .700 .700 | 10.600
RiESH RAC834 7 1.700 1.700 | 10.600 100 100 0.600
RAC838 7 1.700 1.700 | 10.600 .700 .700 | 10.600
R (B;=AKE P (IRE) & | RACST 1 - .500 .500 7.900 - .500 .500 7.800 —
RAC87. 7 ,500 ,500 7.900 ,500 ,500 7.800
RAC87! 1 .500 .500 7.900 .500 .500 7.800
RAC87! 7 ,500 ,500 7.900 ,500 ,500 7.800
| RAC88 1 .500 .500 7.900 .500 .500 7.800
RAC883 7 ,500 ,500 7.900 ,500 ,500 7.800
AKBFH RAC872 1 .500 .500 7.900 .500 .500 7.800
RAC874 7 ,500 ,500 7.900 ,500 ,500 7.800
RAC876 1 .500 .500 7.900 .500 .500 7.800
| RAC880 7 ,500 ,500 7.900 ,500 ,500 7.800
| RAC882 1 .500 .500 7.900 .500 .500 7.800
RAC884 7 i ,500 ,500 7.900 ,500 ,500 | 8 7.800 e
0GR ER) =55/ s (IEE) % | RAC81S 12.150 12.150 — 12.150 12.150
5 RAC816 12.150 12,150 12,150 12,150
SR RE)-EERE | @ GRE) * | RACES3 20.050 20.050 20,050 20,050
EEAEH RAC854 20.050 20.050 e 20.050 20.050 f— e
R (BB =53E Sh#8 (IRER) % | RACT721 | 3HAET 19.800 19.800 — 19.800 19.800 | 19.700 | 19.600 —
SHRER RAC724| 3B&IL 19.800 19.800 i 19.800 19,800 | 19.700 | 19.600 e




THEZIE11/3/71EEXR (2A21~24BEFEN)

EFEAR 2019/10/01 ~

o o o o 2/21 2/22 2/23 2/24 |
- g [ AR R G O e et (R 7 (BT [T oAty (AT T (R 7 7 (o7 A7 (R [ (537 A7 T
ks | o | s | o | R B ms | mA| @A | Ead | Ead | Saw | SR BN B | ER | B4 | S| EAd | 208
PR (BB =RiE Sh4E GIRER) % | RACT705 — .000 | 11.400 | 10.300 500 | 11 9.600 .500 900 | 9.600 .000 10.300
FIEF RAC708 ,600 9.600 ,600 9.600 ,600 1,200 10.300
(BB =EE Sh4E GIRER) % | RAC801 .000 9.700 700 10.800 700 .000 9.700
EET S RAC804 000 [ 9.100 ,000 | 10,200 | 9.100 000 700 [ 9.100
= EEES RAC833 1.700 | _10.600 1.700 11.200 100 100 200
RAC837 7 1.700 1.700 .700 .700 | 11.200
RiEHR RAC834 1 1.700 1.700 100 100 200
RAC838 7 1.700 1.700 .700 .700 | 11.200
R (B;=AKE P (IRE) & | RACST 1 - .500 .600 .600 .500 7.900 —
RAC87. 7 ,500 ,600 ,600 ,500 7.900
RAC87! 1 .500 .600 .600 .500 7.900
RAC87! 7 ,500 ,600 ,600 ,500 7.900
| RAC88 1 .500 .600 .600 .500 7.900
RAC883 7 ,500 ,600 ,600 ,500 | _7.900
AKBFH RAC872 1 .500 .500 .500 .600 .400
RAC874 7 ,500 ,500 ,500 600 | 8 | 8400
RAC876 1 .500 .500 .500 600 | 8 .400
| RAC880 7 ,500 ,500 ,500 ,600
| RAC882 1 .500 .500 .500 .600
RAC884 7 i ,500 ,500 ,500 600 | 8 e
0GR ER) =55/ s (IEE) % | RAC81S 12.150 12.150 12.150 12.150
5 RAC816 12.150 12,150 12,150 12,150
SR RE)-EERE | @ GRE) * | RACES3 20.050 20.050 20,050 20,050
EEAEH RAC854 20.050 20.050 20.050 20.050 —
R (BB =53E Sh#8 (IRER) % | RACT721 | 3HAET 19.800 19.800 19.800 19.800 | 19.700 | 19.600 —
SHRER RAC724| 3B&IL 19.800 19.800 19.800 19,800 | 19.700 | 19.600 e
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EEEAA :2019/10/01 ~
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= 5% HEITA HEHIE %{i&ﬂ T FES7D
E—5% F8 [ E=7 FH
B il Ay | EHE % BAMR #%
ECE IR RAC705 49% 3E8I | 11,300 J7K:11,000, :10,000
RAC708 50 SERT | 10,700 :10,000, F11.000
RO -BE RAGBOT 0% SEET | 10300 A B.10,600
[ RAGB04 X 0% SEHT | 10300 #9100, H10600
FEEA [RACE33 ) BA | 11700
[RACE3T ¥ T B | 11700
[RACE34 ) BA | 11700
[RACE38 T T B[ 11700
FROT TR BT % | RACETT I 20% HA | 8000
[RACST3 [ 294
[RACET5 [ 29%
[RAcs79 | s | 294
[RAGEST [ 29%
AC853 294
RKBE | RACSIZ [ 29%
[RACS74 294
[ 29%
[ 294
[ 29%
[ 294
R BRI =510 i (PR e | F 23%
5% [ 23%
ORI =REKRS | P GRER)% | F 24%
203 =
ARG -5E | Rain e | Aty SEE] | 20700 at% TEH | 20600 ai%
SHEE i SE#T | 207001 41% 7E# | 20600 4t
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= 5% - 7;.%@94“ . 7%{;&470 — @70
B il il m3iE il BAMR #%
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CET I T5h
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AR OBI) -ERXE [ @GR R | F 15%
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SHE 20 SEA | 26400 | 254 TEHT | 26.300
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FEEA [RACE33
[RAC83T
[RACE34
[RAC838
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[RAC873
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[RAC879
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AKEF | RACEI2
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=R B4 TEHIA HEHIE HEHIC FES7D
E—5% TR
% % wE AR %
AR -EE RACT05 JOKA:1.100
RAC708 111,100
AR -EE RACE01 W | A% 111,000
[ RAGB04 $1.12200 $1.11.000
FEEA [RACE33
[RAC83T
[RACE34
[RAC838
EC ) (7R F | RACET!
[RAC873
[RACET5
[RAC879
[RAGEST
AC853
AKEF | RACEI2
[RACa74
R BRI =510 i (PR e | F
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ORI =REKRS | P GRER)% | F
N L L
R =5BE bl (GREE) % | F 3HA] | 26400 [ 25% THAI | 26300
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o o o o 3/19 3/20 3/21 3/22 |
- g | AR R R S e et (R 7 (R [T oty (AT T (R 7 o7 (o7 A7 (R [ (537 AT T
ks | o | s | o | R B ms | mA| @A | Ead | Ead | Saw | SR BN B | ER | B4 | S| EAd | 208
PR (BB =RiE Sh4E GIRER) % | RACT705 — .000 | 12,400 | 12.200 .000 | 12 .200 .000 400 .800 .400
FIEF RAC708 1,200 | 10.800 ,700 .800 ,700 ,700 .800
e e Sk (AREH) | RACBO1 400 [ 11.000 400 400 400 | 1
EET S RAC804 400 400 400 400 | 1
= EEES RAC833 .000 .000 .000 .000
RAC837 7 ,000 ,000 ,000 ,000
RiEHR RAC834 1 .000 .000 .000 .000
RAC838 7 000 ,000 ,000 ,000
SRR (BB =AKE PR (ARER) % | RACST 1 .800 .800 .800 .800
RAC87. 7 .800 .800 .800 .800
RAC87! 1 .800 .800 .800 .800
RAC87! 7 .800 .800 .800 .800
| RAC88 1 .800 .800 .800 .800
RAC883 7 .800 .800 .800 .800
AKBFH RAC872 1 .800 .800 .800 .800 | 1
RAC874 7 .800 .800 .800 .800
RAC876 1 .800 .800 .800 .800
| RAC880 7 .800 .800 .800 .800 | 1
| RAC882 1 .800 .800 .800 .800 | 1
RAC884 7 i .800 .800 .800 ,.800
0GR ER) =55/ s (IEE) % | RAC81S 850 850 850 850
5 RAC816 850 850 850 850
SR RE)-EERE | @ GRE) * | RACES3 750 750 750 750
ESN-EA RAC854 o 23.750 o e 23.750 23.750 23.750
R (BB =53E ShAE GIRER) % | RACT21 i — 26.500 | 26.400 | 26.300 26.500 26.500 26.500
SHRER RAC724 i i 26.500 | 2 26.300 26.500 26.500 26.500
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SEREAE 2019/10/01 ~
10/27-31,11/5-9
[=45] 23 _ HBEMIE
FH EELE EEY [
BAMR| T | &i5iE "

R (IR =R1E S48 (IBER) % | RAC705 200 65%
155 RAC708 ,400 64% | KIKA:9.200
SR (B =B S8 (AMEE) % | RAC801 .100 55% | A X 7k:8.900
EESE RAC804 500 58% | @ T H:8.700

RAC



MEHEZI5I21 1 EEXR(11HA10~20BERS)

SEREAE 2019/10/01 ~
11/10-20
=) B4 =5 — BEMIE
mame| TR | g5 s
R (IR =R1E s6#E (FRTE) % | RAC705 200 65%
1EFE RAC708 ,400 64% | kIKA:9.200
SR (B =B S8 (AMEE) % | RAC801 .100 55% | A X 7k:8.900
EEHE RAC804 500 58% | @ T H:8.700

RAC



MEEZI5I21 1 EEXR (1121 ~30BERS)

SEREAE 2019/10/01 ~
11/21-30
=) B4 = — BEMIE
mame| TR | g5 s
R (IR =R1E S48 (IBER) % | RAC705 200 65%
B% RAC708 400 64% | KIKA:9.200
SR (B =B S8 (AMEE) % | RAC801 .100 55% | A X 7k:8.900
EEHE RAC804 500 58% |£:9.100. £ H:9.200

RAC
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EFEAR 2019/10/01 ~

12/1-5
RS B4 i BEMIE
A [ mme |E 78 [
BAMR| T | #i5iE "

R (IR =R1E S48 (IBER) % | RAC705 400 66% | A H:9.700
1E 5 RAG708 .700 68% | H:9.000
SR (B =B S8 (AMEE) % | RAC801 .400 56% |AH:9.700
BEHHE RAC804 400 56% H:9.700
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SEREAE 2019/10/01 ~
12/6-12
[=45] 23 ., HBEMIE
A [ mme |E 78 [
BAMR| T | &5 "

R (IR =R1E s6#E (FRTE) % | RAC705 700 65% | JKA9.400
1EFE RAC708 ,700 68% |%+ H:9.000
SR (B =B S8 (AMEE) % | RAC801 .700 54% [ A X7k:9.400
BEHHE RAC804 400 56% e ,700

RAC



MEEZI5I21 1 EEXR(12R13~26 BB RS)

SEREAE 2019/10/01 ~
12/13-26
[=45] 23 ., HBEMIE
A [ mme |E 78 [
BAMR| T | &i5iE u
SRR (BE)=RE s6#E (FRTE) % | RAC705 9.900 6 X:9.600. 7K:10.600
1EFE RAC708 10.000 64% |KAK:
HREB-EE S6%8 (FREE) % | RACBOI 9.900 5 Y
EEHE RAC804 9,600 55% |&T

RAC



MEEZIS21 1 EER(11A1~4BBED)

EEEME - 2019/10/01 ~
A1 11/2 11/3 11/4

- g [ e B €| BB TE| M

ss?@ua wwE | wEE | ERE | R

(BB =-RE SP#E(IRER) % | RACT05 .500 10.300 9.600 9.400
RiEHE RAC708 ,200 9,300 9,300 10.000

(BB =-Eh SP#E (IER) % | RACSO1 .100 9.800 9.800 9.100
EhE RAC804 ,700 8,900 8.900 9.800




MEHEZI5I21 1 EEXR(12A27~31 BERS)

BB 2019/10/01 ~

ﬁﬁg’ff'l 12/27 12/28 12/29 12/30 12/31
=) B4 TEETE| BRI T E| B EIMTE| BEIMTE[ BEITE

AR TR
(BB =-RE SP#E(IRER) % | RACT05 T .000 11.000 11.000 11.000 10.900
niEH RAC708 ,600 10.600 10.600 10.600 10.600
(BB =-Eh SP#E (IER) % | RACSO1 .300 10.800 10.800 10.800 10.000
EhE RAC804 ,300 10.300 10.300 10.000 10.000

RAC
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EFEAR 2019/10/01 ~

?#EBH“'I 1/1 1/2 1/3 1/4 1/5 1/6

RS B4 1B @7 E| B EI T E[ B EI 7 E[ B E I E[HEI T E[ B EITE
Bi%glli EEE | EAE | EAE e e e
B GRER) =R 1E sl (FRHE) % | RACT05 | 21¢ 600 | 10.600 | 10600 | 10.900 | 10.900 [ 9.200
HIEH RAC708 .600 | 10500 | 10500 | 10,400 | 10.400 | 9.400
B GR B =28 S48 (IBER) % | RACSO1 000 | 10200 | 10200 | 10.300 | 10.300 | 8.900
EESE RAC804 000 | 10.000 | 10300 | 10,300 | 10.300 | 8.800




TEEZISI21 1 EEXRAT~IBEED)

SEREAE 2019/10/01 ~
1/7-9
=30 i %3 BEMIE
FH EELE EEH [
BAMR| T | &i5iE "

R (IR =R1E s6#E (FRTE) % | RAC705 200 65%

FIEF RAC708 ,200 65%
SR (B =B S8 (AMEE) % | RAC801 .900 56% | 4:9.200

BEHHE RAC804 .900 56%

RAC



MEEEIS121 SEER (1A 14~20BEED)

SEREAE 2019/10/01 ~
1/14-20
=) B4 =5 — BEMIE
mame| TR | g5 s
R (IR =R1E s6#E (FRTE) % | RAC705 200 65%
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RiE-EY BT RAC833 [ 55 .900 7
RAC837 | 55 .900 7%
GiE% RAC834 | 55 .900 7
RAC838 | 55 .900 7%
SRR (BB =AKE h#8 (3R¥E) % [ RAC8T1] 55 .900 60¢
RAC87. 55 400 48%
RAC875 | 55 .400 8%
RAC87! 55 400 48%
[ RAC881| 55 .400 8%
RAC883 | 55 .900 60%
XkB% | RAC872| 55 .400 48%
RAC874 | 55 400 48%
RAC876 | 55 .400 8%
[ RAC880| 55 400 48%
| RAC882 | 55 .400 8%
RAC884 | 55 .900 60%
AR () =55 S8 (AR3E) % | RAC815 | 55 9.100 44%
5% RAC816 | 55 9.100 44%
SRR (IRER) =EEKRE | 948 () % [ RAC8S3 | 55 5.200 43%
£XB% | RACB54| 55 5200 | 43%
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 7.800 46%
5 ARE RAC72: 55 7.800 46%

RAC



TR—N—%FGIEER(A14~208EFED)

EF#EAR - 2019/10/01 ~

21 T
=) B | WAM T Al s
B | ammm | ERT e
R (IR =R1E 4 (ABEE) % | RACT05 | 55 6.900 74 £H:7.200
FIEF RAC708 | 55 6.800 74 £+ H:7,000
(BB =EE Sh#B (ARER) % | RAC801 [ 55 7.300 64% | A Xk:7.000
EE R RAC804 | 55 900 66% £H7.100
RiE-EY BT RAC833 [ 55 .900 7
RAC837 | 55 .900 7%
EEE RAC834 | 55 .900 7
RAC838 | 55 .900 7%
SRR (BB =AKE h#8 (3R¥E) % [ RAC8T1] 55 .900 60¢ :5.500
RAC87. 55 400 48% :6.800
RAC875 | 55 400 48% :6.800
RAC87! 55 400 48% :6.800
[[RACS81 | 55 400 48% :6.800
RAC8S: 55 ,900 60% :5,500
AKBFE | RACBT2| 55 400 48% :6.800
RAC874 | 55 400 48% :6.800
RAC876 | 55 400 48% :6.800
[ RAC880| 55 400 48% :6.800
[ RAC882 | 55 400 48% :6.800
RAC884 | 55 ,900 60% :5,500
AR () =55 S8 (AR3E) % | RAC815 | 55 9.100 44% :9.300
5% RAC816 | 55 9.100 44% :9.300
ShEB (BB =EEKRS | h4E(IER) % | RAC853 [ 55 5.200 43% :15.400
£XB% | RACB54| 55 5200 | 43% |+ H:15.400
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 7.800 46%
5 ARE RAC72: 55 7.800 46%




TR—N—%FIEEXROA21~3IBEED)

EF#EAR - 2019/10/01 ~

5 ST
=) B | WAM T Al s
B | ammm | ERT e
R (IR =R1E 4 (ABEE) % | RACT05 | 55 6.900 74 £H:7.200
FIEF RAC708 | 55 6.800 74 £+ H:7,000
(BB =EE Sh#B (ARER) % | RAC801 [ 55 7.300 64% | A Xk:7.000
EE R RAC804 | 55 900 66% £H7.100
RiE-EY BT RAC833 [ 55 .900 7
RAC837 | 55 .900 7%
EEE RAC834 | 55 .900 7
RAC838 | 55 .900 7%
SRR (BB =AKE h#8 (3R¥E) % [ RAC8T1] 55 .900 60¢ :5.500
RAC87. 55 400 48% :6.800
RAC875 | 55 400 48% :6.800
RAC87! 55 400 48% :6.800
[[RACS81 | 55 400 48% :6.800
RAC8S: 55 ,900 60% :5,500
AKBFE | RACBT2| 55 400 48% :6.800
RAC874 | 55 400 48% :6.800
RAC876 | 55 400 48% :6.800
[ RAC880| 55 400 48% :6.800
[ RAC882 | 55 400 48% :6.800
RAC884 | 55 ,900 60% :5,500
AR () =55 S8 (AR3E) % | RAC815 | 55 9.100 44% :9.300
5% RAC816 | 55 9.100 44% :9.300
ShEB (BB =EEKRS | h4E(IER) % | RAC853 [ 55 5.200 43% :15.400
£XB% | RACB54| 55 5200 | 43% |+ H:15.400
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 7.800 46%
5 ARE RAC72: 55 7.800 46%




[R——5%G1EEXR(2A1~3BEES)

SER#EAE - 2019/10/01 ~
2/1-3
I =y
=30 Ea | BAM ET R——%8
2] EEE B51% W&
R (IR =R1E 4 (ABEE) % | RACT05 | 55 7.200 73%
RiEHE RAC708 | 55 7.000 73%
(B =E S %8 (FREE) % | RACBOT | 55 7.300 64%
EESE RAC804 | 55 7.100
RiE-EY BT RAC833 [ 55 .900
RAC837 | 55 .900
GiE% RAC834 | 55 .900
RAC838 | 55 .900
SRR (BB =AKE h#8 (3R¥E) % [ RAC8T1] 55 .500
RAC87. 55 ,900
RAC875 | 55 .900
RAC87! 55 ,900
[ RAC881| 55 .900
RAC883 | 55 500
XkB% | RAC872| 55 .900
RAC874 | 55 ,900
RAC876 | 55 .900
[[RAC880 | 55 .900
| RAC882 | 55 .900
RAC884 | 55 500
AR () =55 S8 (AR3E) % | RAC815 | 55 .300
5% RAC816 | 55 .300 43% [H:9.100
ShEB (BB =EEKRS | h4E(IER) % | RAC853 [ 55 5.400 42% | H:15.200
ESN-EA RAC85: 55 5,400 42% H:15.200
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 7.800 46%
5 ARE RAC72: 55 7.800 46%

RAC



[R—N—%FGIEER(Q2A12~18BEEN)

EF#EAR - 2019/10/01 ~

=1 L
= BE | BAM s il
B | ammm | ERT s
R (IR =R1E 4 (ABEE) % | RACT05 | 55 6.800 74 £H:7.000
FIEF RAC708 | 55 6.800 74 £+ H:7,000
(BB =EE Sh#B (ARER) % | RAC801 [ 55 7.300 64% | A Xk:7.000
EE R RAC804 | 55 900 66% £H7.100
FE-EE EER RAC833 | 55 .900 7
RAC837 | 55 .900 7%
EEE RAC834 | 55 .900 7
RAC838 | 55 .900 7%
SRR (BB =AKE h#8 (3R¥E) % [ RAC8T1] 55 .900 60¢ :5.500
RAC87. 55 ,600 46% :6.900
RAC875 | 55 600 46% :6.900
RAC87! 55 ,600 46% :6.900
[[RACS81 | 55 600 46% :6.900
RAC8S: 55 ,900 60% :5,500
AKBFE | RACBT2| 55 600 46% :6.900
RAC874 | 55 ,600 46% :6.900
RAC876 | 55 600 46% :6.900
[ RAC880| 55 ,600 46% :6.900
[ RAC882 | 55 600 46% :6.900
RAC884 | 55 ,900 60% :5,500
AR () =55 S8 (AR3E) % | RAC815 | 55 9.100 44% :9.300
5% RAC816 | 55 9.100 44% :9.300
ShEB (BB =EEKRS | h4E(IER) % | RAC853 [ 55 5.200 43% :15.400
£XB% | RACB54| 55 5200 | 43% |+ H:15.400
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 7.800 46%
5 ARE RAC72: 55 7.800 46%




TR—N—%FGIHEER(Q2A19~29B8EFEN)

SER#EAE - 2019/10/01 ~
Fy 2/;9_3(1,1/;5@29
=) B | WAM T i
B | ammm | ERT s
R (IR =R1E 4 (ABEE) % | RACT05 | 55 6.800 74% _|K:6.900, %:7.200, £:7.100
niEH RAC708 | 55 6.800 74 A:6,900, £:7,200, £:7.100
(B =E S %8 (FREE) % | RACBOT | 55 7.300 64% | 2k7k:7.000
EE R RAC804 | 55 900 66% 000, %:7.300, £:7.200
BE-ER e RAC833 | 55 .900 7
RAC837 | 55 .900 7%
EEE RAC834 | 55 .900 7
RAC838 | 55 .900 7%
SRR (BB =AKE h#8 (3R¥E) % [ RAC8T1] 55 .900 60¢ £:5.500
RAC87. 55 ,600 46% ,900
RAC875 | 55 600 46% .900
RAC87! 55 ,600 46% ,900
[[RACS81 | 55 600 46% .900
RAC8S: 55 ,900 60% 500
AKBFE | RACBT2| 55 600 46% .900
RAC874 | 55 ,600 46% ,900
RAC876 | 55 600 46% .900
[ RAC880| 55 ,600 46% ,900
[ RAC882 | 55 600 46% .900
RAC884 | 55 ,900 60% ,500
AR () =55 S8 (AR3E) % | RAC815 | 55 9.100 44% .300
5% RAC816 | 55 9.100 44% .300
ShEB (BB =EEKRS | h4E(IER) % | RAC853 [ 55 5.200 43% 15.400
£XB% | RACB54| 55 5200 | 43% [%1:15.400
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 7.800 46%
5 ARE RAC72: 55 7.800 46%

RAC



TR—N—%FGIEEXROA10~13BEED)

SER#EAE - 2019/10/01 ~
v 1/10 /11 1/12 1/13
[=45] ;23 BA A= =518 | R—/S—%#@ | 2~/ %8 | R—/—%i8
B A | EEE | 86 | A8
PEGRER =B %8 (FRTR) % | RACT05 | 55 7.300
FIEF RAC708 | 55 6.800
SRR -EE %8 (FREE) % | RACBOT | 55 7.300
EESE RAC804 | 55 7.300
= BT RAC833 | 56 .900
RAC837 | 55 .900
REH RAC834 | 55 .900
RAC838 | 55 .900
PR =A XS S (BR%R) % | RAC871] 55 .500
RAC87: 55 .800
RAC875 | 55 .800
RAC87! 55 .800
[ RAC881| 55 .800
RAC883 | 55 500
XkB% | RAC872| 55 .800
RAC874 | 55 .800
RAC876 | 55 800
[[RAC880 | 55 800
| RAC882 | 55 800 | 6.
RAC884 | 55 500 [
R =55 s (ILEE) % [ RACB15 | 55 .300 T
5 RAC816 | 55 .300 [ 1c
ShEB (BB =EEKRS | h4E(IER) % | RAC853 [ 55 5.400 1
EEKESH | RACSS4| 55 5.400 1
MBI =5FE | 4B GRE) % | RACT21 | 55 7.800 I
EMEH | RACT24] 55 7.800 |1

RAC



[R—I—5%BEER(QA4~11BEED)

SER#EAE - 2019/10/01 ~
v 2/4 2/5 2/6 2/7 2/8 2/9 2/10 2/11
[=45] ;23 B‘A.M A= {518 | R—/S—%#8 | /%8 | R—/—%#@ | /%8 | R—/—%#@ | /%8 | 2%
B EEAE | EEE | A | EAE | EEE | E0E | BaE | 868
R (IR =R1E %8 (FRTR) % | RACT05 | 55 6.900 7.200 7.100 5.900
EiE% RAC708 | 55 6.800 6,400 7,000
(BB =-Eh Sh#8 (IRER) % | RAC801 | 55 7.000 7.300 8.400
EE R RAC804 | 55 900 7.200 7.400
= BT RAC833 [ 55 .900
RAC837 | 55 .900
GiE% RAC834 | 55 .900
RAC838 | 55 .900
PR =A XS S (BR%R) % | RAC871] 55 .900
RAC87. 55 ,600
RAC875 | 55 600
RAC87! 55 ,600
[ RAC881| 55 600
RAC883 | 55 .900
XkB% | RAC872| 55 600
RAC874 | 55 ,600
RAC876 | 55 600
[[RAC880 | 55 600
| RAC882 | 55 600
RAC884 | 55 .900
AR () =55 S8 (AR3E) % | RAC815 | 55 9.100
5 RAC816 | 55 9.100
SRR (IRER) =EEKRE | 948 () % [ RAC8S3 | 55 5.200
£XB% | RACB54| 55 5,200
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 7.800
5 ARE RAC72: 55 7.800

RAC



TR—N—%FGIHEER(QA21~24BEFEN)

EF#EAR - 2019/10/01 ~

By 220 2/22 2/23 2/24
[=45] ;23 BA A= =518 | R—/S—%#@ | 2~/ %8 | R—/—%i8
B A | EEE | 86 | A8
PEGRER =B %8 (FRTR) % | RACT05 | 55 7.300
FIEF RAC708 | 55 6.900
SRR -EE %8 (FREE) % | RACBOT | 55 7.300
EESE RAC804 | 55 7.100
= BT RAC833 | 56 .900
RAC837 | 55 .900
REH RAC834 | 55 .900
RAC838 | 55 .900
PR =A XS S (BR%R) % | RAC871] 55 .500
RAC87: 55 .900
RAC875 | 55 .900
RAC87! 55 .900
[ RAC881| 55 .900
RAC883 | 55 500
XkB% | RAC872| 55 .900
RAC874 | 55 .900
RAC876 | 55 .900
[[RAC880 | 55 .900
| RAC882 | 55 .900 | 6.
RAC884 | 55 500 [
R =55 s (ILEE) % [ RACB15 | 55 .300 T
5 RAC816 | 55 .300 [ 1c
SRR (IRER) =EEKRE | 948 () % [ RAC8S3 | 55 5.400 1
EEABH | RAC854] 55 5.400 1
MBI =5FE | 4B GRE) % | RACT21 | 55 7.800 I
EMEH | RACT24] 55 7.800 |1




[R——5%1G1EEXRBAI~5BEES)

SER#EAE - 2019/10/01 ~
3/1-5
I =y
=30 Ea | BAM =W R——%8
2] EEE H51% W&
R (IR =R1E 4 (ABEE) % | RACT05 | 55 6.900 75% | H:7.100
RiEHE RAC708 | 55 6.900 75% :7.100
(BB =EE Sh#B (ARER) % | RAC801 [ 55 8.000 62% | AJK:7.700
EhHE RAC804 | 55 7.000 67% 17,200
RiE-EY BT RAC833 [ 55 .900 30%
RAC837 | 55 .900 30%
GiE% RAC834 | 55 .900 30%
RAC838 | 55 .900 30%
PR =A XS S (BR%R) % | RAC871] 55 .900 54% 1:6.200
RAC87. 55 400 50% :6.700
RAC875 | 55 .400
RAC87! 55 400
[ RAC881| 55 .400
RAC883 | 55 .900
AXEH RAC872 | 55 400
RAC874 | 55 400
RAC876 | 55 .400
[[RAC880 | 55 400
| RAC882 | 55 .400
RAC884 | 55 .900
AR () =55 S8 (AR3E) % | RAC815 | 55 100
5% RAC816 | 55 100
ShEB (BB =EEKRS | h4E(IER) % | RAC853 [ 55 5.200
£XB% | RACB54| 55 5,200
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 7.800
5 ARE RAC72: 55 7.800

RAC



[R—I—5%BEERCGA~1TAEED)

SER#EAE - 2019/10/01 ~
3/6-11
I =y
=30 Ea | BAM = R——%8
B amam |70 e
R (IR =R1E 4 (ABEE) % | RACT05 | 55 6.900 75% | %:1.600. £ H:7.100
niEH RAC708 | 55 6.900 75% |£:7.600, £ H:7.100
(BB =EE Sh#B (ARER) % | RAC801 [ 55 7.900 63% + H:8.300
EhHE RAC804 | 55 7.000 67% 17,400, + H:7.200
RiE-EY BT RAC833 [ 55 .900 30%
RAC837 | 55 .900 30%
EEE RAC834 | 55 .900 30%
RAC838 | 55 .900 30%
PR =A XS SR (AR .900 54% :6.200
400 50% :6.700
.400 50% :6.700
400 50% :6.700
.400 50% :6.700
.900 54% 06,200
AXBH 400 50% :6.700
400 50% :6.700
.400 50% :6.700
400 50% :6.700
.400 50% :6.700
.900 54% 06,200
(BB =58 R (W) .100 48% :9.300
RAC 55 ,100 48% 19,300
RAC 55 100 48% :9.300
RAC815 | 55 ,100 48% 19,300
RAC 55 100 48% :9.300
EX ¥ RAC 55 ,100 48% 19,300
RAC 55 100 48% :9.300
RAC 55 ,100 48% 19,300
RAC816 | 55 100 48% :9.300
RAC820 | 55 ,100 48% 19,300
ShEB (BB =EEKRS | h4B(IER) % | RAC8S53 [ 55 5.200 46% :15.400
£XB% | RACB54| 55 5200 | 46% |+ H:15.400
SRR (FRER) =5 3@ | shaB(INER) % | RACT21 | 56 7.800 49%
5 ARE RAC72: 55 7.800 49%

RAC



[R—N\—%FGIHEEXRGBAI12~18BEEN)

EF#EAR - 2019/10/01 ~

3/12-18

F Y

BXFd B4 | mAG = 2—/\—5% 5

R | e |00 %
R (IR =R1E 4 (ABEE) % | RACT05 | 55 7.100 74% | K7K:7.400. :6.900, £ +:7.600

niEH RAC708 | 55 7.600 72% H B:7.300, X:6.900

SR (B =B SR (FRER) % | RAC801 | 55 8.600 60% [A:8.300. £+ H:8.900

EEE RAC804 | 55 7.200 66% | A A:7.000, 400
RiE-EY EEES RAC833 [ 55 .900
RAC837 | 55 .900
GiE% RAC834 | 55 .900
RAC838 | 55 .900
PR =A XS S (BR%R) % | RAC871] 55 .000
RAC87. 55 ,600
RAC875 | 55 600
RAC87! 55 ,600
[ RAC881| 55 600
RAC883 | 55 .000
XkB% | RAC872| 55 600
RAC874 | 55 ,600
RAC876 | 55 600
[[RAC880 | 55 600
| RAC882 | 55 600
RAC884 | 55 000
AR () =55 S8 (AR3E) % | RAC815 | 55 .100
5% RAC816 | 55 100
SRR (IRER) =EEKRE | 948 () % [ RAC8S3 | 55 .200
| [ #xxe% |RACE54|55 200
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 .300
5 ARE RAC72: 55 ,300




[R—N\—%GIHEER(BA23~28BEFEN)

SER#EAE - 2019/10/01 ~
3/23-28
I -y
=30 Ea | BAM = R——%8
B amam |70 e
R (IR =R1E 4 (ABEE) % | RACT05 | 55 7.400 73% | H:1.100. & £:7.600
RiEHE RAC708 | 55 7.600 72% H:7.300
(BB =EE Sh#B (ARER) % | RAC801 [ 55 8.600 60% | AK£+:8.900
EhHE RAC804 | 55 7.200 66% | A:7.000, % +:7.400
RiE-EY BT RAC833 [ 55 .700 25%
RAC837 | 55 700 25%
GiE% RAC834 | 55 700 | 25%
RAC838 | 55 700 | 25%
SRR (BB =AKE h#8 (3R¥E) % [ RAC8T1] 55 .000 53%
RAC87. 55 ,600 49%
RAC875 | 55 600 29%
RAC87! 55 ,600 49%
[ RAC881| 55 600 29%
RAC883 | 55 .000 53%
XkB% | RAC872| 55 600 49%
RAC874 | 55 ,600 49%
RAC876 | 55 600 29%
[[RAC880 | 55 600 49%
| RAC882 | 55 600 29%
RAC884 | 55 000 53%
AR () =55 S8 (AR3E) % | RAC815 | 55 100 25%
5% RAC816 | 55 100 25%
SRR (IRER) =EEKRE | 948 () % [ RAC8S3 | 55 .200 24%
| [ #xxe% |RACE54|55 200 | 24%
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 .300 48%
5 ARE RAC72: 55 ,300 48%

RAC



[R—N\—%FGIHEERGBA19~22BEFEN)

SER#EAE - 2019/10/01 ~
v 3/19 3/20 3/21 3/22
=45} B2 BA A= =518 | R—/S—%#@ | 2~/ %8 | R—/—%i8
B Ews | swm | EneE | EnE
R (IR =R1E %8 (FRTR) % | RACT05 | 55 8700
FIEF RAC708 | 55 7.600
(B =E S %8 (FREE) % | RACBOT | 55 .900
EESE RAC804 | 55 900
= EEES RAC833 | 56 .900
RAC837 | 55 .900
GiE% RAC834 | 55 .900
RAC838 | 55 .900
PR =A XS S (BR%R) % | RAC871] 55 .500
RAC87. 55 ,100
RAC875 | 55 100
RAC87! 55 ,100
[ RAC881| 55 100
RAC883 | 55 500
XkB% | RAC872| 55 100
RAC874 | 55 ,100
RAC876 | 55 100
[[RAC880 | 55 100
| RAC882 | 55 100
RAC884 | 55 00
AR () =55 S8 (AR3E) % | RAC815 | 55 .300
5 RAC816 | 55 ,300
SRR (IRER) =EEKRE | 948 () % [ RAC8S3 | 55 1400
|| #mEXE%K [RAC854]| 55 400
SRR (FRER) =5 3E | haB(INER) % | RACT21 | 56 .300
5 ARE RAC72: 55 ,300

RAC



TS %RBIEER(12A13~26BEED)

SER#EAE - 2019/10/01 ~
12/13-26
XA 23 sg)ag TS EF
B amam |70 s
R (IR =R1E 5®%E (ARER) % | RACT05 | 7 7.100 74% _| J:6.800, 7K:8.000, A:7.700
niEH RAC708 | 7 7.000 75% | 7KAK:7.400
SR (B =B S (FRER) % | RAC801 | 7 .800 68% | A kK:6.500
EEHE RAC804 [ 7 300 | 70% |2
EE-EE EER RAC833| 7 800
RAC83 7 ,800
RIER RAC834] 7 800
RAC838 | 7 .800
SRR (BB =AKE B (ARER) % [ RAC8T1] 7 .300
RAC87. 7 400 58%
RAC875| 7 400 58%
RAC87! 7 400 58%
[ RACS81 | 7 400 58%
RAC88: 7 ,300 67%
AkB% | RAC872]| 7 400 58%
RAC874| 7 400 58%
RAC876 | 7 400 58%
[ RAC880| 7: 400 58%
[ RAC882[ 7 400 58%
RAC88: 7 ,300 67% o 900
AR () =55 S8 (AN3E) % | RACB15 | 7' 9.100 48% | 4:10.300. £+ H:9.300
5% RAC81 7 9.100 48% | 7K:10.300, £+ H:9.300
SRR (IRER) =EEKRE | h#8 (IE) % [ RACSS3 | 7 0,000 64% :14.400. £ +:14.600
ESN-EA RAC85: 7 0.000 64% |+ H:14,600
SRR (R =5 3E | haB(NER) % | RACT21 | 7 7.900 49%
5 ARE RAC72: 7 7.900 49%

RAC



TS BIEER(12A27~31BEED)

SER#EAE - 2019/10/01 ~

12/27
FH [OLSE

=] Ea | BAM &

B | aam

iR (RER)=R1E S4B (ARER) % | RACT05] 7 8,300
GiE% RAC708] 7 7.500

iR (RER) =T i (ARFR) % | RAC801 | 7 8,000
=ER RAC804 | 7 7.500

E-EH =mH [ RAC833| 7 .900
RAC837] 7 .900

HiE% | RACB34| 7 ,900

RAC838| 7 .900

BB =AKE h#8 (ARER) % [ RACET1] 7 6.200
RAC873| 7 7.800

RAC875 | 7 7.800

RAC879| 7 7.800

[RACSB81 | 7 7.800

RAC883| 7 6.200

ARBR RAC872 | 7 7.800

RAC874] 7 7.800

RAC876 | 7 7.800

| RAC880| 7 7.800

[ RACB82 | 7 7.800

RAC884 | 7 6.200

BB =53 S (FRER) ¢ | RACB15] 7 .300
CEY RACB16] 7 300

PERE) =EEKRE | 94 (IRE) 5 [ RACSS3 | 7 400
BEARBR | RACS54] 7 .400

R (AR ER) =5 BE shiB (ARER) % | RACT21] 7 .900
EIMESR | RACT24] 7 7.900

RAC



TSR FIERER(A1~6BERD)

SER#EAE - 2019/10/01 ~

1/1
F# [OLS%E

=] Ea | BAM &

B | mam

iR (RER)=R1E S4B (ARER) % | RACT05] 7 7.700
GiE% RAC708] 7 7.600

iR (RER) =T i (ARFR) % | RAC801 | 7 7.700
=ER RAC804 | 7 7.600

E-EH =mH [ RAC833| 7 .600
RAC837] 7 600

RiEH | RAC8S34| 7 ,600

RAC838| 7 600

BB =AKE h#8 (ARER) % [ RACET1] 7 6.100
RAC873| 7 7.700

RAC875 | 7 7.700

RAC879| 7 7.700

[ RACB81| 7 7.700

RAC883| 7 6.100

ARBR RAC872 | 7 7.700

RAC874] 7 7.700

RAC876 | 7 7.700

| RAC880| 7 7.700

| RAC882 | 7. 7.700

RAC884 | 7 6.100

BB =53 S (FRER) ¢ | RACB15] 7 100
CEY RACB16] 7 100

PERE) =EEKRE | 94 (IRE) 5 [ RACSS3 | 7 ,000
BEARBR | RACS54] 7 .200

R (AR ER) =5 BE shiB (ARER) % | RACT21] 7 .900
EIMESR | RACT24] 7 7.900

RAC



TNSEFIERER(AT~IBERD)

SER#EAE - 2019/10/01 ~
1/71-9
F S&E
] @e | mAM = ISR
B | ammm | ERT e

R (IR =R1E 5®%E (ARER) % | RACT05 | 7 .000 7%
RiEHE RAC708 | 7 ,000 7%

SR (B =B S (FRER) % | RAC801 | 7 .500 68% [A:6.800
EHE RAC80: 7 .300 69%
RiE-EY BT RAC833 [ 7 .800 28%
RAC83 7 ,800 28%
EEE RAC834| 7 800 28%
RAC838 | 7 800 28%
SRR (BB =AKE B (ARER) % [ RAC8T1] 7 .000 67%
RAC87. 7 400 56%
RAC875| 7 400 56%
RAC87! 7 400 56%
[ RACS81 | 7 400 56%
RAC88: 7 ,000 67%
AKBIE |RACST2| 7 400 56%
RAC874| 7 400 56%
RAC876 | 7 400 56%
[ RAC880| 7: 400 56%
[ RAC882[ 7 400 56%
RAC88: 7 ,000 67%
AR () =55 S8 (AN3E) % | RACB15 | 7' 8.900 45%
5% RAC81 7 8.900 45%
SRR (IRER) =EEKRE | h#8 (IE) % [ RACSS3 | 7 0.000 63%
ESN-EA RAC85: 7 0.000 63%
SRR (R =5 3E | haB(NER) % | RACT21 | 7 7.400 48%
5 ARE RAC72: 7 7.400 48%

RAC



TS5 BIEER(1A14~20B-ES)

SER#EAE - 2019/10/01 ~
1/14-20
F ey
XA B4 | mAG - TS EF
B | ammm | ERT s
R (IR =R1E 5®%E (ARER) % | RACT05 | 7 .000 7%
RiEHE RAC708 | 7 ,000 7%
SR (B =B S (FRER) % | RAC801 | 7 .800 66% | A kK:6.500
EE R RAC804 [ 7 300 69% |+ H:6.600
RiE-EY BT RAC833 [ 7 .800 28%
RAC83 7 ,800 28%
EEE RAC834| 7 800 28%
RAC838 | 7 800 28%
SRR (BB =AKE B (ARER) % [ RAC8T1] 7 .000 67% + H:4.600
RAC87. 7 400 56%
RAC875| 7 400 56%
RAC87! 7 400 56%
[ RACS81 | 7 400 56%
RAC88: 7 ,000 67%
AkB% | RAC872]| 7 400 56%
RAC874| 7 400 56%
RAC876 | 7 400 56%
[ RAC880| 7: 400 56%
[ RAC882[ 7 400 56%
RAC88: 7 ,000 67%
AR () =55 S8 (AN3E) % | RACB15 | 7' 8.900 45% :9.100
5% RAC81 7 8.900 45% 09,100
SRR (IRER) =EEKRE | h#8 (IE) % [ RACSS3 | 7 0,000 63% :14.200
ESN-EA RAC85: 7 0.000 63%
SRR (R =5 3E | haB(NER) % | RACT21 | 7 7.400 48%
5 ARE RAC72: 7 7.400 48%

RAC



TS %RBIEER(A21~31BEES)

SER#EAE - 2019/10/01 ~
1/21-31
F ey
XA B4 | mAG - TS EF
B | ammm | ERT s
R (IR =R1E 5®%E (ARER) % | RACT05 | 7 .000 7%
RiEHE RAC708 | 7 ,000 7%
SR (B =B S (FRER) % | RAC801 | 7 .800 66% | A kK:6.500
EE R RAC804 [ 7 300 69% |+ H:6.600
RiE-EY BT RAC833 [ 7 .800 28%
RAC83 7 ,800 28%
EEE RAC834| 7 800 28%
RAC838 | 7 800 28%
SRR (BB =AKE B (ARER) % [ RAC8T1] 7 .000 67% + H:4.600
RAC87. 7 400 56%
RAC875| 7 400 56%
RAC87! 7 400 56%
[ RACS81 | 7 400 56%
RAC88: 7 ,000 67%
AkB% | RAC872]| 7 400 56%
RAC874| 7 400 56%
RAC876 | 7 400 56%
[ RAC880| 7: 400 56%
[ RAC882[ 7 400 56%
RAC88: 7 ,000 67%
AR () =55 S8 (AN3E) % | RACB15 | 7' 8.900 45% :9.100
5% RAC81 7 8.900 45% 09,100
SRR (IRER) =EEKRE | h#8 (IE) % [ RACSS3 | 7 0,000 63% :14.200
ESN-EA RAC85: 7 0.000 63%
SRR (R =5 3E | haB(NER) % | RACT21 | 7 7.400 48%
5 ARE RAC72: 7 7.400 48%

RAC



TSR FIERR(2A1~3BERD)

SER#EAE - 2019/10/01 ~
2/1-3
F Eyy-y
XA B4 | mAG - TS EF
B | ammm | ERT s

R (IR =R1E 34 (ABHE) % | RACT705| 7 .000 7%
RiEHE RAC708 | 7 ,000 7%

SR (B =B S (FRER) % | RAC801 | 7 .800 66% | F:6.500

EHE RAC80: 7 ,600 67% H:6.300
BE-EE BT RAC833| 7 800 28%
RAC83 7 ,800 28%
EEE RAC834| 7 800 28%
RAC838 | 7 .800 28%

SRR (BB =AKE B (ARER) % [ RAC8T1] 7 .000 59% |H:4.700

RAC87. 7 900 52% H:5.600

RAC875| 7 .900 52% | H:5.600

RAC87! 7 900 52% H:5.600

[ RACS81 | 7 .900 52% | H:5.600

RAC88: 7 ,000 59% H:4.700

AKBIE |RACST2| 7 .900 52% | H:5.600

RAC874| 7 ,900 52% H:5.600
RAC876 | 7 .900 52%
[ RAC880| 7: ,900 52%
[ RAC882[ 7 .900 52%
RAC88: 7 ,000 59%
AR () =55 S8 (AN3E) % | RACB15 | 7' 100 44%
Eifg RAC816| 7 100 44%
SRR (IRER) =EEKRE | h#8 (IE) % [ RACSS3 | 7 4.400 46%
ESN-EA RAC85: 7 4.400 46%
SRR (R =5 3E | haB(NER) % | RACT21 | 7 7.400 48%
5 ARE RAC72: 7 7.400 48%

RAC



TS %RBIEER(CA12~18AEES)

SER#EAE - 2019/10/01 ~
2/12-18
F S&E
XA B4 | mAG - TS EF
B | ammm | ERT s
R (IR =R1E 5®%E (ARER) % | RACT05 | 7 .900 78% | &+ H:6.000
RiEHE RAC708 | 7 ,000 7%
SR (B =B S (FRER) % | RAC801 | 7 .800 66% | A kK:6.500
EE R RAC804 [ 7 300 69% |+ H:6.600
RiE-EY BT RAC833 [ 7 .800 28%
RAC83 7 ,800 28%
EEE RAC834| 7 800 28%
RAC838 | 7 800 28%
SRR (BB =AKE B (ARER) % [ RAC8T1] 7 .700 62% + H:5.000
RAC87. 7 ,600 b
RAC875| 7 600
RAC87! 7 ,600
[ RACS81 | 7 600
RAC88: 7 ,700 62%
AkB% | RAC872]| 7 600
RAC874| 7 ,600
RAC876 | 7 600
[ RAC880| 7: ,600
[ RAC882[ 7 600
RAC88: 7 ,700 62%
AR () =55 S8 (AN3E) % | RACB15 | 7' 8.900 45%
5% RAC81 7 8.900 45%
SRR (IRER) =EEKRE | h#8 (IE) % [ RACSS3 | 7 0.000 63%
ESN-EA RAC85: 7 0.000 63% |+ H:14,400
SRR (R =5 3E | haB(NER) % | RACT21 | 7 7.400 48%
5 ARE RAC72: 7 7.400 48%

RAC



TS5 RBIEER(CA19~29BEES)

SER#EAE - 2019/10/01 ~
2/19-20,2/25-29
Fy v
XA B4 | mAG - TS EF
B | ammm | ERT e
R (IR =R1E 5®%E (ARER) % | RACT05 | 7 .000 77% | K7K5.900
RiEHE RAC708 | 7 ,000 7%
SR (B =B S (FRER) % | RAC801 | 7 .800 66% [ X 7K:6.500
EE R RAC804 [ 7 300 69% |2 +:6.600
RiE-EY BT RAC833 [ 7 .800 28%
RAC83 7 ,800 28%
EEE RAC834| 7 800 28%
RAC838 | 7 800 28%
SRR (BB =AKE B (ARER) % [ RAC8T1] 7 .700 62%
RAC87. 7 ,600 b
RAC875| 7 600
RAC87! 7 ,600
[ RACS81 | 7 600
RAC88: 7 ,700 62%
AKBIE |RACST2| 7 600
RAC874| 7 ,600
RAC876 | 7 600
[ RAC880| 7: ,600
[ RAC882[ 7 600
RAC88: 7 ,700 62%
AR () =55 S8 (AN3E) % | RACB15 | 7' 8.900 45%
5% RAC81 7 8.900 45%
SRR (IRER) =EEKRE | h#8 (IE) % [ RACSS3 | 7 0.000 63%
ESN-EA RAC85: 7 0.000 63%
SRR (R =5 3E | haB(NER) % | RACT21 | 7 7.400 48%
5 ARE RAC72: 7 7.400 48%

RAC



TS5 RBIEER(A10~13BAEES)

SER#EAE - 2019/10/01 ~

1/10
FH [OLSE

=] Ea | BAM &

B | mam

RAE) -EE B (FRE) & | RACT05| 7 800
EiEH RAC708] 7 .900

iR (RER) =T i (ARFR) % | RAC801 | 7 .800
=ER RAC804 | 7 600

RE-EH =mH [ RAC833| 7 .800
RAC837] 7 .800

RiEH | RAC834]| 7 .800

RAC838| 7 .800

BB =AKE h#8 (ARER) % [ RACET1] 7 600
RAC873| 7 800

RAC875 | 7 800

RAC879| 7 800

[RACSB81 | 7 800

RAC883| 7 600

AKBEF RAC872 ]| 7! .800

RAC874] 7 800

RAC876 | 7 800

| RAC880| 7 800

[ RACB82 | 7 800

RAC884 | 7 600

BB =53 S (FRER) ¢ | RACB15] 7 .100
CEY RACB16] 7 9.100

PERE) =EEKRE | 94 (IRE) 5 [ RACSS3 | 7 4,400
WEXBF | RACSS4| 7 4400

SRR (BB =5BE shiB (ARER) % | RACT21] 7 7.400
5MESE | RACI24]| 7 7.400

RAC



TN RFIEER(QA4~1TBERESD)

SER#EAE - 2019/10/01 ~
2/4 2/9
FH TSR TR TIFSFE
4] B2 | AW @ @ @
B | aam R
PR (BB =F1E 34 (%) 5 | RACTO5 | 7 000 | 6.
EiEH RAC708] 7 .000 |6
iR (RER) =T SR (FRER) $& | RACBO1 | 7 500 [ ¢ [ 6
=ER RAC804 | 7 .300 s
E-EH =mH [ RAC833| 7 .800 [ o [ o
RAC837] 7 .800 I I
EiE5 | RACS34| 7 800 [ [
RAC838| 7 .800 o [
BB =AKE h#8 (ARER) % [ RACET1] 7 .700 | 5.
RAC873| 7 600 [ 5. | 5.
RAC875 | 7 600 I I
RAC879| 7 600 | |
[RACSB81 | 7 600 | 5. |
RAC883| 7 .700 [ 5.
ARBR RAC872 | 7! .600 I
RAC874] 7 600 I I
RAC876 | 7 600 I I
| RAC880| 7 600 I I
[RAC882 | 7 600
RAC884 | 7 .700 I
BB =53 S (FRER) ¢ | RACB15] 7 .900
CEY RACB16] 7 8.900 .
PERE) =EEKRE | 94 (IRE) 5 [ RACSS3 | 7 0,000 14,400
TEAEH | RAC8S4 | 7! 0,000 14,400
R (AR ER) =5 BE shiB (ARER) % | RACT21] 7 7.400 17.400
EXEES RAC724] 7 7.400 17,400

RAC



TS BIEER(CA21~24BHBES)

SER#EAE - 2019/10/01 ~

2/21
FH [OLSE

=] Ea | BAM &

B | aam

RAE) -EE S4B (ARER) % | RACT05] 7 7.000
EiEH RAC708] 7 .000

iR (RER) =T i (ARFR) % | RAC801 | 7 .800
=ER RAC804 | 7 600

RE-EH =mH [ RAC833| 7 .800
RAC837] 7 .800

RiEH | RAC834]| 7 .800

RAC838| 7 .800

BB =AKE B (ARER) % [ RACST1] 7 .000
RAC873| 7 .900

RAC875 | 7 .900

RAC879| 7 .900

[RACSB81 | 7 .900

RAC883| 7 .000

AKBEF RAC872 ]| 7! .00

RAC874] 7 .900

RAC876 | 7 .900

| RAC880| 7 .900

[ RACB82 | 7 .900

RAC884 | 7 .000

BB =53 S (FRER) ¢ | RACB15] 7 .100
CEY RACB16] 7 100

PERE) =EEKRE | 94 (IRE) 5 [ RACSS3 | 7 0,000
WEXBF | RACSS4| 7 4400

SRR (BB =5BE shiB (ARER) % | RACT21] 7 7.400
5MESE | RACI24]| 7 7.400

RAC



LSRG IERER(SAI~5BERD)

SER#EAE - 2019/10/01 ~
3/1-5
=M @z |mon SIESER
3 hE

PR (BB =RiE S4B GIRER) % | RACT705 | 7 300

niEH RAC708 | 7 ,200

(BB =-Eh Sh&B (IRER) % | RACS01 | 7 7.300

EESE RAC804 | 7 700
RiE-EY BT RAC833 [ 7
RACB37| 7
RER RAC834] 7
RAC838 | 7
PR =A XS B (ARER) % [ RAC8T1] 7
RAC87. 7
RAC875] 7
RAC87! 7
| RAC881| 7
RAC883 | 7
AxEHE | RAC872| 7
RAC874| 7
RAC876 | 7
[ RAC880| 7:
| RAC882| 7
RAC884 | 7
AR () =55 S (FRER) % | RAC815 [ 7
5% RAC816 | 7!
SRR (IRER) =EEKRE | h#8 (IE) % [ RACSS3 | 7
| XKE% | RACSS4| 7
SRR (R =5 3E | haB(NER) % | RACT21 | 7
SMER RAC724 ]| 7!

RAC



TMILNS%FIEERBA~1TAEBESD)

EF#EAR - 2019/10/01 ~

3/6-11
] sz |mam ISR
B amam |70 e
R (IR =R1E 34 (ABHE) % | RACT705| 7 6.700 76% | %:7.000
HiEs RAC708 [ 7 6.700 76% | £:7.000
SR (B =B S (FRER) % | RAC801 | 7 7.200 66% + H:7.500
EE R RAC804 | 7 500 69% | #:6.900, & H:6.700
EE-EE EER RAC833| 7 800
RAC83 7 ,800
RIER RAC834] 7 800
RAC838 | 7 .800 3
SRR (BB =AKE B (ARER) % [ RAC8T1] 7 .300 59 :5.600
RAC87. 7 100 53% :6.400
RAC875| 7 100 53% :6.400
RAC87! 7 100 53% :6.400
[ RACS81 | 7 100 53% :6.400
RAC88: 7 300 59% :5,600
AkB% | RAC872]| 7 100 53% :6.400
RAC874| 7 100 53% :6.400
RAC876 | 7 100 53% :6.400
[ RAC880| 7: 100 53% :6.400
[ RAC882[ 7 100 53% :6.400
RAC88: 7 300 59% :5,600
AR () =55 S4B (AR HR) 2 | RAC 7 .900 49% :9.100
RAC 7 ,900 49% 09,100
RAC 7 .900 49% :9.100
RAC815| 7 ,900 49% 09,100
RAC 7 .900 49% :9.100
EX ¥ RAC 7 ,900 49% 09,100
RAC 7 .900 49% :9.100
RAC 7 ,900 49% 09,100
RAC816 | 7 .900 49% :9.100
RAC820 | 7 ,900 49% 09,100
SRR (IRER) =EEKRE | 948 (IE) % [ RACSS3 | 7 4.200 49% :14.400
FEEKEH | RACS54] 7 4.200 49% 1 H:14.400
SRR (R =53E | haB(NER) % | RACT21 | 7 7.400 50%
5 ARE RAC72: 7 7.400 50%




TS5 RBEERGBA12~18AEES)

SER#EAE - 2019/10/01 ~
3/12-18
XA 23 sg)ag TS EF
B amam |70 %
R (IR =R1E 34 (ABHE) % | RACT705| 7 6.900 75% | A:6.700. & £:7.100
niEH RAC708 | 7 7.100 74% §:6.900, A:6,700
SR (B =B S (FRER) % | RAC801 | 7 7.700 64% [AK:7.500. £+ H:8.000
EEHE RAC804 | 7! .700 69% | A 7:6.500.
EE-EE EER RAC833| 7 .800
RAC83 7 ,800
RIER RAC834] 7 800
RAC838 | 7 .800
SRR (BB =AKE B (ARER) % [ RAC8T1] 7 .600 X :5.900
RAC87. 7 .300 X :6.600
RAC875] 7 300 & :6.600
RAC87! 7 .300 X .600
| RAC881| 7 300 & 600
RAC88: 7 ,600 X :5,.900
AkB% | RAC872]| 7 .300 & :6.600
RAC874| 7 .300 X :6.600
RAC876 | 7 .300 & :6.600
[ RAC880| 7: .300 X :6.600
| RAC882| 7 300 X 600
RAC88: 7 600 X .900
AR () =55 S8 (AN3E) % | RACB15 | 7' .100 30 K ,300
5% RAC81 7 .100 30% ,300
PR (IR -EERE | ShHB () 5 | RACS53 | 7 .000 32% 9,300
ESN-EA RAC85: 7 ,000 32% N4 9.300
SRR (R =5 3E | haB(NER) % | RACT21 | 7 .900 49% | A:17.400
5 ARE RAC72: 7 7.900 49% :17.400

RAC



TS5 RBEER(3A23~28ARES)

SER#EAE - 2019/10/01 ~
3/23-28
XF B2 B:)\ﬁiﬁ IIESEE
B amam |70 %
R (IR =R1E 34 (ABHE) % | RACT705| 7 6.900 75% £.7.100
RiEHE RAC708 | 7 7.100 74% 900
SR (B =B S (FRER) % | RAC801 | 7 7.700 64% £1:8.000
EEHE RAC804 | 7! 6.700 69% | A:6.500, % +:6.900
RiE-EY BT RAC833 [ 7 600 25%
RAC83 7 ,600 25%
GiE% RAC834] 7 600 | 25%
RAC838 | 7 600 | 25%
PR =A XS S (BRR) % | RAC8T1] 7 .600 57
RAC87. 7 .300 b
RAC875] 7 .300
RAC87! 7 .300
| RAC881| 7 .300
RAC8S: 7 ,600
AkB% | RAC872]| 7 .300
RAC874| 7 .300
RAC876 | 7 .300
[ RAC880| 7: .300
| RAC882| 7 .300
RACB88: 7 600
AR () =55 S8 (AN3E) % | RACB15 | 7' 100 30
5% RAC816 | 7! ,100 30%
SRR (IRER) =EEKRE | h#8 (IE) % [ RACSS3 | 7 .000 32%
ESN-EA RAC85: 7 ,000 32%
SRR (R =5 3E | haB(NER) % | RACT21 | 7 .900 49%
5 ARE RAC72: 7 7.900 49%

RAC



TS5 RBIEERCA19~22BEES)

SER#EAE - 2019/10/01 ~

3/19
F# [OLS%E

=] Ea | BAM &

B | aam

iR (RER)=R1E S4B (ARER) % | RACT05] 7 8,300
GiE% RAC708] 7 7.100

iR (RER) =T i (ARFR) % | RAC801 | 7 .000
=ER RAC804 | 7 .000

E-EH =mH [ RAC833| 7 .800
RAC837] 7 .800

RiEH | RAC834]| 7 .800

RAC838| 7 .800

BB =AKE B (ARER) % [ RACST1] 7 .200
RAC873| 7 800

RAC875 | 7 7.800

RAC879| 7 7.800

[ RACB81| 7 7.800

RAC883| 7 6.200

ARBR RAC872 | 7 7.800

RAC874] 7 7.800

RAC876 | 7 7.800

| RAC880| 7 7.800

[ RACB82 | 7 7.800

RAC884 | 7 6.200

BB =53 S (FRER) ¢ | RACB15] 7 ,300
CEY RACB16] 7 300

PERE) =EEKRE | 94 (IRE) 5 [ RACSS3 | 7 .300
BEARBR | RACS54] 7 300

R (AR ER) =5 BE shiB (ARER) % | RACT21] 7 .900
EIMESR | RACT24] 7 7.900

RAC



